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Family Strengths Variable Codebook
CONTEXTUAL VARIABLES

Marital Characteristics

Family Structure

· Family structure in 1997 (Round 1)
· Frequencies:
· 2386 (71.95%) of adolescents lived with their two, married, biological parents
· 596 (17.97%) of adolescents lived with one biological parent and one step parent
· 34 (1.03%) of adolescents lived with adoptive parents
· 251 (7.57%) of adolescents lived with one single biological parent and one adoptive parent
· 49 (1.48%) of adolescents lived in an other family type
· 0 missing cases
· SAS code:
value famstrc 

 
1 = '1: 2 bio parents'
 
2 = '2: One bio parent, one step'
 
3 = '3: Adoptive parent(s)'
 
4 = '4: One single bio parent and adoptive parent'

5 = '5: Other family type';

/*FAM STRUCTURE*/
array famstruc_(7)R1205300 R2563600 R3885200 R5464400 R7228100 S1542000 S2011800;

array famstrucnew(7)fmstrc97 fmstrc98 fmstrc99 FMSTRC00 FMSTRC01 FMSTRC02 FMSTRC03;

 do a= 1 to 7;

      if famstruc_(a) LT 0 THEN famstrucnew(a) = .;

      if famstruc_(a) = 1 THEN famstrucnew(a) = 1; /*2 bio parents*/
      if famstruc_(a) in (2,3) THEN famstrucnew(a) = 2; /*One bio parent, one step*/
      if famstruc_(a) = 6 THEN famstrucnew(a) = 3; /*Adoptive parent(s)*/

  if famstruc_(a) in (4,5) THEN famstrucnew(a) = 4; /*One single bio parent*/

  if famstruc_(a) GE 7 THEN famstrucnew(a) = 5; /*Other family type*/
end;

label FMSTRC97 = 'Family Structure youth report -- 1997';

format fmstrc97 famstrc.;
Length of Marriage
· Length of the adolescent’s parents’ marriage in 1997 (Round 1)
· Frequencies:
· 1117 (33.69%) of parents were married were married 0 to 9 years at time of Round 1 interview
· 1393 (42.01%) of parents were married 10 to 19 years at time of Round 1 interview
· 731 (22.04%) of parents were married 20 to 29 years at time of Round 1 interview
· 75 (2.26%) of parents were married 30 plus years at time of Round 1 interview
· 0 missing cases
· SAS code:
/*time in most recent marriage, number of marriages*/
M2=R1210601; /* mth of parent int*/
Y2=R1210602; /*yr of parent int*/
/*6 marriages from 1 to 6*/
array years (6)R0566101 R0566201 R0566301 R0566401 R0566501 R0566601;

count=0;

do i=1 to 6;

if  years(i)>0 then y1=years(i);

if years(i) ne .B then count=count+1;

end;

yrsmarr=Y2-y1;

Rpmarr97=yrsmarr;

if R0566101=.B and R0566201=.B and R0566301=.B
and R0566401=.B and R0566501=.B and R0566601=.B then Rpmarr97=-4;

Pmarnum97=count;

if Rpmarr97=-4 then Pmarnum97=0;

label Rpmarr97="Resp parent yrs in current marriage 1997";

label Pmarnum97="Resp parent number of marriages 1997";
/***************RECODE LENGTH OF MARRIAGE******************/;

if rpmarr97 lt 10 then marlngth = 1;

if rpmarr97 ge 10 and rpmarr97 lt 20 then marlngth = 2;

if rpmarr97 ge 20 and rpmarr97 lt 30 then marlngth = 3;

if rpmarr97 ge 30 then marlngth = 4;

label marlngth = 'length of parents marriage';

%dummy (marlngth, mar0_9 mar10_19 mar20_29 mar30plu);

Marital Disruption
· Indicates whether or not adolescents lived in a family that experience a marital disruption between 1997 and 1999 (Rounds 1 through 3)
· Frequencies:
· 2681 (80.85%) of the sample did not experience a marital disruption
· 486 (14.66%) of the sample did experience a marital disruption
· 149 missing cases
· SAS code:
/*FAM STRUCTURE*/
array famstruc_(7)R1205300 R2563600 R3885200 R5464400 R7228100 S1542000 S2011800;

array famstrucnew(7)fmstrc97 fmstrc98 fmstrc99 FMSTRC00 FMSTRC01 FMSTRC02 FMSTRC03;

 do a= 1 to 7;

      if famstruc_(a) LT 0 THEN famstrucnew(a) = .;

      if famstruc_(a) = 1 THEN famstrucnew(a) = 1; /*2 bio parents*/
      if famstruc_(a) in (2,3) THEN famstrucnew(a) = 2; /*One bio parent, one step*/
      if famstruc_(a) = 6 THEN famstrucnew(a) = 3; /*Adoptive parent(s)*/

  if famstruc_(a) in (4,5) THEN famstrucnew(a) = 4; /*One single bio parent*/

  if famstruc_(a) GE 7 THEN famstrucnew(a) = 5; /*Other family type*/
end;

label FMSTRC97 = 'Family Structure youth report -- 1997';

format fmstrc97 famstrc.;

label FMSTRC98  = 'Family Structure youth report -- 1998';

format fmstrc98 famstrc.;

label FMSTRC99 = 'Family Structure youth report -- 1999';

format fmstrc99 famstrc.;

label FMSTRC00 = 'Family Structure youth report -- 2000';

format fmstrc00 famstrc.;
/****disruption over first 3 rounds*****/
disrup9799=.;

if fmstrc97=fmstrc98=fmstrc99 then disrup9799=0;

else if fmstrc97=fmstrc99=fmstrc00 and fmstrc98=. then disrup9799=0;

else if fmstrc97=fmstrc98=fmstrc00 and fmstrc99=. then disrup9799=0;

else if fmstrc98=. and fmstrc99=. and fmstrc00=. then disrup9799=.;

else if fmstrc97=fmstrc99 and fmstrc98=. then disrup9799=0;

else if fmstrc97=fmstrc00 and fmstrc98=. and fmstrc99=. then disrup9799=0;

else if fmstrc97 ne fmstrc00 and fmstrc98=. and fmstrc99=. then disrup9799=.;

else if fmstrc97=fmstrc98 and fmstrc99=. and fmstrc00=. then disrup9799=.;

else if fmstrc97=fmstrc98 and fmstrc99=. and fmstrc00 ne fmstrc97 then disrup9799=.;

else if fmstrc97 ne fmstrc98 or fmstrc98 ne fmstrc99 or fmstrc97 ne fmstrc99 then disrup9799=1;

Family Characteristics

Family income

· Families’ income to poverty ratio was assessed.
· Frequencies:
· 315 (9.50%) families had an income to poverty ratio of less than 100%
· 457 (13.78%) of families had an income to poverty ratio between 100% and 199%
· 934 (28.17%) of families had an income to poverty ratio between 200% and 399%
· 656 (19.78%) of families had an income to poverty ratio above 400%
· 954 missing cases
· SAS code:
proc format library=library;   
value pov4cat


1 = '1: <100% pov level'

2 = '2: 100-200% pov level'

3 = '3: 200-400% pov level'

4 = '4: >400% pov level';

/***************ratio of household income to poverty level R1204900  ***************************/
poverty=.;

if 0 <= R1204900 < 100 then poverty = 1;

if 100 <= R1204900 < 200 then poverty = 2;

if 200 <= R1204900 < 400 then poverty = 3;

if 400 <= R1204900 then poverty = 4;

if R1204900 < 0  then poverty = .;        

label poverty = 'hh poverty level, missing = .';

format poverty pov4cat.;

povlt100=0;

if poverty=1 then povlt100=1;

if poverty ne 1 then povlt100=0;

label povlt100 = 'hh poverty level <100%';

povlt200=0;

if poverty=2 then povlt200=1;

if poverty ne 2 then povlt200=0;

label povlt200 = 'hh poverty level 100% 199%';

povlt400=0;

if poverty=3 then povlt400=1;

if poverty ne 3 then povlt400=0;

label povlt400 = 'hh poverty level 200% 399%';

povgt400=0;

if poverty=4 then povgt400=1;

if poverty ne 4 then povgt400=0;

label povgt400 = 'hh poverty level 400+ %';

povmiss=0;

if poverty=. then povmiss=1;

if poverty ne . then povmiss=0;

label povmiss = 'hh poverty level missing';

Number of siblings

· The respondents’ number of siblings was counted in 1997.
· Distribution:
· Skewed to the right
· Number of siblings ranged from 0 to 13.
· 0 missing cases
· Mean = 1.64
· Standard deviation = 1.23 
· SAS code:
/*numsibsparentage*/
array rely (17) R1315800

R1315900

R1316000

 R1316100

 R1316200

 R1316300

 R1316400

 R1316500

 R1316600

 R1316700

 R1316800

 R1316900

 R1317000

 R1317100

 R1317200

 R1317300

 R1317400;

 numsibs=0;

 do k=1 to 17;

 /*add in all half and full siblings*/
if rely(k) in (13 14 15 16 17 18 19 20) then numsibs=numsibs+1;

label numsibs="number of siblings of resp 1997"
Biological mother’s age at respondent’s birth.

· *** NOTE:  Need parent.dat file for this data.

· Distribution:
· Approximately normal distribution
· Age ranged from 10 to 54
· 199 missing cases
· Mean = 26.35
· Standard deviation = 5.29
· Categories and frequencies:
· 286 (8.62%) of mothers were less than 20 years old at the time of the respondent’s birth
· 2004 (60.43%) of mothers were 20 to 29 years old at the time of the respondent’s birth
· 792 (23.88%) of mothers were 30 to 39 years old at the time of the respondent’s birth
· 35 (1.06%) of mothers were 40 years old or above at the time of the respondent’s birth
· SAS code:  
*creating base parent variables;
data parent97_base;

infile "&datafolder\parent.dat" lrecl=22 missover DSD DLM=' ';

input
  pubid        

  RPgovtaid97    

  RPhealth97     

  RPShealth97    

  BioMomage    

  citizenship97

  ;

label BioMomage     = "Biological Mother's Age When R Was Born 1997";
Parental employment in 1997
· Three categories:  Neither parent employed, one parent employed, both parents employed
· Frequencies:
· 93 (2.80%) respondents reported that neither of their parents was employed.
· 801 (24.16%) of respondents reported that one of their parents was employed.
· 1940 (58.50%) of respondents reported that both their parents were employed.
· 482 missing cases
· SAS code:  
/*************************Parent employment***********************/
array empl (10) R1089800 R1089900 R1090000 R1090100

R1090200 R1090300 R1090400 R1090500 R1090600 R1090700;

momemp=.;stmomemp=.;dademp=.;stdademp=.;

do k=1 to 10;

if R0533600 eq k then momemp=empl(k);

if R0536000 eq k then stmomemp=empl(k);

if R0532300 eq k then dademp=empl(k);

if R0535900 eq k then stdademp=empl(k);

end;

momemp97=.; dademp97=.;

if momemp>=0 then momemp97=momemp;

else if stmomemp>=0 then momemp97=stmomemp;

if dademp>=0 then dademp97=dademp;

else if stdademp>=0 then dademp97=stdademp;

%macro plug(var,miss,meanmode,oldlabel,oldformat);

if &miss < 5 then do; 


if &var =  . then p_&var = &meanmode; 


else p_&var = &var; 

end; 

else if &miss >= 5 then do; 


if &var =  . then do; 



p_&var = &meanmode; 



miss_&var = 1; 


end; 


else do; 



p_&var = &var; 



miss_&var = 2; 


end; 

label miss_&var = "MISSING &oldlabel"; 

end; 

label p_&var = "&oldlabel (M PLUGGED)"; 

format p_&var &oldformat;

%mend; 

Highest parental education level

· This indicates the highest level of parent education between both of the parents.
· Four categories:  Less than high school, high school graduate, some college, and college or more.
· Frequencies:
· 614 (18.52%) respondents reported that the highest level of education between both parents was no education through 11th grade of high school.
· 921 (27.77%) respondents reported that the highest level of education between both parents was graduation from high school.
· 818 (24.67%) respondents reported that the highest level of education between both parents was some college.
· 963 (29.04%) respondents reported that the highest level of education between both parents was graduation from college.
· SAS code:
proc format library=library;   /*Formats*/
value edulvl


1= '1: Zero through 11th grade of High school'

2= '2: Graduated from HS'

3= '3: Some college'

4= '4: College degree or higher';
/*DUMMY MACRO*/
%macro dummy(oldvar, newdums);

array dum_&oldvar(*) &newdums;

do i=1 to dim(dum_&oldvar);

if &oldvar=i then do;

dum_&oldvar(i)=1;

end;

else if &oldvar ne . then dum_&oldvar(i)=0;

end;

%mend;
/******* Resident Parent Education Levels *************/
respared = .;

respared = max(resmomed, resdaded);

label respared = 'Highest resident parent education between both (missing = .)';

format respared edulvl.;

%dummy (respared, lesshs hsgrad somecoll collgrad);  
Parental involvement in school

· The following scale was used:  0=Never, 1=Sometimes, 2=Often
· Respondents were asked the frequency with which a parent or step parent engaged in the following:
1. Attended a PTA/PTO meeting

2. Volunteered to help in the classroom
· Values for the answers to the two questions were summed to create a composite score.  The possible score range is 0 to 4.
· Distribution:
· Approximately normal
· 607 missing cases
· Mean = 1.84
· Standard deviation = 1.21
· SAS code:
/****parent involvement in school reverse coded****/
ptar=.;

if R0674000<0 then ptar=.;

else ptar=(4-R0674000);

label ptar="PR/SP ATTEND MEETING PTA/PTO? 1997";

classvolr=.;

if R0674100<0 then classvolr=.;

else classvolr=(4-R0674100);

label classvolr="PR/SP VOLUNTEER HELP CLASSROOM? 1997";

parinvolvr=ptar + classvolr - 2;

label parinvolvr='2-Item Parent Involvement Index’;
Adolescent Characteristics

Adolescent age

· Adolescent age in 1997
· Distribution:
· Range from 12 to 14
· 0 missing cases
· Mean = 13.12
· Standard deviation = .79
· Frequencies:
· 851 (25.66%) respondents were 12 years old in 1997.
· 1203 (36.28%) respondents were 13 years old in 1997.
· 1262 (38.06%) respondents were 14 years old in 1997.
· SAS code:
proc format library=library;   /*Formats*/
value age


0 -<12 = 'Under 12'

12 = '12'

13 = '13'

14 = '14'

15 = '15'

16 = '16'

17 = '17'

18 = '18'

18 - HIGH= '19 or older';

/**********age***********/
y_age= R0536600;

label y_age='age of youth respondent';

format y_age age.;
Adolescent gender

· *** NOTE:  demo_cv.dat file needed for this code.
· Adolescent gender:  Male = 0, Female = 1
· Frequencies:
· 1736 (52.35%) respondents were male.
· 1580 (47.65%) respondents were female.
· SAS code:
infile "&datafolder\demo_cv.dat" lrecl=68 missover DSD DLM=' ';

input
  pubid   

  grade97 

  sex97   

  age97   

  region97

  urban97 

  raceth97

  grade98 

  age98   

  grade99 

  age99   

  grade00 

  age00   

  grade01 

  age01   

  grade02 

  age02   

  age03   

  grade03 

  age04   

  grade04;
label sex97    = "Gender 1997";

Adolescent race/ethnicity

· *** NOTE:  demo_cv.dat file needed for this code.
· Adolescent race/ethnicity; four categories:  1 = Hispanic, 2 = Non-Hispanic Black, 3 = Non-Black Non-Hispanic, 4 = Mixed Race.  
· Frequencies:
· 714 (21.53%) of respondents were Hispanic
· 590 (17.79%) of respondents were Non-Hispanic Black
· 1981 (59.74%) of respondents were Non-Black Non-Hispanic
· 31 (0.93%) of respondents were mixed race
· SAS code:
proc format library=library;   /*Formats*/
value racethnicity


1 = '1: Hispanic'

2 = '2: Non-Hispanic Black'

3 = '3: Non-Black Non-Hispanic'

4 = '4: Mixed race';

infile "&datafolder\demo_cv.dat" lrecl=68 missover DSD DLM=' ';

input
  pubid   

  grade97 

  sex97   

  age97   

  region97

  urban97 

  raceth97

  grade98 

  age98   

  grade99 

  age99   

  grade00 

  age00   

  grade01 

  age01   

  grade02 

  age02   

  age03   

  grade03 

  age04   

  grade04 

  ;

label raceth97 = "Ethnicity 1997";

if raceth97 not in (-5,-4,.C,.D,.E,.) then raceth97=raceth97+1; 

if raceth97=3 then raceth97=1;

if raceth97=5 then raceth97=3;

format raceth97 racethnicity.;

Adolescent lies or cheat

· Combined adolescent and parent report of adolescent’s lying and cheating.
· Three categories:  0 = Not true, 1 = Sometimes true, 2 = Often true
· Frequencies:
· 1709 (51.54%) said “not true.”
· 1483 (44.72%) said “sometimes true.”
· 117 (3.53%) said “often true.”
· 7 missing cases
· SAS code:
/***********lies or cheats************/
proc format library=library;   /*Formats*/

value chea


0 = "0: Not true"

1 = "1: Sometimes true"

2 = "2: Often true";

cheat=R0356500;

if cheat<0 then cheat=R0357100;

if cheat<0 then cheat=R0690500;

if cheat<0 then cheat=R0691000;

if cheat<0 then cheat=.;

label cheat = 'parent and youth report of youth cheating or lying';

format cheat chea.;

Adolescent has a disability

· *** NOTE:  The following dat file is needed for this code:  disability.dat.
· Indicates whether or not adolescent had a disability at age 16.
· Frequencies:
· 118 (3.56%) respondents reported that they did not have a disability.
· 586 (17.67%) respondents reported that they did have a disability.
· 2612 missing cases – likely non-disabled (valid skips)
· SAS code:
proc format library=library;   /*Formats*/

value severity


0 = '0: Not disabled'

1 = '1: Mild (Does not limit)'

2 = '2: Moderate (Limits a little'

3 = '3: Severe (Limits a lot';

run;

*creating temporary disability age variables (genetic, deformity, chronic);
data agedisab;

infile "G:\Parenting and Family Dynamics\Family Strengths - ASPE\Data\disability.dat" lrecl=72 missover DSD DLM=' ';

input
  PubID 

  GeneticDum 

  GeneticAge1 

  GeneticAge2 

  GeneticAge3 

  GeneticAge4 

  GeneticAge5 

  SensoryDum 

  DeformityDum 

  DeformityAge1

  DeformityAge2

  DeformityAge3

  DeformityAge4

  ChronicDum  

  ChronicAge1 

  ChronicAge2 

  ChronicAge3 

  ChronicAge4 

  ChronicAge5 

  ChronicAge6 

  ChronicAge7 

  ChronicAge8 

  ChronicAge9 

  ;

array chrrlst pubid -- chronicAge9;

do over chrrlst;

  if chrrlst = -5 then chrrlst = .A;

  if chrrlst = -5 then chrrlst = .B;

  if chrrlst = -5 then chrrlst = .C;

  if chrrlst = -4 then chrrlst = .D;

  if chrrlst = -4 then chrrlst = .E;

  if chrrlst = -4 then chrrlst = .F;

  if chrrlst = -3 then chrrlst = .G;

  if chrrlst = -3 then chrrlst = .H;

  if chrrlst = -2 then chrrlst = .I;

  if chrrlst = -1 then chrrlst = .J;

  end;

label PubID = "PUBID - YTH ID CODE 1997";

label GeneticDum = "R EVER HAVE MENTAL/EMOTIONAL PROB 2002";

label GeneticAge1 = "HOW OLD WHEN CONDITION 1ST NOTICE L1 2002";

label GeneticAge2 = "HOW OLD WHEN CONDITION 1ST NOTICE L2 2002";

label GeneticAge3 = "HOW OLD WHEN CONDITION 1ST NOTICE L3 2002";

label GeneticAge4 = "HOW OLD WHEN CONDITION 1ST NOTICE L4 2002";

label GeneticAge5 = "HOW OLD WHEN CONDITION 1ST NOTICE L5 2002";

label SensoryDum = "R HAVE PROB SEE/HEAR/SPEAK 2002";

label DeformityDum = "R HAVE DEFORMED/MISSING BODY PART 2002";

label DeformityAge1 = "HOW OLD WHEN PHYS COND NOTICED L1 2002";

label DeformityAge2 = "HOW OLD WHEN PHYS COND NOTICED L2 2002";

label DeformityAge3 = "HOW OLD WHEN PHYS COND NOTICED L3 2002";

label DeformityAge4 = "HOW OLD WHEN PHYS COND NOTICED L4 2002";

label ChronicDum = "R DIAGNOSE OTH HEALTH COND 2002";

label ChronicAge1 = "R HOW OLD WHEN CHRONIC COND DIAG L1 2002";

label ChronicAge2 = "R HOW OLD WHEN CHRONIC COND DIAG L2 2002";

label ChronicAge3 = "R HOW OLD WHEN CHRONIC COND DIAG L3 2002";

label ChronicAge4 = "R HOW OLD WHEN CHRONIC COND DIAG L4 2002";

label ChronicAge5 = "R HOW OLD WHEN CHRONIC COND DIAG L5 2002";

label ChronicAge6 = "R HOW OLD WHEN CHRONIC COND DIAG L6 2002";

label ChronicAge7 = "R HOW OLD WHEN CHRONIC COND DIAG L7 2002";

label ChronicAge8 = "R HOW OLD WHEN CHRONIC COND DIAG L8 2002";

label ChronicAge9 = "R HOW OLD WHEN CHRONIC COND DIAG L9 2002";

if pubid = . then R0000100 = .;

if pubid ne . then R0000100 = pubid; 

proc sort; 

by R0000100;

run;

*creating temporary disability age varialbe (sensory);
data sensory;

infile "G:\Parenting and Family Dynamics\Family Strengths - ASPE\Data\sensory.dat" lrecl=27 missover DSD DLM=' ';

input 

  senscondage1 

  senscondage2 

  senscondage3 

  senscondage4 

  senscondage5 

  senscondage6 

  senscondage7 

  pubid

  ;

array chrrlst senscondage1 -- pubid;

do over chrrlst;

  if chrrlst = -5 then chrrlst = .A;

  if chrrlst = -5 then chrrlst = .B;

  if chrrlst = -5 then chrrlst = .C;

  if chrrlst = -4 then chrrlst = .D;

  if chrrlst = -4 then chrrlst = .E;

  if chrrlst = -4 then chrrlst = .F;

  if chrrlst = -3 then chrrlst = .G;

  if chrrlst = -3 then chrrlst = .H;

  if chrrlst = -2 then chrrlst = .I;

  if chrrlst = -1 then chrrlst = .J;

  end;

label senscondage1 = "AGE WHEN SENSORY COND NOTICED L1 2002";

label senscondage2 = "AGE WHEN SENSORY COND NOTICED L2 2002";

label senscondage3 = "AGE WHEN SENSORY COND NOTICED L3 2002";

label senscondage4 = "AGE WHEN SENSORY COND NOTICED L4 2002";

label senscondage5 = "AGE WHEN SENSORY COND NOTICED L5 2002";

label senscondage6= "AGE WHEN SENSORY COND NOTICED L6 2002";

label senscondage7 = "AGE WHEN SENSORY COND NOTICED L7 2002";

label pubid= "PUBID (SYMBOL) 2002";

if pubid = . then R0000100 = .;

if pubid ne . then R0000100 = pubid; 

proc sort; 

by R0000100;

run;

*creating temporary disability limiting varialbes;
data agedisabII;

infile "G:\Parenting and Family Dynamics\Family Strengths - ASPE\Data\disabilityII.dat" lrecl=81 missover DSD DLM=' ';

input
  pubid

  GeneticLimit1

  GeneticLimit2

  GeneticLimit3

  GeneticLimit4

  GeneticLimit5

  SensoryLimit1

  SensoryLimit2

  SensoryLimit3

  SensoryLimit4

  SensoryLimit5

  SensoryLimit6

  SensoryLimit7

  DeformityLimit1

  DeformityLimit2

  DeformityLimit3

  DeformityLimit4

  ChronicLimit1

  ChronicLimit2

  ChronicLimit3

  ChronicLimit4

  ChronicLimit5

  ChronicLimit6 

  ChronicLimit7

  ChronicLimit8

  ChronicLimit9 

  ;

array chrrlst pubid -- ChronicLimit9;

do over chrrlst;

  if chrrlst = -5 then chrrlst = .A;

  if chrrlst = -5 then chrrlst = .B;

  if chrrlst = -5 then chrrlst = .C;

  if chrrlst = -4 then chrrlst = .D;

  if chrrlst = -4 then chrrlst = .E;

  if chrrlst = -4 then chrrlst = .F;

  if chrrlst = -3 then chrrlst = .G;

  if chrrlst = -3 then chrrlst = .H;

  if chrrlst = -2 then chrrlst = .I;

  if chrrlst = -1 then chrrlst = .J;

  end;

label pubid = "PUBID - YTH ID CODE 1997";

label GeneticLimit1 = "DOES CONDITION LIMIT ACTIVITIES L1 2002";

label GeneticLimit2 = "DOES CONDITION LIMIT ACTIVITIES L2 2002";

label GeneticLimit3 = "DOES CONDITION LIMIT ACTIVITIES L3 2002";

label GeneticLimit4 = "DOES CONDITION LIMIT ACTIVITIES L4 2002";

label GeneticLimit5 = "DOES CONDITION LIMIT ACTIVITIES L5 2002";

label SensoryLimit1 = "DOES SENSORY COND LIMIT ACTIVITY L1 2002";

label SensoryLimit2 = "DOES SENSORY COND LIMIT ACTIVITY L2 2002";

label SensoryLimit3 = "DOES SENSORY COND LIMIT ACTIVITY L3 2002";

label SensoryLimit4 = "DOES SENSORY COND LIMIT ACTIVITY L4 2002";

label SensoryLimit5 = "DOES SENSORY COND LIMIT ACTIVITY L5 2002";

label SensoryLimit6 = "DOES SENSORY COND LIMIT ACTIVITY L6 2002";

label SensoryLimit7 = "DOES SENSORY COND LIMIT ACTIVITY L7 2002";

label DeformityLimit1 = "DOES PHYS COND LIMIT ACTIVITIES L1 2002";

label DeformityLimit2 = "DOES PHYS COND LIMIT ACTIVITIES L2 2002";

label DeformityLimit3 = "DOES PHYS COND LIMIT ACTIVITIES L3 2002";

label DeformityLimit4 = "DOES PHYS COND LIMIT ACTIVITIES L4 2002";

label ChronicLimit1 = "DOES CHRONIC COND LIMIT ACTIVITY L1 2002";

label ChronicLimit2 = "DOES CHRONIC COND LIMIT ACTIVITY L2 2002";

label ChronicLimit3 = "DOES CHRONIC COND LIMIT ACTIVITY L3 2002";

label ChronicLimit4 = "DOES CHRONIC COND LIMIT ACTIVITY L4 2002";

label ChronicLimit5 = "DOES CHRONIC COND LIMIT ACTIVITY L5 2002";

label ChronicLimit6 = "DOES CHRONIC COND LIMIT ACTIVITY L6 2002";

label ChronicLimit7= "DOES CHRONIC COND LIMIT ACTIVITY L7 2002";

label ChronicLimit8= "DOES CHRONIC COND LIMIT ACTIVITY L8 2002";

label ChronicLimit9= "DOES CHRONIC COND LIMIT ACTIVITY L9 2002";

if pubid = . then R0000100 = .;

if pubid ne . then R0000100 = pubid; 

proc sort; 

by R0000100;

run;

/**creating base disability variables;

data disability_base;

  merge agedisab sensory agedisabii;

  by pubid;

run;*/

*creating analytical disability age variables;
array disabled(25) 

  GeneticAge1 

  GeneticAge2 

  GeneticAge3 

  GeneticAge4 

  GeneticAge5 

  DeformityAge1

  DeformityAge2

  DeformityAge3

  DeformityAge4

  ChronicAge1 

  ChronicAge2 

  ChronicAge3 

  ChronicAge4 

  ChronicAge5 

  ChronicAge6 

  ChronicAge7 

  ChronicAge8 

  ChronicAge9 

  senscondage1

  senscondage2

  senscondage3

  senscondage4

  senscondage5

  senscondage6

  senscondage7;

array Disable16Dum (25); 

array Disable20Dum (25);

Do i =1 to 25; 

  if disabled(i)>20 then do;

    Disable16Dum(i)=0;


Disable20Dum(i)=0;

  end;

  else if disabled(i)>16 then do;

    Disable16Dum(i)=0;


Disable20Dum(i)=1;

  end;

  else if disabled(i)>=0 then do;

    Disable16Dum(i)=1;


Disable20Dum(i)=1;

  end;

  else do;

    Disable16Dum(i)=disabled(i);


Disable20Dum(i)=disabled(i);

  end;

end;

if Disable16Dum(1)=1 or Disable16Dum(2)=1 or Disable16Dum(3)=1 or Disable16Dum(4)=1 or Disable16Dum(5)=1 or 

  Disable16Dum(6)=1 or Disable16Dum(7)=1 or Disable16Dum(8)=1 or Disable16Dum(9)=1 or Disable16Dum(10)=1 or 

  Disable16Dum(11)=1 or Disable16Dum(12)=1 or Disable16Dum(13)=1 or Disable16Dum(14)=1 or Disable16Dum(15)=1 or 

  Disable16Dum(16)=1 or Disable16Dum(17)=1 or Disable16Dum(18)=1 or Disable16Dum(19)=1 or Disable16Dum(20)=1 or 

  Disable16Dum(21)=1 or Disable16Dum(22)=1 or Disable16Dum(23)=1 or Disable16Dum(24)=1 or Disable16Dum(25)=1
  then Disable16=1;

else if Disable16Dum(1)=0 or Disable16Dum(2)=0 or Disable16Dum(3)=0 or Disable16Dum(4)=0 or Disable16Dum(5)=0 or 

  Disable16Dum(6)=0 or Disable16Dum(7)=0 or Disable16Dum(8)=0 or Disable16Dum(9)=0 or Disable16Dum(10)=0 or 

  Disable16Dum(11)=0 or Disable16Dum(12)=0 or Disable16Dum(13)=0 or Disable16Dum(14)=0 or Disable16Dum(15)=0 or 

  Disable16Dum(16)=0 or Disable16Dum(17)=0 or Disable16Dum(18)=0 or Disable16Dum(19)=0 or Disable16Dum(20)=0 or 

  Disable16Dum(21)=0 or Disable16Dum(22)=0 or Disable16Dum(23)=0 or Disable16Dum(24)=0 or Disable16Dum(25)=0
  then Disable16=0; 

else if Disable16Dum(1) in (.C, .D, .E,.) or Disable16Dum(2) in (.C, .D, .E,.) or Disable16Dum(3) in (.C, .D, .E,.) or Disable16Dum(4) in (.C, .D, .E,.) or Disable16Dum(5) in (.C, .D, .E,.) or 

  Disable16Dum(6) in (.C, .D, .E,.) or Disable16Dum(7) in (.C, .D, .E,.) or Disable16Dum(8) in (.C, .D, .E,.) or Disable16Dum(9) in (.C, .D, .E,.) or Disable16Dum(10) in (.C, .D, .E,.) or 

  Disable16Dum(11) in (.C, .D, .E,.) or Disable16Dum(12) in (.C, .D, .E,.) or Disable16Dum(13) in (.C, .D, .E,.) or Disable16Dum(14) in (.C, .D, .E,.) or Disable16Dum(15) in (.C, .D, .E,.) or 

  Disable16Dum(16) in (.C, .D, .E,.) or Disable16Dum(17) in (.C, .D, .E,.) or Disable16Dum(18) in (.C, .D, .E,.) or Disable16Dum(19) in (.C, .D, .E,.) or Disable16Dum(20) in (.C, .D, .E,.) or 

  Disable16Dum(21) in (.C, .D, .E,.) or Disable16Dum(22) in (.C, .D, .E,.) or Disable16Dum(23) in (.C, .D, .E,.) or Disable16Dum(24) in (.C, .D, .E,.) or Disable16Dum(25) in (.C, .D, .E,.)

  then Disable16='.';

else if Disable16Dum(1)=-5 then Disable16=-5;

else Disable16=-4;

if Disable20Dum(1)=1 or Disable20Dum(2)=1 or Disable20Dum(3)=1 or Disable20Dum(4)=1 or Disable20Dum(5)=1 or 

  Disable20Dum(6)=1 or Disable20Dum(7)=1 or Disable20Dum(8)=1 or Disable20Dum(9)=1 or Disable20Dum(10)=1 or 

  Disable20Dum(11)=1 or Disable20Dum(12)=1 or Disable20Dum(13)=1 or Disable20Dum(14)=1 or Disable20Dum(15)=1 or 

  Disable20Dum(16)=1 or Disable20Dum(17)=1 or Disable20Dum(18)=1 or Disable20Dum(19)=1 or Disable20Dum(20)=1 or 

  Disable20Dum(21)=1 or Disable20Dum(22)=1 or Disable20Dum(23)=1 or Disable20Dum(24)=1 or Disable20Dum(25)=1
  then Disable20=1;

else if Disable20Dum(1)=0 or Disable20Dum(2)=0 or Disable20Dum(3)=0 or Disable20Dum(4)=0 or Disable20Dum(5)=0 or 

  Disable20Dum(6)=0 or Disable20Dum(7)=0 or Disable20Dum(8)=0 or Disable20Dum(9)=0 or Disable20Dum(10)=0 or 

  Disable20Dum(11)=0 or Disable20Dum(12)=0 or Disable20Dum(13)=0 or Disable20Dum(14)=0 or Disable20Dum(15)=0 or 

  Disable20Dum(16)=0 or Disable20Dum(17)=0 or Disable20Dum(18)=0 or Disable20Dum(19)=0 or Disable20Dum(20)=0 or 

  Disable20Dum(21)=0 or Disable20Dum(22)=0 or Disable20Dum(23)=0 or Disable20Dum(24)=0 or Disable20Dum(25)=0
  then Disable20=0; 

else if Disable20Dum(1) in (.C, .D, .E,.) or Disable20Dum(2) in (.C, .D, .E,.) or Disable20Dum(3) in (.C, .D, .E,.) or Disable20Dum(4) in (.C, .D, .E,.) or Disable20Dum(5) in (.C, .D, .E,.) or 

  Disable20Dum(6) in (.C, .D, .E,.) or Disable20Dum(7) in (.C, .D, .E,.) or Disable20Dum(8) in (.C, .D, .E,.) or Disable20Dum(9) in (.C, .D, .E,.) or Disable20Dum(10) in (.C, .D, .E,.) or 

  Disable20Dum(11) in (.C, .D, .E,.) or Disable20Dum(12) in (.C, .D, .E,.) or Disable20Dum(13) in (.C, .D, .E,.) or Disable20Dum(14) in (.C, .D, .E,.) or Disable20Dum(15) in (.C, .D, .E,.) or 

  Disable20Dum(16) in (.C, .D, .E,.) or Disable20Dum(17) in (.C, .D, .E,.) or Disable20Dum(18) in (.C, .D, .E,.) or Disable20Dum(19) in (.C, .D, .E,.) or Disable20Dum(20) in (.C, .D, .E,.) or 

  Disable20Dum(21) in (.C, .D, .E,.) or Disable20Dum(22) in (.C, .D, .E,.) or Disable20Dum(23) in (.C, .D, .E,.) or Disable20Dum(24) in (.C, .D, .E,.) or Disable20Dum(25) in (.C, .D, .E,.)

  then Disable20='.';

else if Disable20Dum(1)=-5 then Disable20=-5;

else Disable20=-4;

array disabseverity20(25) 

  GeneticLimit1

  GeneticLimit2

  GeneticLimit3

  GeneticLimit4

  GeneticLimit5

  SensoryLimit1

  SensoryLimit2

  SensoryLimit3

  SensoryLimit4

  SensoryLimit5

  SensoryLimit6

  SensoryLimit7

  DeformityLimit1

  DeformityLimit2

  DeformityLimit3

  DeformityLimit4

  ChronicLimit1

  ChronicLimit2

  ChronicLimit3

  ChronicLimit4

  ChronicLimit5

  ChronicLimit6

  ChronicLimit7

  ChronicLimit8

  ChronicLimit9 

  ;

array disabledage(25)  

  GeneticAge1 

  GeneticAge2 

  GeneticAge3 

  GeneticAge4 

  GeneticAge5 

  senscondage1

  senscondage2

  senscondage3

  senscondage4

  senscondage5

  senscondage6

  senscondage7

  DeformityAge1

  DeformityAge2

  DeformityAge3

  DeformityAge4

  ChronicAge1

  ChronicAge2

  ChronicAge3

  ChronicAge4  

  ChronicAge5  

  ChronicAge6  

  ChronicAge7  

  ChronicAge8  

  ChronicAge9  

;

array disabsev1dum(25);  

if disable20=1 then 

do i=1 to 25; 

  if disabledage(i)=-5 then disabsev1dum(i)=-5;

  else if disabledage(i)=-4 then disabsev1dum(i)=-4;

  else if disabledage(i)<=20 then do; 

    if disabseverity20(i)=2 then disabsev1dum(i)=3; 


else if disabseverity20(i)=1 then disabsev1dum(i)=2;


else if disabseverity20(i)=0 then disabsev1dum(i)=1;


else disabsev1dum(i)=disabseverity20(i);

  end;

end;

if disabsev1dum(1)=3 or disabsev1dum(2)=3 or disabsev1dum(3)=3 or disabsev1dum(4)=3 or disabsev1dum(5)=3 or 

  disabsev1dum(6)=3 or disabsev1dum(7)=3 or disabsev1dum(8)=3 or disabsev1dum(9)=3 or disabsev1dum(10)=3 or 

  disabsev1dum(11)=3 or disabsev1dum(12)=3 or disabsev1dum(13)=3 or disabsev1dum(14)=3 or disabsev1dum(15)=3 or 

  disabsev1dum(16)=3 or disabsev1dum(17)=3 or disabsev1dum(18)=3 or disabsev1dum(19)=3 or disabsev1dum(20)=3 or 

  disabsev1dum(21)=3 or disabsev1dum(22)=3 or disabsev1dum(23)=3 or disabsev1dum(24)=3 or disabsev1dum(25)=3 

  then sevdisableby20=3;

else if disabsev1dum(1)=2 or disabsev1dum(2)=2 or disabsev1dum(3)=2 or disabsev1dum(4)=2 or disabsev1dum(5)=2 or 

  disabsev1dum(6)=2 or disabsev1dum(7)=2 or disabsev1dum(8)=2 or disabsev1dum(9)=2 or disabsev1dum(10)=2 or 

  disabsev1dum(11)=2 or disabsev1dum(12)=2 or disabsev1dum(13)=2 or disabsev1dum(14)=2 or disabsev1dum(15)=2 or 

  disabsev1dum(16)=2 or disabsev1dum(17)=2 or disabsev1dum(18)=2 or disabsev1dum(19)=2 or disabsev1dum(20)=2 or 

  disabsev1dum(21)=2 or disabsev1dum(22)=2 or disabsev1dum(23)=2 or disabsev1dum(24)=2 or disabsev1dum(25)=2 

  then sevdisableby20=2;

else if disabsev1dum(1)=1 or disabsev1dum(2)=1 or disabsev1dum(3)=1 or disabsev1dum(4)=1 or disabsev1dum(5)=1 or 

  disabsev1dum(6)=1 or disabsev1dum(7)=1 or disabsev1dum(8)=1 or disabsev1dum(9)=1 or disabsev1dum(10)=1 or 

  disabsev1dum(11)=1 or disabsev1dum(12)=1 or disabsev1dum(13)=1 or disabsev1dum(14)=1 or disabsev1dum(15)=1 or 

  disabsev1dum(16)=1 or disabsev1dum(17)=1 or disabsev1dum(18)=1 or disabsev1dum(19)=1 or disabsev1dum(20)=1 or 

  disabsev1dum(21)=1 or disabsev1dum(22)=1 or disabsev1dum(23)=1 or disabsev1dum(24)=1 or disabsev1dum(25)=1 

  then sevdisableby20=1; 

else if disabsev1dum(1) in (.C, .D, .E,.) or disabsev1dum(2) in (.C, .D, .E,.) or disabsev1dum(3) in (.C, .D, .E,.) 

  or disabsev1dum(4) in (.C, .D, .E,.) or disabsev1dum(5) in (.C, .D, .E,.) or 

  disabsev1dum(6) in (.C, .D, .E,.) or disabsev1dum(7) in (.C, .D, .E,.) or 

  disabsev1dum(8) in (.C, .D, .E,.) or disabsev1dum(9) in (.C, .D, .E,.) or 

  disabsev1dum(10) in (.C, .D, .E,.) or 

  disabsev1dum(11) in (.C, .D, .E,.) or disabsev1dum(12) in (.C, .D, .E,.) or disabsev1dum(13) in (.C, .D, .E,.) 

  or disabsev1dum(14) in (.C, .D, .E,.) or disabsev1dum(15) in (.C, .D, .E,.) or 

  disabsev1dum(16) in (.C, .D, .E,.) or disabsev1dum(17) in (.C, .D, .E,.) or disabsev1dum(18) in (.C, .D, .E,.) 

  or disabsev1dum(19) in (.C, .D, .E,.) or disabsev1dum(20) in (.C, .D, .E,.) or 

  disabsev1dum(21) in (.C, .D, .E,.) or disabsev1dum(22) in (.C, .D, .E,.) or disabsev1dum(23) in (.C, .D, .E,.)

  or disabsev1dum(24) in (.C, .D, .E,.)  or disabsev1dum(25) in (.C, .D, .E,.) 

  then sevdisableby20='.';

else sevdisableby20=-4;

if disable20=0 then sevdisableby20=0;

else if disable20=-5 then sevdisableby20=-5;

else if disable20=-4 then sevdisableby20=-4;

else if disable20='.' then sevdisableby20='.';

array disabsev3dum(25);  

if disable16=1 then 

do i=1 to 25; 

  if disabledage(i)=-5 then disabsev3dum(i)=-5;

  else if disabledage(i)=-4 then disabsev3dum(i)=-4;

  else if disabledage(i)<=16 then do;


if disabseverity20(i)=2 then disabsev3dum(i)=3; 


else if disabseverity20(i)=1 then disabsev3dum(i)=2;


else if disabseverity20(i)=0 then disabsev3dum(i)=1;


else disabsev3dum(i)=disabseverity20(i);

  end;

end;

if disabsev3dum(1)=3 or disabsev3dum(2)=3 or disabsev3dum(3)=3 or disabsev3dum(4)=3 or disabsev3dum(5)=3 or 

  disabsev3dum(6)=3 or disabsev3dum(7)=3 or disabsev3dum(8)=3 or disabsev3dum(9)=3 or disabsev3dum(10)=3 or 

  disabsev3dum(11)=3 or disabsev3dum(12)=3 or disabsev3dum(13)=3 or disabsev3dum(14)=3 or disabsev3dum(15)=3 or 

  disabsev3dum(16)=3 or disabsev3dum(17)=3 or disabsev3dum(18)=3 or disabsev3dum(19)=3 or disabsev3dum(20)=3 or 

  disabsev3dum(21)=3 or disabsev3dum(22)=3 or disabsev3dum(23)=3 or disabsev3dum(24)=3 or disabsev3dum(25)=3 

  then sevdisableby16=3;

else if disabsev3dum(1)=2 or disabsev3dum(2)=2 or disabsev3dum(3)=2 or disabsev3dum(4)=2 or disabsev3dum(5)=2 or 

  disabsev3dum(6)=2 or disabsev3dum(7)=2 or disabsev3dum(8)=2 or disabsev3dum(9)=2 or disabsev3dum(10)=2 or 

  disabsev3dum(11)=2 or disabsev3dum(12)=2 or disabsev3dum(13)=2 or disabsev3dum(14)=2 or disabsev3dum(15)=2 or 

  disabsev3dum(16)=2 or disabsev3dum(17)=2 or disabsev3dum(18)=2 or disabsev3dum(19)=2 or disabsev3dum(20)=2 or 

  disabsev3dum(21)=2 or disabsev3dum(22)=2 or disabsev3dum(23)=2 or disabsev3dum(24)=2 or disabsev3dum(25)=2 

  then sevdisableby16=2;

else if disabsev3dum(1)=1 or disabsev3dum(2)=1 or disabsev3dum(3)=1 or disabsev3dum(4)=1 or disabsev3dum(5)=1 or 

  disabsev3dum(6)=1 or disabsev3dum(7)=1 or disabsev3dum(8)=1 or disabsev3dum(9)=1 or disabsev3dum(10)=1 or 

  disabsev3dum(11)=1 or disabsev3dum(12)=1 or disabsev3dum(13)=1 or disabsev3dum(14)=1 or disabsev3dum(15)=1 or 

  disabsev3dum(16)=1 or disabsev3dum(17)=1 or disabsev3dum(18)=1 or disabsev3dum(19)=1 or disabsev3dum(20)=1 or 

  disabsev3dum(21)=1 or disabsev3dum(22)=1 or disabsev3dum(23)=1 or disabsev3dum(24)=1 or disabsev3dum(25)=1 

  then sevdisableby16=1; 

else if disabsev3dum(1) in (.C, .D, .E,.) or disabsev3dum(2) in (.C, .D, .E,.) or disabsev3dum(3) in (.C, .D, .E,.) 

  or disabsev3dum(4) in (.C, .D, .E,.) or disabsev3dum(5) in (.C, .D, .E,.) or 

  disabsev3dum(6) in (.C, .D, .E,.) or disabsev3dum(7) in (.C, .D, .E,.) or 

  disabsev3dum(8) in (.C, .D, .E,.) or disabsev3dum(9) in (.C, .D, .E,.) or 

  disabsev3dum(10) in (.C, .D, .E,.) or 

  disabsev3dum(11) in (.C, .D, .E,.) or disabsev3dum(12) in (.C, .D, .E,.) or disabsev3dum(13) in (.C, .D, .E,.) 

  or disabsev3dum(14) in (.C, .D, .E,.) or disabsev3dum(15) in (.C, .D, .E,.) or 

  disabsev3dum(16) in (.C, .D, .E,.) or disabsev3dum(17) in (.C, .D, .E,.) or disabsev3dum(18) in (.C, .D, .E,.) 

  or disabsev3dum(19) in (.C, .D, .E,.) or disabsev3dum(20) in (.C, .D, .E,.) or 

  disabsev3dum(21) in (.C, .D, .E,.) or disabsev3dum(22) in (.C, .D, .E,.) or disabsev3dum(23) in (.C, .D, .E,.)

  or disabsev3dum(24) in (.C, .D, .E,.)  or disabsev3dum(25) in (.C, .D, .E,.) 

  then sevdisableby16='.';

else sevdisableby16=-4;

if disable16=0 then sevdisableby16=0;

else if disable16=-5 then sevdisableby16=-5;

else if disable16=-4 then sevdisableby16=-4;

else if disable16='.' then sevdisableby16='.';

label disable16="R Disabled Before or At Age 16";

label disable20="R Disabled Before or At Age 20";

label sevdisableby16="Severity of R's Disability Condition Before or At Age 16";

format sevdisableby16 severity.;

label sevdisableby20="Severity of R's Disability Condition Before or At Age 20";

format sevdisableby20 severity.;

Peer Characteristics

Positive peer behavior index

· Rating the percentage of peers that display positive behavior.

· Regular church attendance, participation in sports, clubs, or other activities, planning to go to college, and volunteer activity are considered positive behavior.

· These variables were combined into an index that rates the percentage of peers engaged in positive behavior.

· Frequencies:

· 42 (1.27%) respondents were missing on this variable.

· 30 (0.9%) respondents had almost none of their peers engage in positive behavior.

· 403 (12.15%) respondents had about 25% of their peers engage in positive behavior..

· 1572 (47.41%) respondents had about 50% of their peers engage in positive behavior...

· 1118 (33.72%) respondents had about 75% of their peers engage in positive behavior...

· 151 (4.55%) respondents had almost all of their peers engage in positive behavior..

SAS Code:  peerpos

proc format library=library;   /*Formats*/
value peer


1 = "1: Almost none (less than 10%)"

2 = "2: About 25%"

3 = "3: About half (50%)"

4 = "4: About 75%"

5 = "5: Almost all (more than 90%)";
run;

/****peer characteristics: positive behaviors****/
church=.;

if R0070300<0 then church=.;

else church=R0070300;

label church = "% PEERS GO TO CHURCH REGULARLY 1997";

format church peer.;

sports=.;

if R0070600<0 then sports=.;

else sports=R0070600;

label sports = "% PEERS SPORTS, CLUBS, SCH ACTS 1997";

format sports peer.;

college=.;

if R0070800<0 then college=.;

else college=R0070800;

label college = "% PEERS PLAN TO GO TO COLL 1997";

format college peer.;

volunteer=.;

if R0070900<0 then volunteer=.;

else volunteer=R0070900;

label volunteer = "% PEERS VOLUNTEER 1997";

format volunteer peer.;

%let positive = church, sports, college, volunteer;


If nmiss(&positive) le 1 then pospeer= (sum (&positive)*4)/(4-(nmiss(&positive)));


Label pospeer = '4-Item Positive Peer Index Without Dividing By 4';

peerpos= Round (pospeer/4);

label peerpos='4-Item Positive Peer Index 1=Almost none 2=About 25% 3=About 50% 4=About 75% 5=Almost all';

format peerpos peer.;
Negative peer behavior index

· Rating the percentage of peers that display negative behavior.

· Belonging to a gang, cutting class, and having sex are considered negative behavior.

· These variables were combined into an index that rates the percentage of peers engaged in negative behavior.

· Frequencies: (peerneg2)

· 70 (2.11%) respondents were missing on this variable.

· 1275 (38.45%) respondents had almost none of their peers engage in negative behavior.

· 1272 (38.36%) respondents had about 25% of their peers engage in negative behavior.

· 515 (15.53%) respondents had about 50% of their peers engage in negative behavior.

· 140 (4.22%) respondents had about 75% of their peers engage in negative behavior.

· 44 (1.33%) respondents had almost all of their peers engage in negative behavior.

SAS Code:  peerneg2, peernegsub 

proc format library=library;   /*Formats*/
value peer


1 = "1: Almost none (less than 10%)"

2 = "2: About 25%"

3 = "3: About half (50%)"

4 = "4: About 75%"

5 = "5: Almost all (more than 90%)";
run;

/****peer characteristics: negative****/
gangs=.;

if R0070700<0 then gangs=.;

else gangs=R0070700;

label gangs = "% PEERS BELONG TO GANG 1997";

format gangs peer.;

cutclass=.;

if R0071100<0 then cutclass=.;

else cutclass=R0071100;

label cutclass = "% PEERS CUT CLASS/SCH 1997";

format cutclass peer.;

hadsex=.;

if R0071300<0 then hadsex=.;

else hadsex=R0071300;

label hadsex = "% PEERS HAD SEX 1997";

format hadsex peer.;

peerneg=Round((gangs+cutclass+hadsex)/3);

label peerneg='3-Item Negative Peer Index 1=Almost none 2=About 25% 3=About 50% 4=About 75% 5=Almost all';

format peerneg peer.;

/****taking sex out of negative peer index****/
peerneg2=Round((gangs+cutclass)/2);

label peerneg2='2-Item Negative Peer Index (without sex)';

format peerneg2 peer.;

/****combining negative peer characteristics and peer substance use scales****/
%let negsub = gangs, cutclass, smoke, drunk, drugs;


If nmiss(&negsub) le 1 then negsubscl= (sum (&negsub)*5)/(5-(nmiss(&negsub)));


Label negsubscl = '5-Item Negative Peer Index Without Dividing By 5';

peernegsub= Round (negsubscl/5);

label peernegsub='5-Item Negative Peer Index 1=Almost none 2=About 25% 3=About 50% 4=About 75% 5=Almost all';

format peernegsub peer.;

Environment Characteristics

Region

· Region of residence in the United States

· Frequencies:

· 581 (16.52%) respondents lived in the northeastern United States.

· 774 (23.34%) respondents lived in the north central United States.

· 1165 (35.13%) respondents lived in the southern United States.

· 796 (24%) respondents lived in the western United States.

· SAS Code:  region97, Northeast, NCentral, South, West
Region97 is a NORC variable

proc format library=library;   /*Formats*/
value region


1 = '1:  Northeast'

2 = '2:  North Central'

3 = '3:  South'

4 = '4:  West';

run;

%macro dummy(oldvar, newdums);

array dum_&oldvar(*) &newdums;

do i=1 to dim(dum_&oldvar);

if &oldvar=i then do;

dum_&oldvar(i)=1;

end;

else if &oldvar ne . then dum_&oldvar(i)=0;

end;

%mend;
%dummy (region97, Northeast NCentral South West);

Urban residence 

· Area of residence in the United States

· Frequencies:

· 809 (24.4%) respondents did not live in urban areas.

· 2507 (75.60%) respondents lived in urban areas.

SAS Code:  urban97c



NORC VARIABLE
proc format library=library;   /*Formats*/
value urban


0 = '0: rural'

1 = '1: urban';

run;

if urban97 = 0 then urban97c = 0;

if urban97 = 1 then urban97c = 1;

if urban97 = 2 then urban97c = 1;

label urban97c  = "Urban Residence 1997";

format urban97c urban.;
Physical Environment Risk Index

· Rating the risk of the environment of the responding child from 0 to 700, higher scores indicating a higher risk environment.  The scores were divided by 100.

· Distribution:

· Skewed to the right

· 555 missing cases

· Mean = 1.05
· Standard deviation = 1.23
· Frequencies:

· 555 (16.74%) respondents were missing.

· 1248 (37.64%) respondents had a risk level of 0.

· 618 (18.64%) respondents had a risk level of 1.00.

· 30 (0.9%) respondents had a risk level of 1.25.

· 496 (14.96%) respondents had a risk level of 2.00.

· 18 (0.54%) respondents had a risk level of 2.50.

· 226 (6.82%) respondents had a risk level of 3.00.

· 3 (0.09%) respondents had a risk level of 3.75.

· 80 (2.41%) respondents had a risk level of 4.00. 

· 35 (1.06%) respondents had a risk level of 5.00.

· 5 (0.15%) respondents had a risk level of 6.00.

· 2 (0.06%) respondents had a risk level of 7.00.

SAS Code:  phyenv

/***************RECODE PHYSICAL ENVIRONMENT******************/;

phyenv = .;

if R1487100 lt 0 then phyenv = 0;

if R1487100 ge 0 then phyenv = R1487100/100;

label phyenv = 'physical environment risk index 1997';

Marital Quality and Parent Youth Relationship Profiles

Marital Quality and Parent Youth Relationships combination

· Rating the quality of relationships between each parent and responding youth.

· A relationship index was created from responses to questions about criticizing ideas, blaming problems, cancelling plans, praising ideas, helping with important matters, knowing close friends and friends’ parents, and knowing the whereabouts of the child.
· Rating the quality of relationship between mother and father.

· A relationship index was created from responses to questions about interactions with spouses including compromising, screaming, expressing love and affection, insulting or criticizing, encouraging important matters, and blaming problems.

/**************FAMILY PROCESS VARIABLES--- PARENT-CHILD RELATIONSHIP YOUTH REPORT *********************/
/***** 1997 8-ITEM SCALE FOR MOTHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

Mother Youth Relationship
/*reverse code*/
R032480R = 4-R0324800;

R032500R = 4-R0325000;

R032510R = 4-R0325100;

label R032480R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED97';

label R032500R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED97';

label R032510R ='MOM CANCELS PLANS, REVERSE-CODED97';

Array supt697{8} R0324700 R032480R R0324900 R032500R R032510R R0324400 R0324500 R0324600;

/*remove missings*/
mis8supt97=0;

    do a= 1 to 8;

      if supt697{a}=. then mis8supt97=mis8supt97+1;

    end;

       if mis8supt97 le 2 then do;

        YMREL97 = sum (R0324700, R032480R, R0324900, R032500R, R032510R, R0324400,

                         R0324500, R0324600)*(8/(8-mis8supt97));

        end;

ym897miss=.;

if YMREL97 =. then ym897miss = 1;

else ym897miss= 0;

label ym897miss= 'Missing for 8-Item M-Y 97 Rel Scale';

label YMREL97 ='8-Item Mom-Y Relationship Scale 1997';

/*relationship scale - >24 positive, <24 not positive*/
YMPOSREL97 = .;

if YMREL97 ge 24 then YMPOSREL97 = 1;

if YMREL97 ge 0 and YMREL97 lt 24 then YMPOSREL97 = 0;

label YMPOSREL97 = '1997 Y has positive relationship w/Mom (GE 24 on 8-item Scale)';

/*********1997 7 item scale mother-youth relationship****/
/***********************************************/
/*reverse code*/
R032480R = 4-R0324800;

R032500R = 4-R0325000;

label R032480R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED97';

label R032500R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED97';

Array supt797{7} R0324700 R032480R R0324900 R032500R R0324400 R0324500 R0324600;

/*remove missings*/
mis7supt97=0;

    do a= 1 to 7;

      if supt797{a}=. then mis7supt97=mis7supt97+1;

    end;

       if mis7supt97 le 1 then do;

        YMREL797 = sum (R0324700, R032480R, R0324900, R032500R, R0324400,

                         R0324500, R0324600)*(7/(7-mis7supt97));

        end;

ym797miss=.;

if YMREL797 =. then ym797miss = 1;

else ym797miss= 0;

label ym797miss= 'Missing for 7-Item M-Y 97 Rel Scale';

label YMREL797 ='7-Item Mom-Y Relationship Scale 1997';

/*relationship scale - >21 positive, <21 not positive*/
POSYM97 = .;

if YMREL797 ge 21 then POSYM97 = 1;

if YMREL797 ge 0 and YMREL797 lt 21 then POSYM97 = 0;

label POSYM97 = '1997 Y has positive relationship w/Mom (GE 21 on 7-item Scale)';

/************** 1997 3-ITEM SCALE FOR MOTHER*********/
Array mom3_97{3} R0324400 R0324500 R0324600;

/*remove missings*/
missmom3_97=0;

    do a= 1 to 3;

      if mom3_97{a}=. then missmom3_97=missmom3_97+1;

    end;

       if missmom3_97 = 0 then do;

        ymomrel3_97 = sum (R0324400, R0324500, R0324600);

        end;

label ymomrel3_97= '1997 Y relationship w/Mom, 3 ITEM';

/***** 1998 8-ITEM SCALE FOR MOTHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

/*reverse code*/
R216580R = 4-R2165800;

R216600R = 4-R2166000;

R216610R = 4-R2166100;

label R216580R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED98';

label R216600R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED98';

label R216610R ='MOM CANCELS PLANS, REVERSE-CODED98';

Array supt698{8} R2165400 R216580R R2165500 R216600R R216610R R2165600 R2165700 R2165900;

/* remove missings*/
mis8supt98=0;

    do a= 1 to 8;

      if supt698{a}=. then mis8supt98=mis8supt98+1;

    end;

       if mis8supt98 le 2 then do;

        YMREL98 = sum (R2165400, R216580R, R2165500, R216600R, R216610R, 

                   R2165600, R2165700, R2165900)*(8/(8-mis8supt98));

        end;

label YMREL98  ='8-Item Mom-Y Relationship Scale 1998';

/*relationship scale >24>*/
YMPOSREL98 = .;

if YMREL98  ge 24 then YMPOSREL98 = 1;

if YMREL98  ge 0 and YMREL98  lt 24 then YMPOSREL98 = 0;

label YMPOSREL98 = '1998 Y has positive relationship w/Mom (GE 24 on 8-item Scale)';

/******************************/
/*****1998 7 item scale mother-youth relationship************/
/************************************************/
/*reverse code*/
R216580R = 4-R2165800;

R216600R = 4-R2166000;

label R216580R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED98';

label R216600R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED98';

Array supt798{7} R2165400 R216580R R2165500 R216600R R2165600 R2165700 R2165900;

/* remove missings*/
mis7supt98=0;

    do a= 1 to 7;

      if supt798{a}=. then mis7supt98=mis7supt98+1;

    end;

       if mis7supt98 le 1 then do;

        YMREL798 = sum (R2165400, R216580R, R2165500, R216600R,

                   R2165600, R2165700, R2165900)*(7/(7-mis7supt98));

        end;

label YMREL798  ='7-Item Mom-Y Relationship Scale 1998';

/*relationship scale >21>*/
POSYM98 = .;

if YMREL798  ge 21 then POSYM98 = 1;

if YMREL798  ge 0 and YMREL798  lt 21 then POSYM98 = 0;

label POSYM98 = '1998 Y has positive relationship w/Mom (GE 21 on 7-item Scale)';

/************** 1998 3-ITEM SCALE FOR MOTHER*********/
Array mom3_98{3} R2165400 R2165500 R2165600

;

/*remove missings*/
missmom3_98=0;

    do a= 1 to 3;

      if mom3_98{a}=. then missmom3_98=missmom3_98+1;

    end;

       if missmom3_98 = 0 then do;

        ymomrel3_98 = sum (R2165400, R2165500, R2165600);

        end;

label ymomrel3_98= '1998 Y relationship w/Mom, 3 ITEM';

/***** 1999 8-ITEM SCALE FOR MOTHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

/*reverse code*/
R348370R = 4-R3483700;

R348390R = 4-R3483900;

R348400R = 4-R3484000;

label R348370R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED99';

label R348390R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED99';

label R348400R ='MOM CANCELS PLANS, REVERSE-CODED99';

Array supt699{8} R348370R R348400R R348390R R3483800 R3483600 R3483300 R3483400 R3483500;

/*remove missings*/
mis8supt99=0;

    do a= 1 to 8;

      if supt699{a}=. then mis8supt99=mis8supt99+1;

    end;

       if mis8supt99 le 2 then do;

        YMREL99 = sum (R348370R, R348400R, R348390R, R3483800, R3483600, R3483300, R3483400,

                       R3483500)*(8/(8-mis8supt99));

        end;

label YMREL99 ='8-Item Mom-Y Relationship Scale 1999';

/* relationship scale >24>*/
YMPOSREL98 = .;

if YMREL99 ge 24 then YMPOSREL98 = 1;

if YMREL99 ge 0 and YMREL99 lt 24 then YMPOSREL98 = 0;

label YMPOSREL98 = '1999 Y has positive relationship w/Mom (GE 24 on 8-item Scale)';

/*********************************************/
/******1999 7 item scale mother-youth relationship************/
/************************************/
/*reverse code*/
R348370R = 4-R3483700;

R348390R = 4-R3483900;

label R348370R ='MOM CRITICIZES Y IDEAS, REVERSE-CODED99';

label R348390R ='MOM BLAMES Y FOR PROBL, REVERSE-CODED99';

Array supt799{7} R348370R R348390R R3483800 R3483600 R3483300 R3483400 R3483500;

/*remove missings*/
mis7supt99=0;

    do a= 1 to 7;

      if supt799{a}=. then mis7supt99=mis7supt99+1;

    end;

       if mis7supt99 le 1 then do;

        YMREL799 = sum (R348370R, R348390R, R3483800, R3483600, R3483300, R3483400,

                       R3483500)*(7/(7-mis7supt99));

        end;

label YMREL799 ='7-Item Mom-Y Relationship Scale 1999';

/* relationship scale >21>*/
POSYM99 = .;

if YMREL799 ge 21 then POSYM99 = 1;

if YMREL799 ge 0 and YMREL799 lt 21 then POSYM99 = 0;

label POSYM99 = '1999 Y has positive relationship w/Mom (GE 21 on 7-item Scale)';

/************** 1999 3-ITEM SCALE FOR MOTHER*********/
Array mom3_99{3} R3483300 R3483400 R3483500;

/*remove missings*/
missmom3_99=0;

    do a= 1 to 3;

      if mom3_99{a}=. then missmom3_99=missmom3_99+1;

    end;

       if missmom3_99 = 0 then do;

        ymomrel3_99 = sum (R3483300, R3483400, R3483500);

        end;

label ymomrel3_99= '1999 Y relationship w/Mom, 3 ITEM';

/*********Mother*********/
/*sum of continuous scale*/
SUMYMREL=.;

SUMYMREL=sum(of YMREL797 YMREL798  YMREL799);

label SUMYMREL = 'Sum of continuous scale from rounds 1-3 -- P-Y rel, mother';

/*Quartile of scale across 3 rounds*/
ymrel_QSUM=.;

IF SUMYMREL =. THEN ymrel_QSUM=.;

ELSE IF SUMYMREL LT 48 THEN ymrel_QSUM=1;

ELSE IF (SUMYMREL GE 48) AND (SUMYMREL LT 70) THEN ymrel_QSUM=2;

ELSE IF SUMYMREL GE 70 THEN ymrel_QSUM=3;

format ymrel_QSUM quart.;

LABEL ymrel_QSUM = 'Quartile of sum of cont scale (r1-3) -- P-Y rel, mother';

/*AVG of score across three rounds*/
ymrel_AVG=.;

ymrel_AVG=SUMYMREL/3;

label ymrel_AVG = 'Average of Y-mother rel (cont scale r1-3)';

/*SUM of positive relationship -- only includes cases with data at 2 time points or more*/
Array rel1{3} POSYM97 POSYM98 POSYM99;

ymrelmiss=0;

    do a= 1 to 3;

      if rel1{a}=. then ymrelmiss=ymrelmiss+1;


  end;

       if ymrelmiss LE 1 then do;


    MYPOSRELSUM  = sum (POSYM97,POSYM98,POSYM99)*(3/3-ymrelmiss);



end;


   else if ymrelmiss GT 1 then MYPOSRELSUM =.;

label MYPOSRELSUM = 'Sum of positive cut-off from rounds 1-3 -- P-Y rel, mother';

/*Mother*/
/*sum of continuous scale*/
SUMYMFREL=.;

SUMYMFREL=sum(of MMARQ97 MMARQ98 MMARQ99);

label SUMYMFREL = 'Sum of continuous scale from rounds 1-3 -- Parent rel (mother->father) --y rep';

/*proc univariate;

var SUMYMFREL;

run;*/
MFRELY_QSUM=.;

IF SUMYMFREL =. THEN MFRELY_QSUM=.;

ELSE IF SUMYMFREL LT 20 THEN MFRELY_QSUM=1;

ELSE IF (SUMYMFREL GE 20) AND (SUMYMFREL LT 57) THEN MFRELY_QSUM=2;

ELSE IF SUMYMFREL GE 57 THEN MFRELY_QSUM=3;

format MFRELY_QSUM quart.;

LABEL MFRELY_QSUM = 'Quartile of sum of cont scale (r1-3) -- Parent rel (mother->father) --y rep';

/*AVG of scale score across 3 rounds*/
MFRELY_AVG=.;

MFRELY_AVG=SUMYMFREL/3;

label MFRELY_AVG = 'Average of Parent rel (mother->father) --cont scale r1-3 y rep';

/*SUM of positive relationship -- only includes cases with data at 2 time points or more*/
Array mdrel1{3} POSMMQ97 POSMMQ98 POSMMQ99;

mfrelyrmiss=0;

    do a= 1 to 3;

      if mdrel1{a}=. then mfrelyrmiss=mfrelyrmiss+1;


  end;

       if mfrelyrmiss LE 1 then do;


    MMARPOSRELSUM  = sum (POSMMQ97,POSMMQ98,POSMMQ99)*(3/3-mfrelyrmiss);



end;


   else if mfrelyrmiss GT 1 then MMARPOSRELSUM =.;

label MMARPOSRELSUM  = 'Sum of positive cut-off from rounds 1-3 -- Mother-Father rel, youth report';

Father Youth Relationship

/***** 1997 8-ITEM SCALE FOR FATHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

/*reverse code*/
R032660R = 4-R0326600;

R032680R = 4-R0326800;

R032690R = 4-R0326900;

label R032660R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED97';

label R032680R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED97';

label R032690R ='DAD CANCELS PLANS, REVERSE-CODED97';

Array supt897{8} R0326500 R032660R R0326700 R032680R R032690R R0326200 R0326300 R0326400;

/*remove missings*/
mis8fathy97=0;

    do a= 1 to 8;

      if supt897{a}=. then mis8fathy97=mis8fathy97+1;

    end;

       if mis8fathy97 le 2 then do;

        YDREL97 = sum (R0326500, R032660R, R0326700, R032680R, R032690R, R0326200,

                         R0326300, R0326400)*(8/(8-mis8fathy97));

        end;

/*relationship scale >24>*/
yf897miss=.;

if YDREL97 =. then yf897miss = 1;

else yf897miss = 0;

label yf897miss = 'Missing for 8-Item D-Y 97 Rel Scale';

YDPOSREL97 = .;

if YDREL97 ge 24 then YDPOSREL97 = 1;

if YDREL97 ge 0 and YDREL97 lt 24 then YDPOSREL97 = 0;

label YDPOSREL97 = '1997 Y has positive relationship w/Dad (GE 24 on 8-item Scale)';

/*********1997 7 item scale father-youth relationship************/
/*reverse code*/
R032660R = 4-R0326600;

R032680R = 4-R0326800;

label R032660R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED97';

label R032680R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED97';

Array suptf797{7} R0326500 R032660R R0326700 R032680R R0326200 R0326300 R0326400;

/*remove missings*/
mis7fathy97=0;

    do a= 1 to 7;

      if suptf797{a}=. then mis7fathy97=mis7fathy97+1;

    end;

       if mis7fathy97 le 1 then do;

        YDREL797 = sum (R0326500, R032660R, R0326700, R032680R, R0326200,

                         R0326300, R0326400)*(7/(7-mis7fathy97));

        end;

/*relationship scale >21>*/
yf797miss=.;

if YDREL797 =. then yf797miss = 1;

else yf797miss = 0;

label yf797miss = 'Missing for 7-Item D-Y 97 Rel Scale';

POSYD97 = .;

if YDREL797 ge 21 then POSYD97 = 1;

if YDREL797 ge 0 and YDREL797 lt 21 then POSYD97 = 0;

label POSYD97 = '1997 Y has positive relationship w/Dad (GE 21 on 7-item Scale)';

/************** 1997 3-ITEM SCALE FOR FATHER*********/
Array dad3_97{3} R0326200 R0326300 R0326400;

/*remove missings*/
missdad3_97=0;

    do a= 1 to 3;

      if dad3_97{a}=. then missdad3_97=missdad3_97+1;

    end;

       if missdad3_97 = 0 then do;

        ydadrel3_97 = sum (R0326200, R0326300, R0326400);

        end;

label  ydadrel3_97 = '1997 Y relationship w/Dad -- 3 ITEM';

/***** 1998 8-ITEM SCALE FOR FATHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

/*reverse code*/
R216740R = 4-R2167400;

R216760R = 4-R2167600;

R216770R = 4-R2167700;

label R216740R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED98';

label R216760R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED98';

label R216770R ='DAD CANCELS PLANS, REVERSE-CODED98';

Array supt898{8} R216740R R216760R R216770R R2167300  R2167500 R2167000 R2167100  R2167200 ;

/*remove missings*/
mis8fathy98=0;

    do a= 1 to 8;

      if supt898{a}=. then mis8fathy98=mis8fathy98+1;

    end;

       if mis8fathy98 le 2 then do;

        YDREL98 = sum (R216740R, R216760R, R216770R, R2167300, R2167500, R2167000, R2167100,

                       R2167200)*(8/(8-mis8fathy98));

        end;

label YDREL98 ='8-Item Dad-Y Relationship Scale 1998';

/* relationship scale >24>*/
YDPOSREL98 = .;

if YDREL98 ge 24 then YDPOSREL98 = 1;

if YDREL98 ge 0 and YDREL98 lt 24 then YDPOSREL98 = 0;

label YDPOSREL98 = '1998 Y has positive relationship w/Dad (GE 24 on 8-item Scale)';

/**********1998 7 item scale father-youth relationship************/
/*reverse code*/
R216740R = 4-R2167400;

R216760R = 4-R2167600;

label R216740R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED98';

label R216760R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED98';

Array suptf798{7} R216740R R216760R R2167300  R2167500 R2167000 R2167100  R2167200 ;

/*remove missings*/
mis7fathy98=0;

    do a= 1 to 7;

      if suptf798{a}=. then mis7fathy98=mis7fathy98+1;

    end;

       if mis7fathy98 le 1 then do;

        YDREL798 = sum (R216740R, R216760R, R2167300, R2167500, R2167000, R2167100,

                       R2167200)*(7/(7-mis7fathy98));

        end;

label YDREL798 ='7-Item Dad-Y Relationship Scale 1998';

/* relationship scale >21>*/
POSYD98 = .;

if YDREL798 ge 21 then POSYD98 = 1;

if YDREL798 ge 0 and YDREL798 lt 21 then YDPOSREL98 = 0;

label POSYD98 = '1998 Y has positive relationship w/Dad (GE 21 on 7-item Scale)';

/************** 1998 3-ITEM SCALE FOR FATHER*********/
Array dad3_98{3} R2167000 R2167100 R2167200;

/*remove missings*/
missdad3_98=0;

    do a= 1 to 3;

      if dad3_98{a}=. then missdad3_98=missdad3_98+1;

    end;

       if missdad3_98 = 0 then do;

        ydadrel3_98 = sum (R2167000, R2167100, R2167200);

        end;

label  ydadrel3_98 = '1998 Y relationship w/Dad -- 3 ITEM';

/***** 1999 8-ITEM SCALE FOR FATHER, W/NEGATIVE P-Y BEHAVIOR REVERSE-CODED**********/;

/*reverse code*/
R348530R = 4-R3485300;

R348550R = 4-R3485500;

R348560R = 4-R3485600;

label R348530R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED99';

label R348550R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED99';

label R348560R ='DAD CANCELS PLANS, REVERSE-CODED99';

Array supt899{8} R348530R R348550R R348560R R3485200 R3485400 R3484900 R3485000 R3485100;

/*remove missings*/
mis8fathy99=0;

    do a= 1 to 8;

      if supt899{a}=. then mis8fathy99=mis8fathy99+1;

    end;

       if mis8fathy99 le 2 then do;

        YDREL99 = sum (R348530R, R348550R, R348560R, R3485200, R3485400, R3484900,

                       R3485000, R3485100)*(8/(8-mis8fathy99));

        end;

label YDREL99 ='8-Item Dad-Y Relationship Scale 1999';

/*relationship scale >24>*/
YDPOSREL99 = .;

if YDREL99 ge 24 then YDPOSREL99 = 1;

if YDREL99 ge 0 and YDREL99 lt 24 then YDPOSREL99 = 0;

label YDPOSREL99 = '1999 Y has positive relationship w/Dad (GE 24 on 8-item Scale)';

/*********************/
/********1999 7 item scale father-youth relationship************/
/**************************/
/*reverse code*/
R348530R = 4-R3485300;

R348550R = 4-R3485500;

label R348530R ='DAD CRITICIZES Y IDEAS, REVERSE-CODED99';

label R348550R ='DAD BLAMES Y FOR PROBL, REVERSE-CODED99';

Array suptf799{7} R348530R R348550R R3485200 R3485400 R3484900 R3485000 R3485100;

/*remove missings*/
mis7fathy99=0;

    do a= 1 to 7;

      if suptf799{a}=. then mis7fathy99=mis7fathy99+1;

    end;

       if mis7fathy99 le 1 then do;

        YDREL799 = sum (R348530R, R348550R, R3485200, R3485400, R3484900,

                       R3485000, R3485100)*(7/(7-mis7fathy99));

        end;

label YDREL799 ='7-Item Dad-Y Relationship Scale 1999';

/*relationship scale >21>*/
POSYD99 = .;

if YDREL799 ge 21 then POSYD99 = 1;

if YDREL799 ge 0 and YDREL799 lt 21 then POSYD99 = 0;

label POSYD99 = '1999 Y has positive relationship w/Dad (GE 21 on 7-item Scale)';

/************** 1999 3-ITEM SCALE FOR FATHER*********/
Array dad3_99{3} RR3484900 R3485000 R3485100;

/*remove missings*/
missdad3_99=0;

    do a= 1 to 3;

      if dad3_99{a}=. then missdad3_99=missdad3_99+1;

    end;

       if missdad3_99 = 0 then do;

        ydadrel3_99 = sum (RR3484900,R3485000,R3485100);

        end;

label  ydadrel3_99 = '1999 Y relationship w/Dad -- 3 ITEM';

/*********Father*********/
/*sum of continuous scale*/
SUMYFREL=.; 

SUMYFREL=sum(of YDREL797 YDREL798 YDREL799);

label SUMYFREL = 'Sum of Y-father rel (cont scale r1-3)';

IF SUMYFREL =. THEN ydREL_QSUM=.;

ELSE IF SUMYFREL LT 37 THEN ydREL_QSUM=1;

ELSE IF (SUMYFREL GE 37) AND (SUMYFREL LT 69) THEN ydREL_QSUM=2;

ELSE IF SUMYFREL GE 69 THEN ydREL_QSUM=3;

format ydREL_QSUM quart.;

LABEL ydREL_QSUM = 'Quartile of sum of Y-father rel (cont scale r1-3)';

/*SUM of positive relationship -- only includes cases with data at 2 time points or more*/
Array ydrel1{3} POSYD97 POSYD98 POSYD99;

ydrelmiss=0;

    do a= 1 to 3;

      if ydrel1{a}=. then ydrelmiss=ydrelmiss+1;


  end;

       if ydrelmiss LE 1 then do;


    ydPOSRELSUM  = sum (POSYD97,POSYD98,POSYD99)*(3/3-ydrelmiss);



end;


   else if ydrelmiss GT 1 then ydPOSRELSUM =.;

label ydPOSRELSUM  = 'Sum of positive cut-off from rounds 1-3 -- P-Y rel, father';

/*AVG of scale score across 3 rounds*/
ydREL_AVG=.;

ydREL_AVG=SUMYFREL/3;

label ydREL_AVG = 'Average of Y-father rel (cont scale r1-3)';

/**************Father****************/
/*sum of continuous scale*/
SUMYFMREL=.; 

SUMYFMREL=sum(of DMARQ97  DMARQ98 DMARQ99 );

label SUMYFMREL = 'Sum of continuous scale from rounds 1-3 -- Parent rel (father) --y rep';

/*Quartile of continuous scale*/
IF SUMYFMREL =. THEN DMRELY_QSUM=.;

ELSE IF SUMYFMREL LT 20 THEN DMRELY_QSUM=1;

ELSE IF (SUMYFMREL GE 20) AND (SUMYFMREL LT 59) THEN DMRELY_QSUM=2;

ELSE IF SUMYFMREL GE 59 THEN DMRELY_QSUM=3;

format DMRELY_QSUM quart.;

LABEL DMRELY_QSUM = 'Quartile of sum of cont scale (r1-3) -- Parent rel (father) --y rep';

/*AVG of relationship scale score across rounds*/
DMRELYAVG=.;

DMRELYAVG=SUMYFMREL/3;

label DMRELYAVG = 'Average of Parent rel (father) --cont scale r1-3 y rep';

/*SUM of positive relationship -- only includes cases with data at 2 time points or more*/
Array dmrel1{3} POSDMQ97 POSDMQ98 POSDMQ99;

dfrelyrmiss=0;

    do a= 1 to 3;

      if dmrel1{a}=. then dfrelyrmiss=dfrelyrmiss+1;


  end;

       if dfrelyrmiss LE 1 then do;


    DMARPOSRELSUM  = sum (POSDMQ97,POSDMQ98,POSDMQ99)*(3/3-dfrelyrmiss);



end;


   else if dfrelyrmiss GT 1 then DMARPOSRELSUM =.;

label DMARPOSRELSUM  = 'Sum of positive cut-off from rounds 1-3 -- Father-Mother rel, youth report';

Mother’s relationship with Father
/******1997 youth report of mother rel with father******/
/*reverse code*/
R034590R = 4-R0345900;

R034610R = 4-R0346100;

R034630R = 4-R0346300;

label R034590R ='MOTH SCREAM AT FATH WHEN ANGRY, REVERSE-CODED97';

label R034610R ='MOTH INSULT/CRITICIZE FATH, REVERSE-CODED97';

label R034630R ='MOTH BLAME FATH FOR PROBS, REVERSE-CODED97';

Array mf97{6} R034590R R034610R R034630R R0345800 R0346000 R0346200;

/*remove missings*/
mismf97=0;

    do a= 1 to 6;

      if mf97{a}=. then mismf97=mismf97+1;

    end;

       if mismf97 le 1 then do;

        MMARQ97 = sum (R034590R, R034610R, R034630R, R0345800, R0346000, R0346200)*(6/(6-mismf97));

        end;

label MMARQ97 ='6-Item Mother-Father Relationship Scale 1997';

/*relationship scale >18>*/
POSMMQ97 = .;

if MMARQ97 ge 18 then POSMMQ97 = 1;

if MMARQ97 ge 0 and MMARQ97 lt 18 then POSMMQ97 = 0;

label POSMMQ97 = '1997 Mom has pos rel w/ Dad (GE 18, 6-item Scale)-- youth report';

/******1998 youth report of mother rel with father******/
/*reverse code*/
R217850R = 4-R2178500;

R217870R = 4-R2178700;

R217890R = 4-R2178900;

label R217850R ='MOTH SCREAM AT FATH WHEN ANGRY, REVERSE-CODED98';

label R217870R ='MOTH INSULT/CRITICIZE FATH, REVERSE-CODED98';

label R217890R ='MOTH BLAME FATH FOR PROBS, REVERSE-CODED98';

Array mf98{6} R217850R R217870R R217890R R2178400 R2178600 R2178800;

/*remove missings*/
mismf98=0;

    do a= 1 to 6;

      if mf98{a}=. then mismf98=mismf98+1;

    end;

       if mismf98 le 1 then do;

        MMARQ98 = sum (R217850R, R217870R, R217890R, R2178400, R2178600, R2178800)*(6/(6-mismf98));

        end;

label MMARQ98 ='6-Item Mother-Father Relationship Scale 1998';

/*relationship scale >18>*/
POSMMQ98 = .;

if MMARQ98 ge 18 then POSMMQ98 = 1;

if MMARQ98 ge 0 and MMARQ98 lt 18 then POSMMQ98 = 0;

label POSMMQ98 = '1998 Mom has pos rel w/ Dad (GE 18, 6-item Scale)-- youth report';

/******1999 youth report of mother rel with father******/
/*reverse code*/
R349640R = 4-R3496400;

R349660R = 4-R3496600;

R349680R = 4-R3496800;

label R349640R ='MOTH SCREAM AT FATH WHEN ANGRY, REVERSE-CODED99';

label R349660R ='MOTH INSULT/CRITICIZE FATH, REVERSE-CODED99';

label R349680R ='MOTH BLAME FATH FOR PROBS, REVERSE-CODED99';

Array mf99{6} R349640R R349660R R349680R R3496300 R3496500 R3496700;

/*remove missings*/
mismf99=0;

    do a= 1 to 6;

      if mf99{a}=. then mismf99=mismf99+1;

    end;

       if mismf99 le 1 then do;

        MMARQ99 = sum (R349640R, R349660R, R349680R, R3496300, R3496500, R3496700)*(6/(6-mismf99));

        end;

label MMARQ99 ='6-Item Mother-Father Relationship Scale 1999';

/*relationship scale >18>*/
POSMMQ99 = .;

if MMARQ99 ge 18 then POSMMQ99 = 1;

if MMARQ99 ge 0 and MMARQ99 lt 18 then POSMMQ99 = 0;

label POSMMQ99 = '1999 Mom has pos rel w/ Dad (GE 18, 6-item Scale)-- youth report';

Father’s relationship with Mother
/******1997 youth report of father rel with mother******/
/*reverse code*/
R034650R = 4-R0346500;

R034670R = 4-R0346700;

R034690R = 4-R0346900;

label R034650R ='FATH SCREAM AT MOTH WHEN ANGRY, REVERSE-CODED97';

label R034670R ='FATH INSULT/CRITICIZE MOTH, REVERSE-CODED97';

label R034690R ='FATH BLAME MOTH FOR PROBS, REVERSE-CODED97';

Array fm97{6} R034650R R034670R R034690R R0346400 R0346600 R0346800;

/*reverse code*/
misfm97=0;

    do a= 1 to 6;

      if fm97{a}=. then misfm97=misfm97+1;

    end;

       if misfm97 le 1 then do;

        DMARQ97 = sum (R034650R,R034670R,R034690R,R0346400,R0346600,R0346800)*(6/(6-misfm97));

        end;

label DMARQ97 ='6-Item Father-Mother Relationship Scale (Youth Report) 1997';

/*relationship scale >18>*/
POSDMQ97 = .;

if DMARQ97 ge 18 then POSDMQ97 = 1;

if DMARQ97 ge 0 and DMARQ97 lt 18 then POSDMQ97 = 0;

label POSDMQ97 = '1997 Dad has pos rel w/ Mom (GE 18, 6-item Scale)-- youth report';

/******1998 youth report of father rel with mother******/
/*reverse code*/
R217910R = 4-R2179100;

R217930R = 4-R2179300;

R217950R = 4-R2179500;

label R217910R ='FATH SCREAM AT MOTH WHEN ANGRY, REVERSE-CODED98';

label R217930R ='FATH INSULT/CRITICIZE MOTH, REVERSE-CODED98';

label R217950R ='FATH BLAME MOTH FOR PROBS, REVERSE-CODED98';

Array fm98{6} R217910R R217930R R217950R R2179000 R2179200 R2179400;

/*remove missings*/
misfm98=0;

    do a= 1 to 6;

      if fm98{a}=. then misfm98=misfm98+1;

    end;

       if misfm98 le 1 then do;

        DMARQ98 = sum (R217910R, R217930R, R217950R, R2179000, R2179200, R2179400)*(6/(6-mismf98));

        end;

label DMARQ98 ='6-Item Father-Mother Relationship Scale (Youth Report) 1998';

/*relationship scale >18>*/
POSDMQ98 = .;

if DMARQ98 ge 18 then POSDMQ98 = 1;

if DMARQ98 ge 0 and DMARQ98 lt 18 then POSDMQ98 = 0;

label POSDMQ98 = '1998 Dad has pos rel w/ Mom (GE 18, 6-item Scale)-- youth report';

/******1999 youth report of father rel with mother******/
/*reverse code*/
R349700R = 4-R3497000;

R349720R = 4-R3497200;

R349740R = 4-R3497400;

label R349700R ='FATH SCREAM AT MOTH WHEN ANGRY, REVERSE-CODED99';

label R349720R ='FATH INSULT/CRITICIZE MOTH, REVERSE-CODED99';

label R349740R ='FATH BLAME MOTH FOR PROBS, REVERSE-CODED99';

Array fm99{6} R349700R R349720R R349740R R3496900 R3497100 R3497300;

/*remove missings*/
misfm99=0;

    do a= 1 to 6;

      if fm99{a}=. then misfm99=misfm99+1;

    end;

       if misfm99 le 1 then do;

        DMARQ99 = sum (R217910R, R217930R, R217950R, R2179000, R2179200, R2179400)*(6/(6-mismf99));

        end;

label DMARQ99 ='6-Item Father-Mother Relationship Scale (Youth Report) 1999';

/*relationship scale >18>*/
POSDMQ99 = .;

if DMARQ99 ge 18 then POSDMQ99 = 1;

if DMARQ99 ge 0 and DMARQ99 lt 18 then POSDMQ99 = 0;

label POSDMQ99 = '1999 Dad has pos rel w/ Mom (GE 18, 6-item Scale)-- youth report';

/******1997 parent report of parents' marital relationship******/
/*reverse code*/
R062630R = 4-R0626300;

R062640R = 4-R0626400;

R062670R = 4-R0626700;

label R062630R ='SP/PART SCREAM AT PR WHEN ANGRY? 1997, REVERSE-CODED97';

label R062640R ='SP/PART INSULT/CRITICIZE PR? 1997, REVERSE-CODED97';

label R062670R ='SP/PART BLAME PR FOR PROBS? 1997, REVERSE-CODED97';

Array part97{6} R062630R R062640R R062670R R0626100 R0626500 R0626600;

/*remove missings*/
misparrel97=0;

    do a= 1 to 6;

      if part97{a}=. then misparrel97=misparrel97+1;

    end;

       if misparrel97 le 1 then do;

        MARQ_PR = sum (R062630R, R062640R, R062670R, R0626100, R0626500, R0626600)*(6/(6-misparrel97));

        end;

label MARQ_PR ='6-Item Father-Mother Relationship Scale (parent report) 1997';

/*relationship scale >18>*/
POSMARQP = .;

if MARQ_PR ge 18 then POSMARQP = 1;

if MARQ_PR ge 0 and MARQ_PR lt 18 then POSMARQP = 0;

label POSMARQP = '1997 Parents have pos rel (GE 18 6-item Scale)--parent report';

IF MARQ_PR =. THEN ydREL_QSUM=.;

ELSE IF MARQ_PR LT 15 THEN parREL_QSUM=1;

ELSE IF (MARQ_PR GE 15) AND (MARQ_PR LT 21) THEN parREL_QSUM=2;

ELSE IF MARQ_PR GE 21 THEN parREL_QSUM=3;

format parREL_QSUM quart.;

LABEL parREL_QSUM = 'Quartile of parent marital rel (cont scale r1)';

YOUTH OUTCOME VARIABLES
Mental Health

Mental health in 2000

· Measured on a 5-item scale at Round 4
· Participants answered the following questions using a 4-point scale (all of the time = 3, most of the time = 2, some of the time = 1, none of the time = 0):

1. How much of the time during the last month have you been a very nervous person?

2. How much of the time during the last month have you felt calm and peaceful?

3. How much of the time during the last month have you felt downhearted and blue?

4. How much of the time during the last month have you been a happy person?
5. How much of the time during the last month have you felt so down in the dumps that nothing could cheer you up
· Possible score range is 0 to 15.

· Distribution:

· Approximately normal – slightly skewed to the left.

· 266 missing cases

· Mean = 10.32

· Standard Deviation = 2.55

· SAS code:
R489360r=R4893600-1;

R489370r=4-R4893700;

R489380r=R4893800-1;

R489390r=4-R4893900;

R489400r=R4894000-1;

array ment00{5} R489360r R489370r R489380r R489390r R489400r;

menh00=0;

    do a= 1 to 5;

      if ment00{a}=. then menh00=menh00+1;

    end;

       if menh00 le 1 then do;

        menhel00 = sum (R489360r, R489370r, R489380r, R489390r, R489400r)*(5/(5-menh00));

        end;

label menhel00 ='5-Item Mental health Scale 2000';
Mental health as a young adult

· Combined the 5 items from Round 6 with the 5 items from Round 8 to create a 10-item composite measure

· Same scoring system and questions as listed above under the “Mental health in 2000” variable.

· Possible score range is 0 to 30.

· Distribution:

· Approximately normal – slightly skewed to the left.

· 606 missing cases

· Mean = 20.61

· Standard Deviation = 4.31

· SAS Code:

array adment {10} S092080r S092090r S092100r S092110r S092120r S468190r S468200r S468210r S468220r S468230r;

adltmh = 0;


do a= 1 to 10;



if adment {a}=. then adltmh=adltmh+1;


end;



if adltmh le 2 then do;



adultmh = sum (S092080r, S092090r, S092100r, S092110r, S092120r, S468190r, S468200r, S468210r, 



S468220r, S468230r)*(10/(10-adltmh));



end;

label adultmh = 'Composite adult mental health score across Rounds 6 and 8';
Religiosity

Youth Religiosity in 2002

· Measured on a 5-item scale 
· Participants answered the following questions with a “yes” or a “no”:
1. I don’t need religion to have good values
2. The Bible/Koran/Torah/religious teachings should be obeyed exactly as written in every situation.

3. I often ask God to help me make decisions

4. God has nothing to do with what happens to me personally

5. I pray more than once a day.
· Possible score range is 0 to 5
· Distribution:
· Approximately normal
· 329 missing cases
· Mean = 2.73
· Standard Deviation = 1.52
· SAS Code:
relvalue=1-S0919400;/****dont need religion to have good values****/
relobey=S0919500;/****religion should be obeyed exactly as written***/
reldecid=S0919600;/****ask god to make decisions****/
relnothi=1-S0919700;/****god has nothing to do with what happens personally***/
relpray=S0919800;/****pray more than once a day***/
array re{5} relvalue relobey reldecid relnothi relpray;

relm=0;

    do a= 1 to 5;

      if re{a}=. then relm=relm+1;

    end;

       if relm le 1 then do;

        relig02 = sum (relvalue, relobey, reldecid, relnothi, relpray)*(5/(5-relm));

        end;

label relig02 = '5-item scale of religiosity, 5 point scale, 2002';

Family Religious Activities at Age 16

· Indicates whether or not family attended a religious activity at least once a week when the adolescent was 16 years old.
· Frequencies:
· 1079 (32.54%) respondents indicated that their family did not attend engage in a religious activity at least once a week
· 1704 (51.39%) indicated that their family did engage in a religious activity at least once a week
· 533 missing cases
· SAS Code:
age97=R1194100;

age98=R2553500;

age99=R3876300;

age00=R5453700;

label age97 = "r age at interview date 1997";

label age98 = "r age at interview date 1998";

label age99 = "r age at interview date 1999";

label age00 = "r age at interview date 2000";

famrel97=.;

if R0323900 ge 1 then famrel97=1;

else if R0323900=0 then famrel97=0;

else famrel97=.;

famrel98=.;

if R2165200 ge 1 then famrel98=1;

else if R2165200=0 then famrel98=0;

else famrel98=.;

famrel99=.;

if R3483100 ge 1 then famrel99=1;

else if R3483100=0 then famrel99=0;

else famrel99=.;

famrel00=.;

if R4881300 ge 1 then famrel00=1;

else if R4881300=0 then famrel00=0;

else famrel00=.;

Label famrel97 = "Does family engage in a religious activity at least once during a typical week '97";

Label famrel98 = "Does family engage in a religious activity at least once during a typical week '98";

Label famrel99 = "Does family engage in a religious activity at least once during a typical week '99";

Label famrel00 = "Does family engage in a religious activity at least once during a typical week '00";

if age97=16 then famrel16=famrel97;

else if age98=16 then famrel16=famrel98;

else if age99=16 then famrel16=famrel99;

else if age00=16 then famrel16=famrel00;

else famrel16=.;

Label famrel16 = "Does family engage in a religious activity at least once during a typical week at age 16";

Religious Attendance at Age 20

· Indicates whether or not respondent attended a religious activity at least once a week when 20 years old.
· Frequencies:
· 1981 (59.74%) respondents indicated that they did not attend worship services at least twice a month
· 729 (21.98%) indicated that they did attend worship services at least twice a month

· 606 missing cases
· SAS Code:
age00=R5453700;

age01=R7216000;

age02=S1531400;

age03=S2001000;

age04=S3801100;
label age00 = "r age at interview date 2000";

label age01 = "r age at interview date 2001";

label age02 = "r age at interview date 2002";

label age03 = "r age at interview date 2003";

label age04 = "r age at interview date 2004";

if R4893400 ge 5 then relatt00=1;

else if 1<=R4893400<=4 then relatt00=0;

else relatt00=.;

if R6520100 ge 5 then relatt01=1;

else if 1<=R6520100<=4 then relatt01=0;

else relatt01=.;

if S0919300 ge 5 then relatt02=1;

else if 1<=S0919300<=4 then relatt02=0;

else relatt02=.;

if S2987800 ge 5 then relatt03=1;

else if 1<=S2987800<=4 then relatt03=0;

else relatt03=.;

if S4681700 ge 5 then relatt04=1;

else if 1<=S4681700<=4 then relatt04=0;

else relatt04=.;

Label relatt00 = "how often r attended worship service 2000";

Label relatt01 = "how often r attended worship service 2001";

Label relatt02 = "how often r attended worship service 2002";

Label relatt03 = "how often r attended worship service 2003";

Label relatt04 = "how often r attended worship service 2004";

if age00=20 then relatt20=relatt00;

else if age01=20 then relatt20=relatt01;

else if age02=20 then relatt20=relatt02;

else if age03=20 then relatt20=relatt03;

else if age04=20 then relatt20=relatt04;

else relatt20=.;
Health

Positive Health at Age 16

· If participants indicated that their health was “good,” “very good,” or “excellent” at age 16, they were labeled as having “positive health.”

· Frequencies:
· 786 (23.70%) respondents indicated that they did not have positive health.

· 2117 (63.84%) of the sample indicated that they did have positive health

· 413 missing cases

· SAS Code:
proc format library=library;   /*Formats*/

value yes10no


1 = '1: yes'

0 = '0: no';

Run;
age97=R1194100;

age98=R2553500;

age99=R3876300;

age00=R5453700;

age01=R7216000;

age02=S1531400;

age03=S2001000;

age04=S3801100;

label age97 = "r age at interview date 1997";

label age98 = "r age at interview date 1998";

label age99 = "r age at interview date 1999";

label age00 = "r age at interview date 2000";

label age01 = "r age at interview date 2001";

label age02 = "r age at interview date 2002";

label age03 = "r age at interview date 2003";

label age04 = "r age at interview date 2004";

poshel97=.;

poshel98=.;

poshel99=.;

poshel00=.;

poshel01=.;

poshel02=.;

poshel03=.;

poshel04=.;

/*********positive health = very good, excellent******/
R032060r=5-R0320600;

if R032060r ge 3 then poshel97=1;

if 0<= R032060r <=2 then poshel97=0;

R216400r=5-R2164000;

if R216400r ge 3 then poshel98=1;

if 0<= R216400r <=2 then poshel98=0;

R348190r=5-R3481900;

if R348190r ge 3 then poshel99=1;

if 0<= R348190r <=2 then poshel99=0;

R488010r=5-R4880100;

if R488010r ge 3 then poshel00=1;

if 0<= R488010r <=2 then poshel00=0;

R649750r=5-R6497500;

if R649750r ge 3 then poshel01=1;

if 0<= R649750r <=2 then poshel01=0;

S122500r=5-S1225000;

if S122500r ge 3 then poshel02=1;

if 0<= S122500r <=2 then poshel02=0;

S330250r=5-S3302500;

if S330250r ge 3 then poshel03=1;

if 0<= S330250r <=2 then poshel03=0;

S491950r=5-S4919500;

if S491950r ge 3 then poshel04=1;

if 0<= S491950r <=2 then poshel04=0;

if age97=16 then poshel16=poshel97;

else if age98=16 then poshel16=poshel98;

else if age99=16 then poshel16=poshel99;

else if age00=16 then poshel16=poshel00;

else if age01=16 then poshel16=poshel01;

else if age02=16 then poshel16=poshel02;

else if age03=16 then poshel16=poshel03;

else if age04=16 then poshel16=poshel04;

else poshel16=.;

label poshel16 = 'positive health at age 16';
format poshel16 yes10no.;
Positive Health at Age 20

· If participants indicated that their health was “good,” “very good,” or “excellent” at age 20, they were labeled as having “positive health.”

· Frequencies:

· 847 (25.54%) of sample indicated that they did not have positive health

· 1895 (57.15%) indicated that they did have positive health

· 574 missing cases

· SAS Code:

proc format library=library;   /*Formats*/

value yes10no


1 = '1: yes'

0 = '0: no';

Run;
age97=R1194100;

age98=R2553500;

age99=R3876300;

age00=R5453700;

age01=R7216000;

age02=S1531400;

age03=S2001000;

age04=S3801100;

label age97 = "r age at interview date 1997";

label age98 = "r age at interview date 1998";

label age99 = "r age at interview date 1999";

label age00 = "r age at interview date 2000";

label age01 = "r age at interview date 2001";

label age02 = "r age at interview date 2002";

label age03 = "r age at interview date 2003";

label age04 = "r age at interview date 2004";

poshel97=.;

poshel98=.;

poshel99=.;

poshel00=.;

poshel01=.;

poshel02=.;

poshel03=.;

poshel04=.;

/*********positive health = very good, excellent******/
R032060r=5-R0320600;

if R032060r ge 3 then poshel97=1;

if 0<= R032060r <=2 then poshel97=0;

R216400r=5-R2164000;

if R216400r ge 3 then poshel98=1;

if 0<= R216400r <=2 then poshel98=0;

R348190r=5-R3481900;

if R348190r ge 3 then poshel99=1;

if 0<= R348190r <=2 then poshel99=0;

R488010r=5-R4880100;

if R488010r ge 3 then poshel00=1;

if 0<= R488010r <=2 then poshel00=0;

R649750r=5-R6497500;

if R649750r ge 3 then poshel01=1;

if 0<= R649750r <=2 then poshel01=0;

S122500r=5-S1225000;

if S122500r ge 3 then poshel02=1;

if 0<= S122500r <=2 then poshel02=0;

S330250r=5-S3302500;

if S330250r ge 3 then poshel03=1;

if 0<= S330250r <=2 then poshel03=0;

S491950r=5-S4919500;

if S491950r ge 3 then poshel04=1;

if 0<= S491950r <=2 then poshel04=0;

if age97=20 then poshel20=poshel97;

else if age98=20 then poshel20=poshel98;

else if age99=20 then poshel20=poshel99;

else if age00=20 then poshel20=poshel00;

else if age01=20 then poshel20=poshel01;

else if age02=20 then poshel20=poshel02;

else if age03=20 then poshel20=poshel03;

else if age04=20 then poshel20=poshel04;

else poshel20=.;
label poshel20 = 'positive health at age 20';
format poshel20 yes10no.;

Consistent Positive Health between Age 16 and Age 20
· If participants indicated that their health was “good,” “very good,” or “excellent” in at least four of the five rounds, they were labeled as having “positive” health.  

· Frequencies:

· 1673 (50.45%) of the sample met the criteria for positive health.

· 1050 (31.66%) of the sample did not meet the criteria for positive health.

· 593 missing cases

· SAS Code:

proc format library=library;   /*Formats*/

value yes10no


1 = '1: yes'

0 = '0: no';

Run;

age97=R1194100;

age98=R2553500;

age99=R3876300;

age00=R5453700;

age01=R7216000;

age02=S1531400;

age03=S2001000;

age04=S3801100;

label age97 = "r age at interview date 1997";

label age98 = "r age at interview date 1998";

label age99 = "r age at interview date 1999";

label age00 = "r age at interview date 2000";

label age01 = "r age at interview date 2001";

label age02 = "r age at interview date 2002";

label age03 = "r age at interview date 2003";

label age04 = "r age at interview date 2004";

poshel97=.;

poshel98=.;

poshel99=.;

poshel00=.;

poshel01=.;

poshel02=.;

poshel03=.;

poshel04=.;

/*********positive health = very good, excellent******/
R032060r=5-R0320600;

if R032060r ge 3 then poshel97=1;

if 0<= R032060r <=2 then poshel97=0;

R216400r=5-R2164000;

if R216400r ge 3 then poshel98=1;

if 0<= R216400r <=2 then poshel98=0;

R348190r=5-R3481900;

if R348190r ge 3 then poshel99=1;

if 0<= R348190r <=2 then poshel99=0;

R488010r=5-R4880100;

if R488010r ge 3 then poshel00=1;

if 0<= R488010r <=2 then poshel00=0;

R649750r=5-R6497500;

if R649750r ge 3 then poshel01=1;

if 0<= R649750r <=2 then poshel01=0;

S122500r=5-S1225000;

if S122500r ge 3 then poshel02=1;

if 0<= S122500r <=2 then poshel02=0;

S330250r=5-S3302500;

if S330250r ge 3 then poshel03=1;

if 0<= S330250r <=2 then poshel03=0;

S491950r=5-S4919500;

if S491950r ge 3 then poshel04=1;

if 0<= S491950r <=2 then poshel04=0;

if age97=16 then poshel16=poshel97;

else if age98=16 then poshel16=poshel98;

else if age99=16 then poshel16=poshel99;

else if age00=16 then poshel16=poshel00;

else if age01=16 then poshel16=poshel01;

else if age02=16 then poshel16=poshel02;

else if age03=16 then poshel16=poshel03;

else if age04=16 then poshel16=poshel04;

else poshel16=.;

if age97=17 then poshel17=poshel97;

else if age98=17 then poshel17=poshel98;

else if age99=17 then poshel17=poshel99;

else if age00=17 then poshel17=poshel00;

else if age01=17 then poshel17=poshel01;

else if age02=17 then poshel17=poshel02;

else if age03=17 then poshel17=poshel03;

else if age04=17 then poshel17=poshel04;

else poshel17=.;

if age97=18 then poshel18=poshel97;

else if age98=18 then poshel18=poshel98;

else if age99=18 then poshel18=poshel99;

else if age00=18 then poshel18=poshel00;

else if age01=18 then poshel18=poshel01;

else if age02=18 then poshel18=poshel02;

else if age03=18 then poshel18=poshel03;

else if age04=18 then poshel18=poshel04;

else poshel18=.;

if age97=19 then poshel19=poshel97;

else if age98=19 then poshel19=poshel98;

else if age99=19 then poshel19=poshel99;

else if age00=19 then poshel19=poshel00;

else if age01=19 then poshel19=poshel01;

else if age02=19 then poshel19=poshel02;

else if age03=19 then poshel19=poshel03;

else if age04=19 then poshel19=poshel04;

else poshel19=.;

if age97=20 then poshel20=poshel97;

else if age98=20 then poshel20=poshel98;

else if age99=20 then poshel20=poshel99;

else if age00=20 then poshel20=poshel00;

else if age01=20 then poshel20=poshel01;

else if age02=20 then poshel20=poshel02;

else if age03=20 then poshel20=poshel03;

else if age04=20 then poshel20=poshel04;

else poshel20=.;
array hel3{5} poshel16 poshel17 poshel18 poshel19 poshel20;

hel3m=0;

    do a= 1 to 5;

      if hel3{a}=. then hel3m=hel3m+1;

    end;

       if hel3m le 1 then do;

        sumposhlthage = sum (poshel16, poshel17, poshel18, poshel19, poshel20)*(5/(5-hel2m));

        end;

label sumposhlthage = '5 item Positive health scale, 5 point scale, age 16-20';

poshelage=.;

if sumposhlthage>3 then poshelage=1;

if 0<=sumposhlthage<=3 then poshelage=0;

label poshelage = 'Positive Health = Score of 4 or greater on 5-item positive health scale from age 16 to 20';

format poshelage yes10no.;

Delinquency

*** NOTE:  The following is the SAS code for all of the delinquency variables.  Under each variable described in the outline, I have noted the applicable outcome variable.

/********************************************************************/
/************************Delinquency Index*********************/
/*******************************************************************/
delinq97 = R1487700;

if R1487700 lt 0 then delinq97 = .;

label delinq97 = "Delinquency Index score, 1997";

delinq98dli = R2602000;

if R2602000 lt 0 then delinq98 = .;

label delinq98 = "Delinquency Index score, 1998, Since DLI";

delinq99dli = R3925200;

if R3925200 lt 0 then delinq99 = .;

label delinq99 = "Delinquency Index score, 1999, Since DLI";

delinq00dli = R5511500;

if R5511500 lt 0 then delinq00dli = .;

label delinq00dli = "Delinquency Index score, 2000, Since DLI";

/*10 Items in Delinquency Index:

Ever run away

Ever carried a gun

Ever belonged to a gang

Damaged property

Stolen something less than $50

Stolen something  more than $50

Other property crimes

Attacted someone

Sold drugs

Been arrested*/
/*1997*/
array dlnqold(10) R0359500 R0359800 R0360500 R0360900 R0361000 R0361100 R0361200 R0361300 R0361400 R0365900;

array dlnqnew(10) runawy1 gun1 gang1 destprop1 steal50less1 steal50plus1 othprop1 attack1 selldrgs1 arrest1;

Do i = 1 to 10;


If dlnqold(i) lt 0 then dlnqnew(i) = .;


Else dlnqnew(i) = dlnqold(i);

End;

Label runawy1 = "R has run away, 1997";

Label gun1 = "R has carried a gun, 1997";

Label gang1 = "R has belonged to a gang, 1997";

Label destprop1 = "R has destroyed property, 1997";

Label steal50less1 = "R has stolen something worth less than $50, 1997";

Label steal50plus1 = "R has stolen something worth more than $50, 1997";

Label othprop1 = "R has committed other property crimes, 1997";

Label attack1 = "R has attacked someone, 1997";

Label selldrgs1 = "R has sold drugs, 1997";

Label arrest1 = "R has been arrested, 1997";

/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl1b = gun1, gang1, destprop1, steal50less1, steal50plus1, othprop1, attack1, selldrgs1, runawy1;


If nmiss(&dlnqscl1b) le 2 then dlnqscl9_1= Round((sum (&dlnqscl1b)*9)/(9-(nmiss(&dlnqscl1b))));


Label dlnqscl9_1 = "9-Item Delinquency Index (With Runaway), 1997";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl1c = gun1, gang1, steal50less1, steal50plus1, othprop1, attack1, selldrgs1, destprop1;


If nmiss(&dlnqscl1c) le 2 then dlnqscl8a_1= Round((sum (&dlnqscl1c)*8)/(8-(nmiss(&dlnqscl1c))));


Label dlnqscl8a_1 = "8-Item Delinquency Index (No runaway), 1997";

/*1998*/
/*Run away from home - only asked if R was under 17*/
Array oldvar2(21) R2192100 R2192400 R2193100 R2194100 R2194800 R2195100 R2195400 R2195700 R2196000 R2196300 R2200100 

R2192700 R2193400 R2194400 R2194900 R2195200 R2195500 R2195800 R2196100 R2196400 R2200300;

Array newvar2(21) over17r2 runev2 gunev2 gangev2 propev2 stl50lsev2 stl50plev2 othprpev2 attackev2 drugsev2 arrestev2

rundlir2 gundli2 gangdli2 propdli2 stl50lsdli2 stl50pldli2 othprpdli2 attackdli2 drugsdli2 arrestdli2;

Do i = 1 to 21;


If oldvar2(i) lt 0 then newvar2(i) = .;


Else newvar2(i) = oldvar2(i);

End;

Label runev2 = "R has ever run away, 1998";

Label gunev2 = "R has ever carried a gun, 1998";

Label gangev2 = "R has ever belonged to a gang, 1998";

Label propev2 = "R has ever destroyed property, 1998";

Label stl50lsev2 = "R has stolen ever something worth less than $50, 1998";

Label stl50plev2 = "R hasever stolen something worth more than $50, 1998";

Label othprpev2 = "R has ever coimmitted other property crimesI, 1998";

Label attackev2 = "R has ever attacked someone, 1998";

Label drugsev2 = "R has ever sold drugs, 1998";

Label arrestev2 = "R has ever been arrested, 1998";

Label over17r2 = "R was 17 or over at interview, 1998";

Label rundlir2 = "R has run away since DLI, 1998";

Label gundli2 = "R has carried a gun since DLI, 1998";

Label gangdli2 = "R has belonged to a gang since DLI, 1998";

Label propdli2 = "R has destroyed property since DLI, 1998";

Label stl50lsdli2 = "R has stolen something worth less than $50 since DLI, 1998";

Label stl50pldli2 = "R hasstolen something worth more than $50 since DLI, 1998";

Label othprpdli2 = "R has coimmitted other property crimes since DLI, 1998";

Label attackdli2 = "R has attacked someone since DLI, 1998";

Label drugsdli2 = "R has sold drugs since DLI, 1998";

Label arrestdli2 = "R has been arrested since DLI, 1998";

%delinqdli (S1529901, R2192200, runev2, rundlir2, rundli98, 1998, label=run away);

%delinqdli (S1529901, R2192900, gunev2, gundli2, gundli98, 1998, label=carried a gun);

%delinqdli (S1529901, R2194700, propev2, propdli2, despropdli98, 1998, label=destroyed property);

%delinqdli (S1529901, R2195000, stl50lsev2, stl50lsdli2, stl50lsdli98, 1998, label=stolen less than fifty);

%delinqdli (S1529901, R2195300, stl50plev2, stl50pldli2, stl50pldli98, 1998, label=stolen more than fifty);

%delinqdli (S1529901, R2195600, othprpev2,othprpdli2, othprpdli98, 1998, label=commited other prop crimes);

%delinqdli (S1529901, R2195900, attackev2, attackdli2, attackdli98, 1998, label=attacked someone);

%delinqdli (S1529901, R2196200, drugsev2, drugsdli2, drugsdli98, 1998, label=sold drugs);

%delinqdli (S1529901, R2200000, arrestev2, arrestdli2, arrestdli98, 1998, label=been arrested);

If S1529901 = 0 then gangdli98 = .; /*Did not complete R2*/
Else if gangev2 = 0 then gangdli98 = 0; /*Has never done ...*/
Else if gangdli2 = 0 then gangdli98 = 0; /*Has never done ...*/
Else if gangdli2 = 1 then gangdli98 = 1;  /*Had done ... since dli*/
Label gangdli98 = "R has been a member of a gang sinse DLI, 1998";

Format gangdli98 yes10no.;

/*Index*/
/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl2b = gundli98, gangdli98, despropdli98, stl50lsdli98, stl50pldli98, othprpdli98, attackdli98, drugsdli98, rundli98;


If nmiss(&dlnqscl2b) le 2 then dlnqscl9_2= Round((sum (&dlnqscl2b)*9)/(9-(nmiss(&dlnqscl2b))));


Label dlnqscl9_2 = "9-Item Delinquency Index (DLI), (with runaway), 1998";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl2c = gundli98, gangdli98, stl50lsdli98, stl50pldli98, othprpdli98, attackdli98, drugsdli98, propdli2;


If nmiss(&dlnqscl2c) le 2 then dlnqscl8a_2= Round((sum (&dlnqscl2c)*8)/(8-(nmiss(&dlnqscl2c))));


Label dlnqscl8a_2 = "8-Item Delinquency Index (DLI), (without runaway), 1998";

%everusez (runev2,runawy1, rundli98, everrun2, 1998, label=run away);

%everusez (runev2,runawy1, rundli98, everrun2, 1998, label=run away);

%everusez (gunev2, gun1, gundli98, evergun2, 1998, label=carry a gun);

%everusez (gangev2, gang1, gangdli98, evergang2, 1998, label=belonged to a gang);

%everusez (propev2, destprop1, despropdli98, everdesprp2, 1998, label=destroy property);

%everusez (stl50lsev2, steal50less1, stl50lsdli98, evstl50ls2, 1998, label=steal less than fifty);

%everusez (stl50plev2, steal50plus1, stl50pldli98, evstl50pl2, 1998, label=steal more than fifty);

%everusez (othprpev2, othprop1, othprpdli98, evothprp2, 1998, label=commit other prop crimes);

%everusez (attackev2, attack1, attackdli98, evattack2, 1998, label=attack someone);

%everusez (drugsev2, selldrgs1, drugsdli98, evdrugs2, 1998, label=sell drugs);

%everusez (arrestev2, arrest1, arrestdli98, evarrest2, 1998, label=been arrested);

/*Index*/
/*10-Item Delinquency Index (Includes all)*/
%let dlnqscl2d = everrun2, evergun2, evergang2, everdesprp2, evstl50ls2, evstl50pl2, evothprp2, evattack2, evdrugs2, evarrest2;


If nmiss(&dlnqscl2d) le 2 then dlnqscl10_2b= Round((sum (&dlnqscl2d)*10)/(10-(nmiss(&dlnqscl2d))));


Label dlnqscl10_2b = "10-Item Delinquency Index (EVER by R2), 1998";

/*9-Item Delinquency Index (without runaway)*/
%let dlnqscl2e = evergun2, evergang2, everdesprp2, evstl50ls2, evstl50pl2, evothprp2, evattack2, evdrugs2, evarrest2;


If nmiss(&dlnqscl2e) le 2 then dlnqscl9_2b= Round((sum (&dlnqscl2e)*9)/(9-(nmiss(&dlnqscl2e))));


Label dlnqscl9_2b = "9-Item Delinquency Index (EVER by R2) (without runaway), 1998";

/*8-Item Delinquency Index (without runaway & arrest)*/
%let dlnqscl2f = evergun2, evergang2, evstl50ls2, evstl50pl2, evothprp2, evattack2, evdrugs2, everdesprp2;


If nmiss(&dlnqscl2f) le 2 then dlnqscl8a_2b= Round((sum (&dlnqscl2f)*8)/(8-(nmiss(&dlnqscl2f))));


Label dlnqscl8a_2b = "8-Item Delinquency Index (EVER by R2) (without runaway & arrests), 1998";

/*8-Item Delinquency Index (without runaway & gangs)*/
%let dlnqscl2ff = evergun2, everdesprp2, evstl50ls2, evstl50pl2, evothprp2, evattack2, evdrugs2, evarrest2;


If nmiss(&dlnqscl2ff) le 2 then dlnqscl8b_2b= Round((sum (&dlnqscl2ff)*8)/(8-(nmiss(&dlnqscl2ff))));


Label dlnqscl8b_2b = "8-Item Delinquency Index (EVER by R2) (without runaway & gangs), 1998";

/*1999*/
/*Run away from home - only asked if R was under 17*/
Array oldvar(21) R3511600 R3511900 R3512700 R3513700 R3514400 R3514700 R3515000 R3515300 R3515600 R3515900 R3519700 

R3512300 R3513000 R3514000 R3514500 R3514800 R3515100 R3515400 R3515700 R3516000 R3519900;

Array newvar(21) over17r3 runev3 gunev3 gangev3 propev3 stl50lsev3 stl50plev3 othprpev3 attackev3 drugsev3 arrestev3 

rundlir3 gundli3 gangdli3 propdli3 stl50lsdli3 stl50pldli3 othprpdli3 attackdli3 drugsdli3 arrestdli3;

Do i = 1 to 21;


If oldvar(i) lt 0 then newvar(i) = .;


Else newvar(i) = oldvar(i);

End;

Label runev3 = "R has ever run away, 1999";

Label gunev3 = "R has ever carried a gun, 1999";

Label gangev3 = "R has ever belonged to a gang , 1999";

Label propev3 = "R has ever destroyed property, 1999";

Label stl50lsev3 = "R has ever stolen something worth less than $50, 1999";

Label stl50plev3 = "R has ever stolen something worth more than $50, 1999";

Label othprpev3 = "R has ever coimmitted other property crimes, 1999";

Label attackev3 = "R has ever attacked someone, 1999";

Label drugsev3 = "R has ever sold drugs, 1999";

Label arrestev3 = "R has ever been arrested, 1999";

Label over17r3 = "R was 17 or over at interview, 1999";

Label rundlir3 = "R has run away since DLI, 1999";

Label gundli3 = "R has carried a gun since DLI, 1999";

Label gangdli3 = "R has belonged to a gang since DLI, 1999";

Label propdli3 = "R has destroyed property since DLI, 1999";

Label stl50lsdli3 = "R has stolen something worth less than $50 since DLI, 1999";

Label stl50pldli3 = "R hasstolen something worth more than $50 since DLI, 1999";

Label othprpdli3 = "R has coimmitted other property crimes since DLI, 1999";

Label attackdli3 = "R has attacked someone since DLI, 1999";

Label drugsdli3 = "R has sold drugs since DLI, 1999";

Label arrestdli3 = "R has been arrested since DLI, 1999";

/*Since DLI Only*/
%delinqdli (S1529902, R3511700, runev3, rundlir3, rundli99, 1999, label=run away);

%delinqdli (S1529902, R3512500, gunev3, gundli3, gundli99, 1999, label=carried a gun);

%delinqdli (S1529902, R3514300, propev3, propdli3, despropdli99, 1999, label=destroyed property);

%delinqdli (S1529902, R3514600, stl50lsev3, stl50lsdli3, stl50lsdli99, 1999, label=stolen less than fifty);

%delinqdli (S1529902, R3514900, stl50plev3, stl50pldli3, stl50pldli99, 1999, label=stolen more than fifty);

%delinqdli (S1529902, R3515200, othprpev3,othprpdli3, othprpdli99, 1999, label=commited other prop crimes);

%delinqdli (S1529902, R3515500, attackev3, attackdli3, attackdli99, 1999, label=attacked someone);

%delinqdli (S1529902, R3515800, drugsev3, drugsdli3, drugsdli99, 1999, label=sold drugs);

%delinqdli (S1529902, R3519600, arrestev3, arrestdli3, arrestdli99, 1999, label=been arrested);

If S1529902 = 0 then gangdli99 = .; /*Did not complete R3*/
Else if gangev3 = 0 then gangdli99 = 0; /*Has never done ...*/
Else if gangdli3 = 0 then gangdli99 = 0; /*Has never done ...*/
Else if gangdli3 = 1 then gangdli99 = 1;  /*Had done ... since dli*/
Label gangdli99 = "R has been a member of a gang sinse DLI, 1999";

Format gangdli99 yes10no.;

/*Index*/
/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl3b = gundli99, gangdli99, despropdli99, stl50lsdli99, stl50pldli99, othprpdli99, attackdli99, drugsdli99, rundli99;


If nmiss(&dlnqscl3b) le 2 then dlnqscl9_3= Round((sum (&dlnqscl3b)*9)/(9-(nmiss(&dlnqscl3b))));


Label dlnqscl9_3 = "9-Item Delinquency Index (DLI), (with runaway), 1999";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl3c = gundli99, gangdli99, stl50lsdli99, stl50pldli99, othprpdli99, attackdli99, drugsdli99, despropdli99;


If nmiss(&dlnqscl3c) le 2 then dlnqscl8a_3= Round((sum (&dlnqscl3c)*8)/(8-(nmiss(&dlnqscl3c))));


Label dlnqscl8a_3 = "8-Item Delinquency Index (DLI), (without runaway), 1999";

%everusez (runev3, everrun2, rundli99, everrun3, 1999, label=run away);

%everusez (gunev3, evergun2, gundli99, evergun3, 1999, label=carry a gun);

%everusez (gangev3, evergang2, gangdli99, evergang3, 1999, label=belong to a gang);

%everusez (propev3, everdesprp2, despropdli99, everdesprp3, 1999, label=destroy property);

%everusez (stl50lsev3, evstl50ls2, stl50lsdli99, evstl50ls3, 1999, label=steal less than fifty);

%everusez (stl50plev3, evstl50pl2, stl50pldli99, evstl50pl3, 1999, label=steal more than fifty);

%everusez (othprpev3, evothprp2, othprpdli99, evothprp3, 1999, label=commit other prop crimes);

%everusez (attackev3, evattack2, attackdli99, evattack3, 1999, label=attack someone);

%everusez (drugsev3, evdrugs2, drugsdli99, evdrugs3, 1999, label=sell drugs);

%everusez (arrestev3, evarrest2, arrestdli99, evarrest3, 1999, label=been arrested);

/*Index*/
/*10-Item Delinquency Index (Includes all)*/
%let dlnqscl3d = everrun3, evergun3, evergang3, everdesprp3, evstl50ls3, evstl50pl3, evothprp3, evattack3, evdrugs3, evarrest3;


If nmiss(&dlnqscl3d) le 2 then dlnqscl10_3b= Round((sum (&dlnqscl3d)*10)/(10-(nmiss(&dlnqscl3d))));


Label dlnqscl10_3b = "10-Item Delinquency Index (EVER by R3), 1999";

/*9-Item Delinquency Index (without runaway)*/
%let dlnqscl3e = evergun3, evergang3, everdesprp3, evstl50ls3, evstl50pl3, evothprp3, evattack3, evdrugs3, evarrest3;


If nmiss(&dlnqscl3e) le 2 then dlnqscl9_3b= Round((sum (&dlnqscl3e)*9)/(9-(nmiss(&dlnqscl3e))));


Label dlnqscl9_3b = "9-Item Delinquency Index (EVER by R3) (without runaway), 1999";

/*8-Item Delinquency Index (without runaway & arrest)*/
%let dlnqscl3f = evergun3, evergang3, evstl50ls3, evstl50pl3, evothprp3, evattack3, evdrugs3, everdesprp3;


If nmiss(&dlnqscl3f) le 2 then dlnqscl8a_3b= Round((sum (&dlnqscl3f)*8)/(8-(nmiss(&dlnqscl3f))));


Label dlnqscl8a_3b = "8-Item Delinquency Index (EVER by R3) (without runaway & arrest), 1999";

/*8-Item Delinquency Index (without runaway & gangs)*/
%let dlnqscl3ff = evergun3, everdesprp3, evstl50ls3, evstl50pl3, evothprp3, evattack3, evdrugs3, evarrest3;


If nmiss(&dlnqscl3ff) le 2 then dlnqscl8b_3b= Round((sum (&dlnqscl3ff)*8)/(8-(nmiss(&dlnqscl3ff))));


Label dlnqscl8b_3b = "8-Item Delinquency Index (EVER by R3) (without runaway & gangs), 1999";

/*2000*/
/*Run away from home - only asked if R was under 17*/
Array old4(21) R4909700 R4910000 R4910700 R4911700 R4912400 R4912700 R4913000 R4913300 R4913600 R4913900 R4917700

R4910300 R4911000 R4912000 R4912500 R4912800 R4913100 R4913400 R4913700 R4914000 R4917800;

Array new4(21) over17r4 runev4 gunev4 gangev4 propev4 stl50lsev4 stl50plev4 othprpev4 attackev4 drugsev4 arrestev4 

rundlir4 gundli4 gangdli4 propdli4 stl50lsdli4 stl50pldli4 othprpdli4 attackdli4 drugsdli4 arrestdli4;

Do i = 1 to 21;


If old4(i) lt 0 then new4(i) = .;


Else new4(i) = old4(i);

End;

Label runev4 = "R has ever run away, 2000";

Label gunev4 = "R has ever carried a gun, 2000";

Label gangev4 = "R has ever belonged to a gang , 2000";

Label propev4 = "R has ever destroyed property, 2000";

Label stl50lsev4 = "R has ever stolen something worth less than $50, 2000";

Label stl50plev4 = "R has ever stolen something worth more than $50, 2000";

Label othprpev4 = "R has ever coimmitted other property crimes, 2000";

Label attackev4 = "R has ever attacked someone, 2000";

Label drugsev4 = "R has ever sold drugs, 2000";

Label arrestev4 = "R has ever been arrested, 2000";

Label over17r4 = "R was 17 or over at interview, 2000";

Label rundlir4 = "R has run away since DLI, 2000";

Label gundli4 = "R has carried a gun since DLI, 2000";

Label gangdli4 = "R has belonged to a gang since DLI, 2000";

Label propdli4 = "R has destroyed property since DLI, 2000";

Label stl50lsdli4 = "R has stolen something worth less than $50 since DLI, 2000";

Label stl50pldli4 = "R hasstolen something worth more than $50 since DLI, 2000";

Label othprpdli4 = "R has coimmitted other property crimes since DLI, 2000";

Label attackdli4 = "R has attacked someone since DLI, 2000";

Label drugsdli4 = "R has sold drugs since DLI, 2000";

Label arrestdli4 = "R has been arrested since DLI, 2000";

/*Since DLI Only*/
%delinqdli (S1529903, R4909800, runev4, rundlir4, rundli00, 2000, label=run away);

%delinqdli (S1529903, R4910500, gunev4, gundli4, gundli00, 2000, label=carried a gun);

%delinqdli (S1529903, R4912300, propev4, propdli4, despropdli00, 2000, label=destroyed property);

%delinqdli (S1529903, R4912600, stl50lsev4, stl50lsdli4, stl50lsdli00, 2000, label=stolen less than fifty);

%delinqdli (S1529903, R4912900, stl50plev4, stl50pldli4, stl50pldli00, 2000, label=stolen more than fifty);

%delinqdli (S1529903, R4913200, othprpev4,othprpdli4, othprpdli00, 2000, label=commited other prop crimes);

%delinqdli (S1529903, R4913500, attackev4, attackdli4, attackdli00, 2000, label=attacked someone);

%delinqdli (S1529903, R4913800, drugsev4, drugsdli4, drugsdli00, 2000, label=sold drugs);

%delinqdli (S1529903, R4917600, arrestev4, arrestdli4, arrestdli00, 2000, label=been arrested);

If S1529903 = 0 then gangdli00 = .; /*Did not complete R4*/
Else if gangev4 = 0 then gangdli00 = 0; /*Has never done ...*/
Else if gangdli4 = 0 then gangdli00 = 0; /*Has never done ...*/
Else if gangdli4 = 1 then gangdli00 = 1;  /*Had done ... since dli*/
Label gangdli00 = "R has been a member of a gang sinse DLI, 2000";

Format gangdli00 yes10no.;

/*Index*/
/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl4b = gundli00, gangdli00, despropdli00, stl50lsdli00, stl50pldli00, othprpdli00, attackdli00, drugsdli00, rundli00;


If nmiss(&dlnqscl4b) le 2 then dlnqscl9_4= Round((sum (&dlnqscl4b)*9)/(9-(nmiss(&dlnqscl4b))));


Label dlnqscl9_4 = "9-Item Delinquency Index (DLI), (with runaway), 2000";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl4c = gundli00, gangdli00, stl50lsdli00, stl50pldli00, othprpdli00, attackdli00, drugsdli00, despropdli00;


If nmiss(&dlnqscl4c) le 2 then dlnqscl8a_4= Round((sum (&dlnqscl4c)*8)/(8-(nmiss(&dlnqscl4c))));


Label dlnqscl8a_4 = "8-Item Delinquency Index (DLI), (without runaway), 2000";

%everusez (runev4, everrun3, rundli00, everrun4, 2000, label=run away);

%everusez (gunev4, evergun3, gundli00, evergun4, 2000, label=carry a gun);

%everusez (gangev4, evergang3, gangdli00, evergang4, 2000, label=belong to a gang);

%everusez (propev4, everdesprp3, despropdli00, everdesprp4, 2000, label=destroy property);

%everusez (stl50lsev4,evstl50ls3, stl50lsdli00, evstl50ls4, 2000, label=steal less than fifty);

%everusez (stl50plev4, evstl50pl3, stl50pldli00, evstl50pl4, 2000, label=steal more than fifty);

%everusez (othprpev4, evothprp3, othprpdli00, evothprp4, 2000, label=commit other prop crimes);

%everusez (attackev4, evattack3, attackdli00, evattack4, 2000, label=attack someone);

%everusez (drugsev4, evdrugs3, drugsdli00, evdrugs4, 2000, label=sell drugs);

%everusez (arrestev4, evarrest3, arrestdli00, evarrest4, 2000, label=been arrested);

/*Index*/
/*10-Item Delinquency Index (Includes all)*/
%let dlnqscl4d = everrun4, evergun4, evergang4, everdesprp4, evstl50ls4, evstl50pl4, evothprp4, evattack4, evdrugs4, evarrest4;


If nmiss(&dlnqscl4d) le 2 then dlnqscl10_4b= Round((sum (&dlnqscl4d)*10)/(10-(nmiss(&dlnqscl4d))));


Label dlnqscl10_4b = "10-Item Delinquency Index (EVER by R4), 2000";

/*9-Item Delinquency Index (without runaway)*/
%let dlnqscl4e = evergun4, evergang4, everdesprp4, evstl50ls4, evstl50pl4, evothprp4, evattack4, evdrugs4, evarrest4;


If nmiss(&dlnqscl4e) le 2 then dlnqscl9_4b= Round((sum (&dlnqscl4e)*9)/(9-(nmiss(&dlnqscl4e))));


Label dlnqscl9_4b = "9-Item Delinquency Index (EVER by R4) (without runaway), 2000";

/*8-Item Delinquency Index (without runaway & arrest)*/
%let dlnqscl4f = evergun4, evergang4, evstl50ls4, evstl50pl4, evothprp4, evattack4, evdrugs4, everdesprp4;


If nmiss(&dlnqscl4f) le 2 then dlnqscl8a_4b= Round((sum (&dlnqscl4f)*8)/(8-(nmiss(&dlnqscl4f))));


Label dlnqscl8a_4b = "8-Item Delinquency Index (EVER by R4) (without runaway & arrest), 2000";

/*8-Item Delinquency Index (without runaway & gangs)*/
%let dlnqscl4ff = evergun4, everdesprp4, evstl50ls4, evstl50pl4, evothprp4, evattack4, evdrugs4, evarrest4;


If nmiss(&dlnqscl4ff) le 2 then dlnqscl8b_4b= Round((sum (&dlnqscl4ff)*8)/(8-(nmiss(&dlnqscl4ff))));


Label dlnqscl8b_4b = "8-Item Delinquency Index (EVER by R4) (without runaway & gangs), 2000";

/*2001*/
Array old5(12) R6536900 R6537400 R6538100 R6539100 R6539500 R6539700 R6539900 R6540100 R6540300 R6540500 R6544700 R6538800;

Array new5(12) over17r5 rundlir5 gundli5 gangdli5 propdli5 stl50lsdli5 stl50pldli5 othprpdli5 attackdli5 drugsdli5 arrestdli5 gangev5;

Do i = 1 to 12;


If old5(i) lt 0 then new5(i) = .;


Else new5(i) = old5(i);

End;

Label gangev5 = "R has ever belonged to a gang , 2001";

Label over17r5 = "R was 17 or over at interview, 2001";

Label rundlir5 = "R has run away since DLI, 2001";

Label gundli5 = "R has carried a gun since DLI, 2001";

Label gangdli5 = "R has belonged to a gang since DLI, 2001";

Label propdli5 = "R has destroyed property since DLI, 2001";

Label stl50lsdli5 = "R has stolen something worth less than $50 since DLI, 2001";

Label stl50pldli5 = "R has stolen something worth more than $50 since DLI, 2001";

Label othprpdli5 = "R has committed other property crimes since DLI, 2001";

Label attackdli5 = "R has attacked someone since DLI, 2001";

Label drugsdli5 = "R has sold drugs since DLI, 2001";

Label arrestdli5 = "R has been arrested since DLI, 2001";

%delinqdli2 (S1529904, rundlir5, rundli01, 2001, label=run away);

%delinqdli2 (S1529904, gundli5, gundli01, 2001, label=carried a gun);

%delinqdli2 (S1529904, propdli5, despropdli01, 2001, label=destroyed property);

%delinqdli2 (S1529904, stl50lsdli5, stl50lsdli01, 2001, label=stolen less than fifty);

%delinqdli2 (S1529904, stl50pldli5, stl50pldli01, 2001, label=stolen more than fifty);

%delinqdli2 (S1529904,othprpdli5, othprpdli01, 2001, label=commited other prop crimes);

%delinqdli2 (S1529904, attackdli5, attackdli01, 2001, label=attacked someone);

%delinqdli2 (S1529904, drugsdli5, drugsdli01, 2001, label=sold drugs);

%delinqdli2 (S1529904, arrestdli5, arrestdli01, 2001, label=been arrested);

If S1529904 = 0 then gangdli01 = .; /*Did not complete R5*/
Else if gangev5 = 0 then gangdli01 = 0; /*Has never done ...*/
Else if gangdli5 = 0 then gangdli01 = 0; /*Has never done ...*/
Else if gangdli5 = 1 then gangdli01 = 1;  /*Had done ... since dli*/
Label gangdli01 = "R has been a member of a gang sinse DLI, 2001";

Format gangdli01 yes10no.;

/*Index*/
/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl5b = gundli01, gangdli01, despropdli01, stl50lsdli01, stl50pldli01, othprpdli01, attackdli01, drugsdli01, rundli01;


If nmiss(&dlnqscl5b) le 2 then dlnqscl9_5= Round((sum (&dlnqscl5b)*9)/(9-(nmiss(&dlnqscl5b))));


Label dlnqscl9_5 = "9-Item Delinquency Index (DLI), (with runaway), 2001";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl5c = gundli01, gangdli01, stl50lsdli01, stl50pldli01, othprpdli01, attackdli01, drugsdli01, despropdli01;


If nmiss(&dlnqscl5c) le 2 then dlnqscl8a_5= Round((sum (&dlnqscl5c)*8)/(8-(nmiss(&dlnqscl5c))));


Label dlnqscl8a_5 = "8-Item Delinquency Index (DLI), (without runaway), 2001";

%everusez2 (everrun4, rundli01, everrun5, 2001, label=run away);

%everusez2 (evergun4, gundli01, evergun5, 2001, label=carry a gun);

%everusez (gangev5, evergang4, gangdli01, evergang5, 2001, label=belonged to a gang);

%everusez2 (everdesprp4, despropdli01, everdesprp5, 2001, label=destroy property);

%everusez2 (evstl50ls4, stl50lsdli01, evstl50ls5, 2001, label=steal less than fifty);

%everusez2 (evstl50pl4, stl50pldli01, evstl50pl5, 2001, label=steal more than fifty);

%everusez2 (evothprp4, othprpdli01, evothprp5, 2001, label=commit other prop crimes);

%everusez2 (evattack4, attackdli01, evattack5, 2001, label=attack someone);

%everusez2 (evdrugs4, drugsdli01, evdrugs5, 2001, label=sell drugs);

%everusez2 (evarrest4, arrestdli01, evarrest5, 2001, label=been arrested);

/*Index*/
/*9-Item Delinquency Index (withrunaway)*/
%let dlnqscl5e = evergun5, evergang5, everdesprp5, evstl50ls5, evstl50pl5, evothprp5, evattack5, evdrugs5, everrun5;


If nmiss(&dlnqscl5e) le 2 then dlnqscl9_5b= Round((sum (&dlnqscl5e)*9)/(9-(nmiss(&dlnqscl5e))));


Label dlnqscl9_5b = "9-Item Delinquency Index (EVER by R5) (with runaway), 2001";

/*8-Item Delinquency Index (without runaway & arrest)*/
%let dlnqscl5f = evergun5, evergang5, evstl50ls5, evstl50pl5, evothprp5, evattack5, evdrugs5, everdesprp5;


If nmiss(&dlnqscl5f) le 2 then dlnqscl8a_5b= Round((sum (&dlnqscl5f)*8)/(8-(nmiss(&dlnqscl5f))));


Label dlnqscl8a_5b = "8-Item Delinquency Index (EVER by R5) (without runaway), 2001";

/*2002*/
/*Run away from home - only asked if R was under 17*/
/*Starting in 2001, except for gang membership respondents were not asked, "ever". They were only asked the "DLI" question.*/
Array old6(11) S0924500 S0925000 S0925600 S0926600 S0926900 S0927100 S0927300 S0927500 S0927800 S0928000 S0926300;

Array new6(11) over17r6 rundlir6 gundli6 gangdli6 propdli6 stl50lsdli6 stl50pldli6 othprpdli6 attackdli6 drugsdli6  gangev6;

Do i = 1 to 11;


If old6(i) lt 0 then new6(i) = .;


Else new6(i) = old6(i);

End;

Label gangev6 = "R has belonged to a gang , 2002";

Label over17r6 = "R was 17 or over at interview, 2002";

Label rundlir6 = "R has run away since DLI, 2002";

Label gundli6 = "R has carried a gun since DLI, 2002";

Label gangdli6 = "R has belonged to a gang since DLI, 2002";

Label propdli6 = "R has destroyed property since DLI, 2002";

Label stl50lsdli6 = "R has stolen something worth less than $50 since DLI, 2002";

Label stl50pldli6 = "R hasstolen something worth more than $50 since DLI, 2002";

Label othprpdli6 = "R has coimmitted other property crimes since DLI, 2002";

Label attackdli6 = "R has attacked someone since DLI, 2002";

Label drugsdli6 = "R has sold drugs since DLI, 2002";

%delinqdli2 (S1529905, rundlir6, rundli02, 2002, label=run away);

%delinqdli2 (S1529905, gundli6, gundli02, 2002, label=carried a gun);

%delinqdli2 (S1529905, propdli6, despropdli02, 2002, label=destroyed property);

%delinqdli2 (S1529905, stl50lsdli6, stl50lsdli02, 2002, label=stolen less than fifty);

%delinqdli2 (S1529905, stl50pldli6, stl50pldli02, 2002, label=stolen more than fifty);

%delinqdli2 (S1529905, othprpdli6, othprpdli02, 2002, label=commited other prop crimes);

%delinqdli2 (S1529905, attackdli6, attackdli02, 2002, label=attacked someone);

%delinqdli2 (S1529905, drugsdli6, drugsdli02, 2002, label=sold drugs);

If S1529905 = 0 then gangdli02 = .; /*Did not complete R6*/
Else if gangev6 = 0 then gangdli02 = 0; /*Has never done ...*/
Else if gangdli6 = 0 then gangdli02 = 0; /*Has never done ...*/
Else if gangdli6 = 1 then gangdli02 = 1;  /*Had done ... since dli*/
Label gangdli02 = "R has been a member of a gang sinse DLI, 2002";

Format gangdli02 yes10no.;

/*Index*/
/*9-Item Delinquency Index (With Runaway)*/
%let dlnqscl6b = gundli02, gangdli02, despropdli02, stl50lsdli02, stl50pldli02, othprpdli02, attackdli02, drugsdli02, rundli02;


If nmiss(&dlnqscl6b) le 2 then dlnqscl9_6= Round((sum (&dlnqscl6b)*9)/(9-(nmiss(&dlnqscl6b))));


Label dlnqscl9_6 = "9-Item Delinquency Index (DLI), (with runaway), 2002";

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl6c = gundli02, gangdli02, stl50lsdli02, stl50pldli02, othprpdli02, attackdli02, drugsdli02, despropdli02;


If nmiss(&dlnqscl6c) le 2 then dlnqscl8a_6= Round((sum (&dlnqscl6c)*8)/(8-(nmiss(&dlnqscl6c))));


Label dlnqscl8a_6 = "8-Item Delinquency Index (DLI), (without runaway), 2002";

%everusez2 (everrun5, rundli02, everrun6, 2002, label=run away);

%everusez2 (evergun5, gundli02, evergun6, 2002, label=carry a gun);

%everusez (gangev6, evergang5, gangdli02, evergang6, 2002, label=belonged to a gang);

%everusez2 (everdesprp5, despropdli02, everdesprp6, 2002, label=destroy property);

%everusez2 (evstl50ls5, stl50lsdli02, evstl50ls6, 2002, label=steal less than fifty);

%everusez2 (evstl50pl5, stl50pldli02, evstl50pl6, 2002, label=steal more than fifty);

%everusez2 (evothprp5, othprpdli02, evothprp6, 2002, label=commit other prop crimes);

%everusez2 (evattack5, attackdli02, evattack6, 2002, label=attack someone);

%everusez2 (evdrugs5, drugsdli02, evdrugs6, 2002, label=sell drugs);

/*Index*/
/*9-Item Delinquency Index (with runaway)*/
%let dlnqscl6e = evergun6, evergang6, everdesprp6, evstl50ls6, evstl50pl6, evothprp6, evattack6, evdrugs6, everrun6;


If nmiss(&dlnqscl6e) le 2 then dlnqscl9_6b= Round((sum (&dlnqscl6e)*9)/(9-(nmiss(&dlnqscl6e))));


Label dlnqscl9_6b = "9-Item Delinquency Index (EVER by R6) (with runaway), 2002";

/*8-Item Delinquency Index (without runaway)*/
%let dlnqscl6f = evergun6, evergang6, evstl50ls6, evstl50pl6, evothprp6, evattack6, evdrugs6, everdesprp6;


If nmiss(&dlnqscl6f) le 2 then dlnqscl8a_6b= Round((sum (&dlnqscl6f)*8)/(8-(nmiss(&dlnqscl6f))));


Label dlnqscl8a_6b = "8-Item Delinquency Index (EVER by R6) (without runaway), 2002";

/*2003*/
/*Run away from home - only asked if R was under 17*/
/*Starting in 2001, except for gang membership respondents were not asked, "ever". They were only asked the "DLI" question.*/
Array old7(10)   S2991000 S2991900 S2991200 S2992200 S2992400 S2992600 S2992900 S2993400 S2993800 S2994000 ;

Array new7(10)  gunev7 gangev7 gundli7 gangdli7 propdli7 stl50lsdli7 stl50pldli7 othprpdli7 attackdli7 drugsdli7 ;

Do i = 1 to 10;


If old7(i) lt 0 then new7(i) = .;


Else new7(i) = old7(i);

End;

Label gunev7 = "R has ever carried a gun , 2003";

Label gangev7 = "R has belonged to a gang , 2003";

Label gundli7 = "R has carried a gun since DLI, 2003";

Label gangdli7 = "R has belonged to a gang since DLI, 2003";

Label propdli7 = "R has destroyed property since DLI, 2003";

Label stl50lsdli7 = "R has stolen something worth less than $50 since DLI, 2003";

Label stl50pldli7 = "R has stolen something worth more than $50 since DLI, 2003";

Label othprpdli7 = "R has coimmitted other property crimes since DLI, 2003";

Label attackdli7 = "R has attacked someone since DLI, 2003";

Label drugsdli7 = "R has sold drugs since DLI, 2003";

%delinqdli (S1529906, S2990800, gunev7, gundli7, gundli03, 2003, label=carried a gun);

%delinqdli2 (S1529906, propdli7, despropdli03, 2003, label=destroyed property);

%delinqdli2 (S1529906, stl50lsdli7, stl50lsdli03, 2003, label=stolen less than fifty);

%delinqdli2 (S1529906, stl50pldli7, stl50pldli03, 2003, label=stolen more than fifty);

%delinqdli2 (S1529906, othprpdli7, othprpdli03, 2003, label=commited other prop crimes);

%delinqdli2 (S1529906, attackdli7, attackdli03, 2003, label=attacked someone);

%delinqdli2 (S1529906, drugsdli7, drugsdli03, 2003, label=sold drugs);

If gangev7 = 0 then gangdli03 = 0; /*Has never done ...*/
Else if gangdli7 = 0 then gangdli03 = 0; /*Has never done ...*/
Else if gangdli7 = 1 then gangdli03 = 1;  /*Had done ... since dli*/
Label gangdli03 = "R has been a member of a gang sinse DLI, 2003";

Format gangdli03 yes10no.;

%everusez2 (everrun6, rundli03, everrun7, 2003, label=run away);

%everusez2 (evergun6, gundli03, evergun7, 2003, label=carry a gun);

%everusez (gangev7, evergang6, gangdli03, evergang7, 2003, label=belonged to a gang);

%everusez2 (everdesprp6, despropdli03, everdesprp7, 2003, label=destroy property);

%everusez2 (evstl50ls6, stl50lsdli03, evstl50ls7, 2003, label=steal less than fifty);

%everusez2 (evstl50pl6, stl50pldli03, evstl50pl7, 2003, label=steal more than fifty);

%everusez2 (evothprp6, othprpdli03, evothprp7, 2003, label=commit other prop crimes);

%everusez2 (evattack6, attackdli03, evattack7, 2003, label=attack someone);

%everusez2 (evdrugs6, drugsdli03, evdrugs7, 2003, label=sell drugs);

rundli03 = .;

Label rundli03 = "R has run away since DLI, 2003";

Format rundli03 yes10no.;

/*Index*/
dlnqscl9_7 = .;

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl7c = gundli03, gangdli03, stl50lsdli03, stl50pldli03, othprpdli03, attackdli03, drugsdli03, despropdli03;


If nmiss(&dlnqscl7c) le 2 then dlnqscl8a_7= Round((sum (&dlnqscl7c)*8)/(8-(nmiss(&dlnqscl7c))));


Label dlnqscl8a_7 = "8-Item Delinquency Index (DLI), (without runaway), 2003";

/*2004*/
Array old8(10)  S4686200 S4687100 S4686400 S4687400 S4687700 S4687900 S4688200 S4688700 S4689100 S4689300;

Array new8(10)  gunev8 gangev8 gundli8 gangdli8 propdli8 stl50lsdli8 stl50pldli8 othprpdli8 attackdli8 drugsdli8 ;

Do i = 1 to 10;


If old8(i) lt 0 then new7(i) = .;


Else new8(i) = old7(i);

End;

Label gunev8 = "R has ever carried a gun , 2004";

Label gangev8 = "R has belonged to a gang , 2004";

Label gundli8 = "R has carried a gun since DLI, 2004";

Label gangdli8 = "R has belonged to a gang since DLI, 2004";

Label propdli8 = "R has destroyed property since DLI, 2004";

Label stl50lsdli8 = "R has stolen something worth less than $50 since DLI, 2004";

Label stl50pldli8 = "R has stolen something worth more than $50 since DLI, 2004";

Label othprpdli8 = "R has committed other property crimes since DLI, 2004";

Label attackdli8 = "R has attacked someone since DLI, 2004";

Label drugsdli8 = "R has sold drugs since DLI, 2004";

%delinqdli (S1529907, S4686000, gunev8, gundli8, gundli04, 2004, label=carried a gun);

%delinqdli2 (S1529907, propdli8, despropdli04, 2004, label=destroyed property);

%delinqdli2 (S1529907, stl50lsdli8, stl50lsdli04, 2004, label=stolen less than fifty);

%delinqdli2 (S1529907, stl50pldli8, stl50pldli04, 2004, label=stolen more than fifty);

%delinqdli2 (S1529907, othprpdli8, othprpdli04, 2004, label=commited other prop crimes);

%delinqdli2 (S1529907, attackdli8, attackdli04, 2004, label=attacked someone);

%delinqdli2 (S1529907, drugsdli8, drugsdli04, 2004, label=sold drugs);

If gangev8 = 0 then gangdli04 = 0; /*Has never done ...*/
Else if gangdli8 = 0 then gangdli04 = 0; /*Has never done ...*/
Else if gangdli8 = 1 then gangdli04 = 1;  /*Had done ... since dli*/
Label gangdli04 = "R has been a member of a gang sinse DLI, 2004";

Format gangdli04 yes10no.;

%everusez2 (everrun7, rundli04, everrun8, 2004, label=run away);

%everusez2 (evergun7, gundli04, evergun8, 2004, label=carry a gun);

%everusez (gangev8, evergang7, gangdli04, evergang8, 2004, label=belonged to a gang);

%everusez2 (everdesprp7, despropdli04, everdesprp8, 2004, label=destroy property);

%everusez2 (evstl50ls7, stl50lsdli04, evstl50ls8, 2004, label=steal less than fifty);

%everusez2 (evstl50pl7, stl50pldli04, evstl50pl8, 2004, label=steal more than fifty);

%everusez2 (evothprp7, othprpdli04, evothprp8, 2004, label=commit other prop crimes);

%everusez2 (evattack7, attackdli04, evattack8, 2004, label=attack someone);

%everusez2 (evdrugs7, drugsdli04, evdrugs8, 2004, label=sell drugs);

rundli04 = .;

Label rundli04 = "R has run away since DLI, 2004";

Format rundli04 yes10no.;

/*Index*/
dlnqscl10_8 = .;

/*8-Item Delinquency Index (Without Runaway)*/
%let dlnqscl7c = gundli04, gangdli04, stl50lsdli04, stl50pldli04, othprpdli04, attackdli04, drugsdli04, despropdli04;


If nmiss(&dlnqscl7c) le 2 then dlnqscl8a_7= Round((sum (&dlnqscl7c)*8)/(8-(nmiss(&dlnqscl7c))));


Label dlnqscl8a_7 = "8-Item Delinquency Index (DLI), (without runaway), 2004";

Array delvars_rnd1(11) runawy1 gun1 gang1 destprop1 steal50less1 steal50plus1 othprop1 attack1 selldrgs1 

dlnqscl9_1 dlnqscl8a_1;

Array delvars_rnd2(11) rundli98 gundli98 gangdli98 despropdli98 stl50lsdli98 stl50pldli98 stlprpdli98 attackdli98 drugsdli98  

dlnqscl9_2 dlnqscl8a_2;

Array delvars_rnd3(11) rundli99 gundli99 gangdli99 despropdli99 stl50lsdli99 stl50pldli99 stlprpdli99 attackdli99 drugsdli99 

dlnqscl9_3 dlnqscl8a_3;

Array delvars_rnd4(11) rundli00 gundli00 gangdli00 despropdli00 stl50lsdli00 stl50pldli00 stlprpdli00 attackdli00 drugsdli00 

dlnqscl9_4 dlnqscl8a_4;

Array delvars_rnd5(11) rundli01 gundli01 gangdli01 despropdli01 stl50lsdli01 stl50pldli01 stlprpdli01 attackdli01 drugsdli01

dlnqscl9_5 dlnqscl8a_5;

Array delvars_rnd6(11) rundli02 gundli02 gangdli02 despropdli02 stl50lsdli02 stl50pldli02 stlprpdli02 attackdli02 drugsdli02

dlnqscl9_6 dlnqscl8a_6;

Array delvars_rnd7(11) rundli03 gundli03 gangdli03 despropdli03 stl50lsdli03 stl50pldli03 stlprpdli03 attackdli03 drugsdli03 

dlnqscl9_7 dlnqscl8a_7;

Array delvars_rnd8(11) rundli04 gundli04 gangdli04 despropdli04 stl50lsdli04 stl50pldli04 stlprpdli04 attackdli04 drugsdli04 

dlnqscl9_8 dlnqscl8a_8;

Array delvars_12(11) run12 gun12 gang12 desprop12 stl50ls12 stl50pl12 othprp12 attack12 drugs12

dlnqscl9_12 dlnqscl8a_12;

Array delvars_13(11) run13 gun13 gang13 desprop13 stl50ls13 stl50pl13 othprp13 attack13 drugs13

dlnqscl9_13 dlnqscl8a_13;

Array delvars_14(11) run14 gun14 gang14 desprop14 stl50ls14 stl50pl14 othprp14 attack14 drugs14

dlnqscl9_14 dlnqscl8a_14;

Array delvars_15(11) run15 gun15 gang15 desprop15 stl50ls15 stl50pl15 othprp15 attack15 drugs15

 dlnqscl9_15 dlnqscl8a_15;

Array delvars_16(11) run16 gun16 gang16 desprop16 stl50ls16 stl50pl16 othprp16 attack16 drugs16

 dlnqscl9_16 dlnqscl8a_16;

Array delvars_17(11) run17 gun17 gang17 desprop17 stl50ls17 stl50pl17 othprp17 attack17 drugs17

dlnqscl9_17 dlnqscl8a_17;

Array delvars_18(11) run18 gun18 gang18 desprop18 stl50ls18 stl50pl18 othprp18 attack18 drugs18

 dlnqscl9_18 dlnqscl8a_18;

Array delvars_19(11) run19 gun19 gang19 desprop19 stl50ls19 stl50pl19 othprp19 attack19 drugs19

 dlnqscl9_19 dlnqscl8a_19;

Array delvars_20(11) run20 gun20 gang20 desprop20 stl50ls20 stl50pl20 othprp20 attack20 drugs20

 dlnqscl9_20 dlnqscl8a_20;

Array delvars_21(11) run21 gun21 gang21 desprop21 stl50ls21 stl50pl21 othprp21 attack21 drugs20

 dlnqscl9_21 dlnqscl8a_21;

Array delvars_22(11) run22 gun22 gang22 desprop22 stl50ls22 stl50pl22 othprp22 attack22 drugs22 

dlnqscl9_22 dlnqscl8a_22;

Array delvars_23(11) run23 gun23 gang23 desprop23 stl50ls23 stl50pl23 othprp23 attack23 drugs23 

 dlnqscl9_23 dlnqscl8a_23;

Array delvars_24(11) run24 gun24 gang24 desprop24 stl50ls24 stl50pl24 othprp24 attack24 drugs24 

dlnqscl9_24 dlnqscl8a_24;

%macro ageyrs1 (agevar, age, delagearray);


Do i = 1 to 8 until (agenew(i) = &age);



If agenew(i) = &age then &agevar = i;


End;


Do i = 1 to 11;



If &agevar = 1 then &delagearray(i) = delvars_rnd1(i);



If &agevar = 2 then &delagearray(i) = delvars_rnd2(i);



If &agevar = 3 then &delagearray(i) = delvars_rnd3(i);



If &agevar = 4 then &delagearray(i) = delvars_rnd4(i);



If &agevar = 5 then &delagearray(i) = delvars_rnd5(i);



If &agevar = 6 then &delagearray(i) = delvars_rnd6(i);



If &agevar = 7 then &delagearray(i) = delvars_rnd7(i);



If &agevar = 8 then &delagearray(i) = delvars_rnd8(i);


End;

%mend;/**/
%ageyrs1 (a12, 12, delvars_12);

%ageyrs1 (a13, 13, delvars_13);

%ageyrs1 (a14, 14, delvars_14);

%ageyrs1 (a15, 15, delvars_15);

%ageyrs1 (a16, 16, delvars_16);

%ageyrs1 (a17, 17, delvars_17);

%ageyrs1 (a18, 18, delvars_18);

%ageyrs1 (a19, 19, delvars_19);

%ageyrs1 (a20, 20, delvars_20);

%ageyrs1 (a21, 21, delvars_21);

%ageyrs1 (a22, 22, delvars_22);

%ageyrs1 (a23, 23, delvars_23);

%ageyrs1 (a24, 24, delvars_24);

format run16 gun16 gang16 desprop16 stl50ls16 stl50pl16 othprp16 attack16 drugs16 

run20 gun20 gang20 desprop20 stl50ls20 stl50pl20 othprp20 attack20 drugs20 yes10no.;

Label dlnqscl9_16 = "9-Item Delinquency Index (DLI) at age 16 (with runaway)";

Label dlnqscl9_20 = "9-Item Delinquency Index (DLI) at age 20 (with runaway)";

Label dlnqscl8a_16 = "8-Item Delinquency Index (DLI) at age 16 (without runaway)";

label dlnqscl8a_20= "8-Item Delinquency Index (DLI) at age 20 (without runaway)";

Label run16 = "R has run away since DLI, at age 16";

Label run20 = "R has run away since DLI, at age 20";

Label gun16 = "R has carried a gun since DLI, at age 16";

label gun20 = "R has carried a gun since DLI, at age 20";

label gang16 = "R has belonged to a gang since DLI, at age 16";

label gang20 = "R has belonged to a gang since DLI, at age 20";

label desprop16 = "R has destroyed property since DLI, at age 16";

label desprop20 = "R has destroyed property since DLI, at age 20";

label stl50ls16 = "R has stolen something worth less than $50 since DLI, at age 16";

label stl50ls20 = "R has stolen something worth less than $50 since DLI, at age 20";

label stl50pl16 = "R has stolen something worth more than $50 since DLI, at age 16"; 

label stl50pl20 = "R has stolen something worth more than $50 since DLI, at age 20"; 

label othprp16 = "R has coimmitted other property crimes since DLI, at age 16";

label othprp20 = "R has coimmitted other property crimes since DLI, at age 20";

label attack16 = "R has attacked someone since DLI, at age 16";

label attack20 = "R has attacked someone since DLI, at age 20";

label drugs16 = "R has sold drugs since DLI, at age 16";

label drugs20 = "R has sold drugs since DLI, at age 20";

Delinquency Index at Age 16

· Measured on an 8-point scale

· Distribution:

· Skewed to the right with the majority of respondents displaying low levels of delinquency

· 429 missing cases

· Mean = .78

· Standard Deviation = 1.38

· SAS Code:  dlnqscl8a_16
Ever Arrested by Age 20

· Indicates whether or not respondent was arrested before the age of 20

· Frequencies:

· 2809 (84.71%) of respondents reported that they were not arrested before age 20
· 499 (15.05%) of respondents reported that they were arrested before age 20

· 8 missing cases

· SAS Code:  evarrest20
Substance Use
*** NOTE:  The following is the SAS code for all of the substance abuse variables.  Under each variable described in the outline, I have noted the applicable outcome variable.

proc format library=library;   /*Formats*/

value smoke


0 = "0: Does not smoke/not in last 30 days/less than 1 per day"

1 = "1:  Smokes 1-5 cigarettes/day"

2 = "2: Smokes more than 5 cigarettes/day";

value smoke_b


0 = "0: Does not smoke/not in last 30 days/less than 1 per day"

1 = "1:  Smokes < half a pack/day"

2 = "2: Smokes half a pack or more/day";

value yes10no


1 = '1: yes'

0 = '0: no';

Run; 
/******/
/*******************************MACROS***********************/
%macro everuse (inround, noanswer, crndev, evvar,dlivar,newvar, year, label= );


If &noanswer = 1 then do; /*R didn't answer q in previous round*/


If &inround = 0 then &newvar = .; /*Did not complete current round*/


Else if (&crndev = 0) then &newvar = 0; /*Never used...*/


Else if (&crndev = 1) then &newvar = 1; /* Ever used...*/


End;


Else If (&noanswer = 0) or (&noanswer = .C) then do; /*Had answered questions*/


If &inround = 0 then &newvar = .; /*Did not complete Round*/


Else If &evvar = 1 then &newvar = 1; /*Said ever in prev round*/


Else If (&evvar = 0) and (&dlivar = .) then &newvar = .; /*Coding never from prev round and miss on dli current round as missing*/


Else if (&evvar = 0) and (&dlivar = 0) then &newvar = 0; /*Never used ...*/


Else if (&evvar = 0) and (&dlivar = 1) then &newvar= 1; /*Started since dli*/


Else If (&evvar = .) and (&dlivar = 1) then &newvar = 1; /*Missing from prev round but yes to DLI*/
End;


Label &newvar = "R has &label, &year";

%mend;

%macro everusem (inround, noanswer, crndev, evvar,dlivar,newvar, year, label= );


If &inround = 0 then &newvar = .; /*Did not complete Round*/

Else If &inround = 1 then do; 



If &evvar = 1 then &newvar = 1; /*Ever used from prev round*/


If &noanswer = 1  then do;/*R didn't answer q in previous round*/



If (&crndev = 0) then &newvar = 0; /*Never used...*/



Else if (&crndev = 1) then &newvar = 1; /* Ever used...*/



End;




If (&evvar = 0) and (&dlivar = .) then &newvar = .; /*Coding never from prev round and miss on dli current round as missing*/


Else if (&evvar = 0) and (&dlivar = 0) then &newvar = 0; /*Never used ...*/


Else if (&evvar = 0) and (&dlivar = 1) then &newvar= 1; /*Started since dli*/


Else If (&evvar = .) and (&dlivar = 1) then &newvar = 1; /*Missing from prev round but yes to DLI*/
End;


Label &newvar = "R has &label, &year";

%mend;

%macro everusej (inround, crndev, evvar, dlivar,newvar, year, label= );


If &inround = 0 then &newvar = .; /*Did not complete Round*/

If &evvar = 1 then &newvar = 1; /*Ever used from prev round*/


If &evvar = . then do;/*Ever missing from prev round*/



If (&crndev = 1) then &newvar = 1; /* Ever used...*/



Else If (&crndev = 0) then &newvar = 0; /*Never used...*/



Else If (&crndev = .) then &newvar = &dlivar; /*Missing from prev & current round, defer to DLI*/


End;




If (&evvar = 0) and (&dlivar = .) then &newvar = .; /*Coding never from prev round and miss on dli current round as missing*/


Else if (&evvar = 0) and (&dlivar = 0) then &newvar = 0; /*Never used ...*/


Else if (&evvar = 0) and (&dlivar = 1) then &newvar= 1; /*Started since dli*/

Label &newvar = "R has &label, &year";

%mend;

%macro everusez (crndev, evvar, dlivar,newvar, year, label= );



If &evvar = 1 then &newvar = 1; /*Ever used from prev round*/


If &evvar = . then do;/*Ever missing from prev round*/



If (&crndev = 1) then &newvar = 1; /* Ever used...*/



Else If (&crndev = 0) then &newvar = 0; /*Never used...*/



Else If (&crndev = .) then &newvar = &dlivar; /*Missing from prev round but yes to DLI*/


End;




If (&evvar = 0) and (&dlivar = .) then &newvar = .; /*Coding never from prev round and miss on dli current round as missing*/


Else if (&evvar = 0) and (&dlivar = 0) then &newvar = 0; /*Never used ...*/


Else if (&evvar = 0) and (&dlivar = 1) then &newvar= 1; /*Started since dli*/

Label &newvar = "R has &label, &year";

%mend;

/*2nd version of corrected ever macro for use in rounds without current ever use question*/
%macro everuse2 (inround,lastrnd, dlivar, newvar, year, label= );



If &inround = 0 then &newvar = .; /*Did not complete current round*/


If &inround = 1 then do; /*Did complete Round*/




If (&lastrnd = 1) or (&dlivar = 1) then &newvar = 1; /*ever last round or said yes to dli*/




Else if (&lastrnd = 0) and (&dlivar = 0) then &newvar = 0; /*never last round and no to dli*/




Else if (&lastrnd = .) then &newvar = &dlivar;




end;



Label &newvar = "R has &label, &year";

%mend;

%macro everusez2 (lastrnd, dlivar, newvar, year, label= );




If (&lastrnd = 1) or (&dlivar = 1) then &newvar = 1; /*ever last round or said yes to dli*/



Else if (&lastrnd = 0) and (&dlivar = 0) then &newvar = 0; /*never last round and no to dli*/



Else if (&lastrnd = .) then &newvar = &dlivar;



Label &newvar = "R has &label, &year";

%mend;

/*Since DLI Only*/
%macro delinqdli (inround, noanswer, evvar, dlivar, newvar, year, label= );


If &noanswer = 1 then do;



If &inround = 0 then &newvar = .; /*Did not complete R2*/


Else if (&evvar = 0) then &newvar = 0; /*Has never done ...*/


Else if &evvar = 1 then do;




If &dlivar = . then &newvar = .;




Else if &dlivar = 0 then &newvar = 0; /*Has never done ...*/



Else if &dlivar = 1 then &newvar  = 1; /*Had done ... since dli*/


End;


End;


If (&noanswer = 0) or (&noanswer = -3) then do;



If &inround = 0 then &newvar = .; /*Did not complete R2*/


Else if &dlivar = . then &newvar = .;



Else if &dlivar = 0 then &newvar = 0; /*Has never done ...*/


Else if &dlivar = 1 then &newvar  = 1; /*Had done ... since dli*/

End;


Label &newvar = "R has &label since DLI, &year";


Format &newvar yes10no.;

%mend;

%macro delinqdli2 (inround, dlivar, newvar, year, label= );


If &inround = 0 then &newvar = .; /*Did not complete R2*/

Else if &dlivar = . then &newvar = .;


Else if &dlivar = 0 then &newvar = 0; /*Has never done ...*/

Else if &dlivar = 1 then &newvar  = 1; /*Had done ... since dli*/

Label &newvar = "R has &label since DLI, &year";


Format &newvar yes10no.;

%mend;

%macro howold (lstrndage, crndev, crndage, ever, lastev, agevar, newvar, year, label=);

If &lstrndage GT 0 then &newvar = &lstrndage ; /*Reported age in first round or round prev reported*/

Else if &lastev = 0 then do; /*never as of last round*/


If &ever = 1 then &newvar = &agevar; /*people who have begun since last round*/


If &ever = 0 then &newvar = .n; /*still never*/


If &ever = . then &newvar = .; /*missing*/


end;


Else if &lastev = . then do; /*missing as of last round*/


If &ever = 1 then &newvar = &agevar; /*people who have begun since last round*/


If &ever = 0 then &newvar = .n; /*never*/


If &ever = . then &newvar = .; /*missing*/


end;


Else If &lstrndage =. then do;



If &crndage GT 0 then &newvar = &crndage; /*Agevar reported at current round*/


Else if &crndev = 0 then &newvar =.n; /*never*/


End;

Else &newvar =.;

Label &newvar = "Age of first &label, &year";

%mend;

%macro howold2 (lstrndage, ever, lastev, agevar, newvar, year, label=);

If &lstrndage GT 0 then &newvar = &lstrndage ; /*Reported age in first round or round prev reported*/

Else if &lastev = 0 then do; /*never as of last round*/


If &ever = 1 then &newvar = &agevar; /*people who have begun since last round*/


If &ever = 0 then &newvar = .n; /*still never*/


If &ever = . then &newvar = .; /*missing*/


end;


Else if &lastev = . then do; /*missing as of last round*/


If &ever = 1 then &newvar = &agevar; /*people who have begun since last round*/


If &ever = 0 then &newvar = .n; /*never*/


If &ever = . then &newvar = .; /*missing*/


end;

Else &newvar =.;

Label &newvar = "Age of first &label, &year";

%mend;

/*Heavy/light daily smoking - 10 or more*/
%macro halfpack (smokedli, daysmoked, cigsmoked, newvar, year);

If (&smokedli = .) and (&daysmoked = .) then &newvar = .;

Else if &smokedli = 0 then &newvar = 0;

Else if (&smokedli = 1) and (&daysmoked = 0) then &newvar = 0;

Else if (&smokedli = 1) and (&cigsmoked = 0) then &newvar = 0;

Else if  &cigsmoked = . then &newvar = .;

Else if (&smokedli = 1) and (1 le &cigsmoked le 9) then &newvar = 1;

Else if (&smokedli = 1) and ( &cigsmoked ge 10) then &newvar = 2;

Label &newvar = "R is heavy/light smoker, &year";

Format &newvar smoke_b.;

%mend;

/*Number of days in the past 30 days R drank 5+ drinks*/
%macro bingedays (drinkdli, newvar, drink30, bingeddays, year);

If &drinkdli= 0 then &newvar = 0;

Else if (&drinkdli= 1) and (&drink30 = 0) then &newvar = 0; /*Hasn't drank in last 30 days*/
Else if  &bingeddays = 0 then &newvar = 0;

Else if &bingeddays gt 0 then &newvar = &bingeddays;

Label &newvar = "Number of days R has had 5+ drinks at least one day in past 30 days, &year";

%mend;

/*Any binge drinking in the past 30 days*/
%macro anybinge (drinkdli, bingedays, drink30, newvar, year);

If &drinkdli = 0 then &newvar = 0;

Else if (&drinkdli = 1) and (&drink30 = 0) then &newvar = 0; /*Hasn't drank in last 30 days*/
Else if  &bingedays = 0 then &newvar = 0;

Else if &bingedays gt 0 then &newvar = 1;

Label &newvar = "R has had 5+ drinks at least one day in past 30 days, &year";

format &newvar yes10no.;

%mend;

/******************AGE AT ROUND**********/
/*Used in substance use variables*/
/*Used for Age by variables*/
Array ageold(8) R1194100 R2553500 R3876300 R5453700 R7216000 S1531400 S2001000 S3801100;

Array agenew(8) ager1 ager2 ager3 ager4 ager5 ager6 ager7 ager8;

Do i =  1 to 8;


If ageold(i) lt 0 then agenew(i) = .;


Else agenew(i) = ageold(i);

End;

/************Substance Abuse Index*****************************/
/*1997*/
/*Note: Added a question about cocaine in 1998, so the index goes from 3-item to 4-item index in'98*/
Array oldvar1(9) R0357900 R0358100 R0358300 R0358900 R0358700 R0358200 R0358000 R0358400 R0359000;

Array newvar1(9) smoke1 smoke301 drink/*1*/ pot1 /*bngdrnk1*/ bngdrnkd numcig1 frstsmk1 frstdrk1 frstpot1;

Do i = 1 to 9;


If oldvar1(i) lt 0 then newvar1(i) = .;


Else newvar1(i) = oldvar1(i);

End;

Label smoke1 = "R has ever smoked, 1997";

Label smoke301 = "# of days smoked cigarettes  in last 30 days, 1997";

Label drink1 = "R has ever drank alcohol, 1997";

Label pot1 = "R had ever used marijuana, 1997";

Label bngdrnkd = "# of days R had 5+ drinks per day in last 30 days, 1997";

Label numcig1 = "Number of cigarettes/day in last 30 days, 1997";

Label frstsmk1 = "Age of first cigarette, reported 1997";

Label frstdrk1 = "Age of first drink, reported 1997";

Label frstpot1 = "Age of first marijuana use, reported 1997";

/*Index*/
/*3-Item index (For DISCONNECTED) with smoking, drinking, and marijuana*/
%let subscl1a = smoke1, drink1, pot1;


If nmiss(&subscl1a) le 0 then subscl3_1= sum (&subscl1a);


Label subscl3_1 = "3-Item Substance Use Index (self created), 1997";

/*Any binge drinking*/
If drink1 = 0 then bngdrnk1d = 0;

Else if (drink1 = 1) and (R0358500 = 0) then bngdrnk1d = 0; /*Hasn't drank in last 30 days*/
Else if  bngdrnkd = 0 then bngdrnk1d = 0;

Else if bngdrnkd gt 0 then bngdrnk1d = 1;

Label bngdrnk1d = "R has had 5+ drinks at least one day in past 30 days, 1997";

Format bngdrnk1d yes10no.;

%bingedays (drink1, bingedays1, R0358500, bngdrnkd, 1997);

%halfpack (smoke1, smoke301, numcig1, hvysmk97, 1997);

coke1 = .;

subscl2_1 = .;

/*1998*/
array saold2(14) R2189100 R2189900 R2190900 R2191500 R2189400 R2189500 R2190200 

R2191200 R2190500 R2189600 R2189300 R2190100 R2191100 R2191600;

array sanew2(14) smokeev2 drinkev2 potev2 cokeev2 smokedli2 smoke302 drinkdli2 

potdli2 bngdrnk2 numcig2 smkage2 drkage2 potage2 frstcoke2;

Do i = 1 to 14;


If saold2(i) lt 0 then sanew2(i) = .;


Else sanew2(i) = saold2(i);

End;

Label smokeev2 = "R has ever smoked, 1998";

Label drinkev2 = "R has ever drank alcohol, 1998";

Label potev2 = "R had ever used marijuana, 1998";

Label cokeev2 = "R had ever used hard drugs, 1998";

Label bngdrnk2 = "# of days R had 5+ drinks per day in last 30 days, 1998";

Label smokedli2 = "R has smoked since DLI, 1998";

Label smoke302 = "# of days smoked cig. in last 30 days, 1998";

Label drinkdli2 = "R has drank alcohol since DLI, 1998";

Label potdli2 = "R had used marijuana since DLI, 1998";

Label numcig2 = "# cigarettes/day in last 30 days, 1998";

label smkage2 = 'Age of first cigarette reported 1998';

label potage2 = 'Age of first marijuana use reported 1998';

label drkage2 = 'Age of first drink reported 1998';

label frstcoke2 = 'Age of first coke use reported 1998';

%delinqdli (S1529901, R2188900, smokeev2, smokedli2, smokedli98, 1998, label= smoked cigarette);

%delinqdli (S1529901, R2189700, drinkev2, drinkdli2, drinkdli98, 1998, label= drank alcohol);

%delinqdli (S1529901, R2190700, potev2, potdli2, potdli98, 1998, label= used marijuana);

If S1529901 = 0 then cokedli98 = .;

Else if cokeev2 = 0 then cokedli98 = 0;

Else if R2191700 = 0 then cokedli98 = 0; 

Else if R2191700 gt 0 then cokedli98 = 1;

Label cokedli98 = "R used cocaine/hard drugs since DLI, 1998";

Format cokedli98 yes10no.;

/*EVER (by round 2)*/
%everusez (smokeev2, smoke1, smokedli98, smoke98ever, 1998, label=ever smoked a cigarette );

%everusez (drinkev2, drink1, drinkdli98, drink98ever, 1998, label = ever drank alcohol);

%everusez (potev2, pot1, potdli98, pot98ever, 1998, label= ever used marijuana);

/*AGE AT FIRST USE*/
%howold (frstsmk1, smokeev2, smkage2, smoke98ever, smoke1, ager2, frstsmk2, 1998, label=cigarette);

%howold (frstdrk1, drinkev2, drkage2, drink98ever, drink1, ager2, frstdrk2, 1998, label=alcohol use);

%howold (frstpot1, potev2, potage2, pot98ever, pot1, ager2, frstpot2, 1998, label=marijuana use);

/*Illegal-substance Index*/
%let subscl2a = potdli98, cokedli98;


If nmiss(&subscl2a) le 0 then subscl2_2 = sum (&subscl2a);


Label subscl2_2 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 1998";

/*binge drinking and heavy smoking vars*/
%anybinge (drinkdli2, bngdrnk2, R2190300, anybnge98, 1998); 

%bingedays (drinkdli2, bingedays2, R2190300, bngdrnk2, 1998);

%halfpack (smokedli2, smoke302, numcig2, hvysmk98, 1998);

/*1999*/
array saold3(16) R3508200 R3509000 R3510000 R3510800 R3508500 R3508600 R3509300 R3510300 R3511100 

R3511200 R3509600 R3508700 R3508400 R3509200 R3510200 R3511000;

array sanew3(16) smokeev3 drinkev3 potev3 cokeev3 smokedli3 smoke303 drinkdli3 potdli3 cokedli3 

cokenum3 bngdrnk3 numcig3 smkage3 drkage3 potage3 cokeage3;

Do i = 1 to 16;


If saold3(i) lt 0 then sanew3(i) = .;


Else sanew3(i) = saold3(i);

End;

Label smokeev3 = "R has ever smoked, 1999";

Label drinkev3 = "R has ever drank alcohol, 1999";

Label potev3 = "R had ever used marijuana, 1999";

Label cokeev3 = "R had ever used hard drugs, 1999";

Label cokenum3 = "Numer dof times R used hard drugs since DLI, 1999";

Label bngdrnk3 = "# of days R had 5+ drinks per day in last 30 days, 1999";

Label smokedli3 = "R has smoked since DLI, 1999";

Label smoke303 = "# days smoked cig. in last 30 days, 1999";

Label drinkdli3 = "R has drank alcohol since DLI, 1999";

Label potdli3 = "R had used marijuana since DLI, 1999";

Label cokedli3 = "R had used hard drugs since DLI, 1999";

Label numcig3 = "# cigarettes/day in last 30 days, 1999";

label smkage3 = 'Age of first cigarette reported 1999';

label potage3 = 'Age of first marijuana use reported 1999';

label drkage3 = 'Age of first drink reported 1999';

label cokeage3 = 'Age of first coke use reported 1999';

%delinqdli (S1529902, R3508000, smokeev3, smokedli3, smokedli99, 1999, label= smoked cigarette);

%delinqdli (S1529902, R3508800, drinkev3, drinkdli3, drinkdli99, 1999, label= drank alcohol);

%delinqdli (S1529902, R3509800, potev3, potdli3, potdli99, 1999, label= used marijuana since);

If (R3510600 = 0) or (R3510600 = -3) then do;


If S1529902 = 0 then cokedli99 = .;


Else if (cokedli3 = 0) or (cokenum3 = 0) then cokedli99 = 0;


Else if cokedli3 = 1 then cokedli99 = 1;

End;

Else if R3510600 = 1 then do;


If S1529902 = 0 then cokedli99 = .;


Else if cokeev3 = 0 then cokedli99 = 0;


Else if cokeev3 = 1 then do;



If cokenum3 lt 0 then cokedli99 = .;



Else if cokenum3 = 0 then cokedli99 = 0;



Else if cokenum3 gt 0 then cokedli99 = 1;


End;

End;

Label cokedli99 = "R had used hard drugs since DLI, 1999";

Format cokedli99 yes10no.;

/*EVER (by round 3)*/         

    

%everusez (smokeev3, smoke98ever, smokedli99,smoke99ever,1999, label = ever smoked a cigarette);

%everusez (drinkev3, drink98ever, drinkdli99, drink99ever, 1999, label = ever drank alcohol);

%everusez (potev3, pot98ever, potdli99, pot99ever, 1999, label = ever used marijuana);

%everusez (cokeev3, cokeev2, cokedli99, coke99ever, 1999, label = ever used hard drugs);

%howold (frstsmk2, smokeev3, smkage3, smoke99ever, smoke98ever, ager3, frstsmk3, 1999, label=cigarette);

%howold (frstdrk2, drinkev3, drkage3, drink99ever, drink98ever, ager3, frstdrk3, 1999, label=alcohol use);

%howold (frstpot2, potev3, potage3, pot99ever, pot98ever, ager3, frstpot3, 1999, label=marijuana use);

%howold (frstcoke2, cokeev3, cokeage3, coke99ever, cokeev2, ager3, frstcoke3, 1999, label=coke/hard drug use);

/*Illegal-substance Index*/
%let subscl3a = potdli99, cokedli99;


If nmiss(&subscl3a) le 0 then subscl2_3 = sum (&subscl3a);


Label subscl2_3 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 1999";

/*binge drinking and heavy smoking vars*/
%anybinge (drinkdli3, bngdrnk3, R3509400, anybnge99, 1999); 

%bingedays (drinkdli3, bingedays3, R3509400, bngdrnk3, 1999);

%halfpack (smokedli3, smoke303, numcig3, hvysmk99, 1999);

/*2000*/
array saold4(15) R4906400 R4907100 R4908100 R4908900 R4906600 R4906700 R4907400 

R4908400 R4909200 R4909300 R4907700 R4906800 R4907300 R4908300 R4909100 ;

array sanew4(15) smokeev4 drinkev4 potev4 cokeev4 smokedli4 smoke304 drinkdli4 

potdli4 cokedli4 cokenum4 bngdrnk4 numcig4 drkage4 potage4 cokeage4;

Do i = 1 to 15;


If saold4(i) lt 0 then sanew4(i) = .;


Else sanew4(i) = saold4(i);

End;

Label smokeev4 = "R has ever smoked, 2000";

Label drinkev4 = "R has ever drank alcohol, 2000";

Label potev4 = "R had ever used marijuana, 2000";

Label cokeev4 = "R had ever used hard drugs, 2000";

Label bngdrnk4 = "# of days R had 5+ drinks per day in last 30 days, 2000";

Label smokedli4 = "R has smoked since DLI, 2000";

Label smoke304 = "# days smoked cig. in last 30 days";

Label drinkdli4 = "R has drank alcohol since DLI, 2000";

Label potdli4 = "R had used marijuana since DLI, 2000";

Label cokedli4 = "R had used hard drugs since DLI, 2000";

Label cokenum4 = "Numer dof times R used hard drugs since DLI, 2000";

Label numcig4 = "# cigarettes/day in last 30 day, 2000";

label potage4 = 'Age of first marijuana use reported 2000';

label drkage4 = 'Age of first drink reported 2000';

label cokeage4 = 'Age of first coke use reported 2000';

%delinqdli (S1529903, R4906200, smokeev4, smokedli4, smokedli00, 2000, label= smoked cigarette);

%delinqdli (S1529903, R4906900, drinkev4, drinkdli4, drinkdli00, 2000, label= drank alcohol);

%delinqdli (S1529903, R4907900, potev4, potdli4, potdli00, 2000, label= used marijuana);

If (R4908700 = 0) or (R4908700 = -3) then do;


If S1529903 = 0 then cokedli00 = .;


Else if (cokedli4 = 0) or (cokenum4 = 0) then cokedli00 = 0;


Else if cokedli4 = 1 then cokedli00 = 1;

End;

Else if R4908700 = 1 then do;


If S1529903 = 0 then cokedli00 = .;


Else if cokeev4 = 0 then cokedli00 = 0;


Else if cokeev4 = 1 then do;



If cokenum4 lt 0 then cokedli00 = .;



Else if cokenum4 = 0 then cokedli00 = 0;



Else if cokenum4 gt 0 then cokedli00 = 1;


End;

End;

Label cokedli00 = "R had used hard drugs since DLI, 2000";

Format cokedli00 yes10no.;

/*EVER (by round 4)*/
%everusez (drinkev4, drink99ever, drinkdli00, drink00ever, 2000, label = ever used alcohol);

%everusez (potev4, pot99ever, potdli00, pot00ever, 2000, label = ever used marijuana);

%everusez (cokeev4, coke99ever, cokedli00, coke00ever, 2000, label = ever used hard drugs);

%everusez2 (smoke99ever, smokedli00, smoke00ever, 2000, label= ever smoked a cigarette);

%howold (frstdrk3, drinkev4, drkage4, drink00ever, drink99ever, ager4, frstdrk4, 2000, label=alcohol use);

%howold (frstpot3, potev4, potage4, pot00ever, pot99ever, ager4, frstpot4, 2000, label=marijuana use);

%howold (frstcoke3, cokeev4, cokeage4, coke00ever, coke99ever, ager4, frstcoke4, 2000, label=coke/hard drug use);

%howold2 (frstsmk3, smoke00ever, smoke99ever, ager4, frstsmk4, 2000, label= cigarette);

/*Illegal-substance Index*/
%let subscl4a = potdli00, cokedli00;


If nmiss(&subscl4a) le 0 then subscl2_4 = sum (&subscl4a);


Label subscl2_4 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 2000";

/*binge drinking and heavy smoking vars*/
%anybinge (drinkdli4, bngdrnk4, R4907500, anybnge00, 2000); 

%bingedays (drinkdli4, bingedays4, R4907500, bngdrnk4, 2000);

%halfpack (smokedli4, smoke304, numcig4, hvysmk00, 2000);

/*2001*/
array saold5(11) R6536100 R6534100 R6534200 R6534700 R6535600 R6536400 R6536500 R6535000 R6534300

R6535500 R6536300;

array sanew5(11) cokeev5 smokedli5 smoke305 drinkdli5 potdli5 cokedli5 cokenum5 bngdrnk5 numcig5

potage5 cokeage5;

Do i = 1 to 11;


If saold5(i) lt 0 then sanew5(i) = .;


Else sanew5(i) = saold5(i);

End;

Label cokeev5 = "R had ever used hard drugs, 2001";

Label bngdrnk5 = "# of days R had 5+ drinks per day in last 30 days, 2001";

Label smokedli5 = "R has smoked since DLI, 2001";

Label smoke305 = "# days smoked cig. in last 30 days, 2001";

Label drinkdli5 = "R has drank alcohol since DLI, 2001";

Label potdli5 = "R had used marijuana since DLI, 2001";

Label cokedli5 = "R had used hard drugs since DLI, 2001";

Label cokenum5 = "Numer dof times R used hard drugs since DLI, 2001";

Label numcig5 = "# cig/day in last 30 days, 2001";

label potage5 = 'Age of first marijuana use reported 2001';

label cokeage5 = 'Age of first hard drug use reported 2001';

%delinqdli2 (S1529904, smokedli5, smokedli01, 2001, label=smoked cigarette);

%delinqdli2 (S1529904, drinkdli5, drinkdli01, 2001, label=drank alcohol);

%delinqdli2 (S1529904, potdli5, potdli01, 2001, label=used marijuana );

If (R6535900 = 0) or (R6535900 = -3) then do;


If S1529904 = 0 then cokedli01 = .;


Else if (cokedli5 = 0) or (cokenum5 = 0) then cokedli01 = 0;


Else if cokedli5 = 1 then cokedli01 = 1;

End;

Else if R6535900 = 1 then do;


If S1529904 = 0 then cokedli01 = .;


Else if cokeev5 = 0 then cokedli01 = 0;


Else if cokeev5 = 1 then do;



If cokenum5 lt 0 then cokedli01 = .;



Else if cokenum5 = 0 then cokedli01 = 0;



Else if cokenum5 gt 0 then cokedli01 = 1;


End;

End;

Label cokedli01 = "R had used hard drugs since DLI, 2001";

Format cokedli01 yes10no.;

/*EVER (by round 5)*/ 

%everusez (cokeev5, coke00ever, cokedli01, coke01ever, 2001, label = ever used hard drugs);

%everusez2 (smoke00ever, smokedli01, smoke01ever, 2001, label= ever smoked a cigarette);

%everusez2 (drink00ever, drinkdli01, drink01ever, 2001, label = ever used alcohol);

%everusez2 (pot00ever, potdli01, pot01ever, 2001, label = ever used marijuana);

/*Age at first use*/
%howold (frstcoke4, cokeev5, cokeage5, coke01ever, coke00ever, ager5, frstcoke5, 2001, label=coke/hard drug use);

%howold2 (frstdrk4, drink01ever, drink00ever, ager5, frstdrk5, 2001, label=alcohol use);

%howold2 (frstsmk4, smoke01ever, smoke00ever, ager5, frstsmk5, 2001, label= cigarette);

%howold2 (frstpot4, pot01ever, pot00ever, ager5, frstpot5, 2001, label=marijuana use);

/*Illegal-substance Index*/
%let subscl5a = potdli01, cokedli01;


If nmiss(&subscl5a) le 0 then subscl2_5 = sum (&subscl5a);


Label subscl2_5 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 2001";

/*binge drinking and heavy smoking vars*/
%anybinge (drinkdli5, bngdrnk5, R6534800, anybnge01, 2001); 

%bingedays (drinkdli5, bingedays5, R6534800, bngdrnk5, 2001);

%halfpack (smokedli5, smoke305, numcig5, hvysmk01, 2001);

/*2002*/
array saold6(13) S0922900 S0923700 S0921600 S0921700 S0922200 S0923200 S0924000 S0924100 S0922500 S0921800 

S0923300 S0923900 S0923100;

array sanew6(13) potev6 cokeev6 smokedli6 smoke306 drinkdli6 potdli6 cokedli6 cokenum6 bngdrnk6 numcig6 

potnum6 cokeage6 potage6;

Do i = 1 to 13;


If saold6(i) lt 0 then sanew6(i) = .;


Else sanew6(i) = saold6(i);

End;

Label potev6 = "R had ever marijuana, 2002";

Label cokeev6 = "R had ever used hard drugs, 2002";

Label bngdrnk6 = "# of days R had 5+ drinks per day in last 30 days, 2002";

Label smokedli6 = "R has smoked since DLI, 2002";

Label smoke306 = "# of days smoked cig. in last 30 days, 2002";

Label drinkdli6 = "R has drank alcohol since DLI, 2002";

Label potdli6 = "R had used marijuana since DLI, 2002";

Label cokedli6 = "R had used hard drugs since DLI, 2002";

Label cokenum6 = "Number of times R used hard drugs since DLI, 2002";

Label numcig6 = "# of cigarettes/day in last 30 days, 2002";

Label potnum6 = "# of days R used marijuana in the last 30 days, 2002";

label potage6 = 'Age of first marijuana use reported 2002';

label cokeage6 = 'Age of first coke use reported 2002';

%delinqdli (S1529905, S0922700, potev6, potdli6, potdli02, 2002, label= used marijuana);

%delinqdli2 (S1529905, smokedli6, smokedli02, 2002, label=smoked cigarette);

%delinqdli2 (S1529905, drinkdli6, drinkdli02, 2002, label=drank alcohol);

If (S0923500 = 0) or (S0923500 = -3) then do;


If S1529905 = 0 then cokedli02 = .;


Else if (cokedli6 = 0) or (cokenum6 = 0) then cokedli02 = 0;


Else if cokedli6 = 1 then cokedli02 = 1;

End;

Else if S0923500 = 1 then do;


If S1529905 = 0 then cokedli02 = .;


Else if cokeev6 = 0 then cokedli02 = 0;


Else if cokeev6 = 1 then do;



If cokenum6 lt 0 then cokedli02 = .;



Else if cokenum6 = 0 then cokedli02 = 0;



Else if cokenum6 gt 0 then cokedli02 = 1;


End;

End;

Label cokedli02 = "R had used hard drugs since DLI, 2002";

Format cokedli02 yes10no.;

/*EVER (by round 6)*/ 

%everusez (cokeev5, coke01ever, cokedli02, coke02ever, 2002, label = ever used hard drugs);

%everusez2 (smoke01ever, smokedli02, smoke02ever, 2002, label= ever smoked a cigarette);

%everusez2 (drink01ever, drinkdli02, drink02ever, 2002, label = ever used alcohol);

%everusez2 (pot01ever, potdli02, pot02ever, 2002, label = ever used marijuana);

/*Age at first use*/
%howold (frstcoke5, cokeev6, cokeage6, coke02ever, coke01ever, ager6, frstcoke6, 2002, label=coke/hard drug use);

%howold2 (frstdrk5, drink02ever, drink01ever, ager6, frstdrk6, 2002, label=alcohol use);

%howold2 (frstsmk5, smoke02ever, smoke01ever, ager6, frstsmk6, 2002, label= cigarette);

%howold2 (frstpot5, pot02ever, pot01ever, ager6, frstpot6, 2002, label=marijuana use);

/*Illegal-substance Index*/
%let subscl6a = potdli02, cokedli02;


If nmiss(&subscl6a) le 0 then subscl2_6 = sum (&subscl6a);


Label subscl2_6 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 2002";

%anybinge (drinkdli6, bngdrnk6, S0922300, anybnge02, 2002); 

%bingedays (drinkdli6, bingedays6, S0922300, bngdrnk6, 2002);

%halfpack (smokedli6, smoke306, numcig6, hvysmk02, 2002);

/*2003*/
array saold7(8) S2988300 S2988400 S2988900 S2989700 S2990300 S2990400 S2989200 S2988500;

array sanew7(8) smokedli7 smoke307 drinkdli7 potdli7 cokedli7 cokenum7 bngdrnk7 numcig7;

Do i = 1 to 8;


If saold7(i) lt 0 then sanew7(i) = .;


Else sanew7(i) = saold7(i);

End;

Label bngdrnk7 = "# of days R had 5+ drinks per day in last 30 days, 2003";

Label smokedli7 = "R has smoked since DLI, 2003";

Label smoke307 = "# days smoked cig. in last 30 days, 2003";

Label drinkdli7 = "R has drank alcohol since DLI, 2003";

Label potdli7 = "R had used marijuana since DLI, 2003";

Label cokedli7 = "R had used hard drugs since DLI, 2003";

Label cokenum7 = "Numer dof times R used hard drugs since DLI, 2003";

Label numcig7 = "# cigarettes/day in last 30 days, 2003";

%delinqdli2 (S1529906, smokedli7, smokedli03, 2003, label= smoke cigarettes);

%delinqdli2 (S1529906, drinkdli7, drinkdli03, 2003, label= drink alcohol);

%delinqdli2 (S1529906, potdli7, potdli03, 2003, label= used marijuana);

If (cokedli7 = 0) or (cokenum7 = 0) then cokedli03 = 0;

Else if (cokedli7 = 1) or (cokenum7 gt 0)  then cokedli03 = 1;

Else if (cokedli7 = .) and (cokenum7 lt 0) then cokedli03 = .;

Label cokedli03 = "R had used hard drugs since DLI, 2003";

Format cokedli03 yes10no.;

/*EVER (by round 7)*/
%everusez2 (smoke02ever, smokedli03, smoke03ever, 2003, label = ever smoked a cigarette);

%everusez2 (drink02ever, drinkdli03, drink03ever, 2003, label = ever drank alcohol);

%everusez2 (pot02ever, potdli03, pot03ever, 2003, label = ever used marijuana);

%everusez2 (coke02ever, cokedli03, coke03ever, 2003, label = ever used hard drugs);

/*Age at first use*/
%howold2 (frstcoke6, coke03ever, coke02ever, ager7, frstcoke7, 2003, label=coke/hard drug use);

%howold2 (frstdrk6, drink03ever, drink02ever, ager7, frstdrk7, 2003, label=alcohol use);

%howold2 (frstsmk6, smoke03ever, smoke02ever, ager7, frstsmk7, 2003, label= cigarette);

%howold2 (frstpot6, pot03ever, pot02ever, ager7, frstpot7, 2003, label=marijuana use);

/*Illegal-substance Index*/
%let subscl7a = potdli03, cokedli03;


If nmiss(&subscl7a) le 0 then subscl2_7 = sum (&subscl7a);


Label subscl2_7 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 2003";

%anybinge (drinkdli7, bngdrnk7, S2989000, anybnge03, 2003); 

%bingedays (drinkdli7, bingedays7, S2989000, bngdrnk7, 2003);

%halfpack (smokedli7, smoke307, numcig7, hvysmk03, 2003);

/*2004*/
array saold8(12) S4682900 S4683000 S4683700 S4684700 S4684400 S4685500 S4685200 S4685600 S4684000 S4683100 S4684600 S4685400;

array sanew8(12) smokedli8 smoke308 drinkdli8 potdli8 potev8 cokedli8 cokeev8 cokenum8 bngdrnk8 numcig8 potage8 cokeage8;

Do i = 1 to 12;


If saold8(i) lt 0 then sanew8(i) = .;


Else sanew8(i) = saold8(i);

End;

Label potev8 = "R had ever marijuana, 2004";

Label cokeev8 = "R had ever used hard drugs, 2004";

Label bngdrnk8 = "# of days R had 5+ drinks per day in last 30 days, 2004";

Label smokedli8 = "R has smoked since DLI, 2004";

Label smoke308 = "# days smoked cig. in last 30 days, 2004";

Label drinkdli8 = "R has drank alcohol since DLI, 2004";

Label potdli8 = "R had used marijuana since DLI, 2004";

Label cokedli8 = "R had used hard drugs since DLI, 2004";

Label cokenum8 = "Numer dof times R used hard drugs since DLI, 2004";

Label numcig8 = "# cigarettes/day in last 30 days, 2004";

label potage8 = 'Age of first marijuana use reported 2004';

label cokeage8 = 'Age of first coke use reported 2004';

%delinqdli2 (S1529907, smokedli8, smokedli04, 2004, label= smoke cigarettes);

%delinqdli2 (S1529907, drinkdli8, drinkdli04, 2004, label= drink alcohol);

%delinqdli2 (S1529907, potdli8, potdli04, 2004, label= used marijuana);

If (cokedli8 = 0) or (cokenum8 = 0) then cokedli04 = 0;

Else if (cokedli8 = 1) or (cokenum8 gt 0)  then cokedli04 = 1;

Else if (cokedli8 = .) and (cokenum8 lt 0) then cokedli04 = .;

Label cokedli04 = "R had used hard drugs since DLI, 2004";

Format cokedli04 yes10no.;

/*EVER (by round 8)*/
%everusez2 (smoke03ever, smokedli04, smoke04ever, 2004, label = ever smoked a cigarette);

%everusez2 (drink03ever, drinkdli04, drink04ever, 2004, label = ever drank alcohol);

%everusez (potev8, pot03ever, potdli04, pot04ever, 2004, label = ever used marijuana);

%everusez (cokeev8, coke03ever, cokedli04, coke04ever, 2004, label = ever used hard drugs);

/*Age at first use*/
%howold (frstcoke7, cokeev8, cokeage8, coke04ever, coke03ever, ager8, frstcoke8, 2004, label=coke/hard drug use);

%howold2 (frstdrk7, drink04ever, drink03ever, ager8, frstdrk8, 2004, label=alcohol use);

%howold2 (frstsmk7, smoke04ever, smoke03ever, ager8, frstsmk8, 2004, label= cigarette);

%howold (frstpot7, potev8, potage8, pot04ever, pot03ever, ager8, frstpot8, 2004, label=marijuana use);

/*Illegal-substance Index*/
%let subscl8a = potdli04, cokedli04;


If nmiss(&subscl8a) le 0 then subscl2_8 = sum (&subscl8a);


Label subscl2_8 = "2-Item Illegal-Substance Use Index (pot & hard drugs - DLI), 2004";

%anybinge (drinkdli8, bngdrnk8, S4683800, anybnge04, 2004); 

%bingedays (drinkdli8, bingedays8, S4683800, bngdrnk8, 2004);

%halfpack (smokedli8, smoke308, numcig8, hvysmk04, 2004);

/*drinking under 21*/
drkund21 =.;

If frstdrk8 LT 0 then drkund21 = .;

if frstdrk8 LT 21 then drkund21 = 1;

if frstdrk8 GE 21 then drkund21 = 0;

label drkund21 = 'Underage drinking 1= R drank while underage 0= no underage drinking';

/*Early use variables*/
erlydrnk = .;

If frstdrk8 LT 0 then erlydrnk = .;

else if frstdrk8 LE 17 then erlydrnk = 1;

else erlydrnk = 0;

label erlydrnk = 'Drinking before age 17: 1= R ever drank before 17';

erlysmke = .;

If frstsmk8 LT 0 then erlysmke = .;

else if frstsmk8 LE 17 then erlysmke = 1;

else erlysmke = 0;

label erlysmke = 'Smoking before age 17: 1= R ever smoked before 17';

erlypot = .;

If frstpot8 LT 0 then erlypot = .;

else if frstpot8 LE 17 then erlypot = 1;

else erlypot = 0;

label erlypot = 'Marijuana use before age 17: 1= R ever used marijuana before 17';

erlycoke = .;

If frstcoke8 LT 0 then erlycoke = .;

else if frstcoke8  LE 17 then erlycoke = 1;

else erlycoke = 0;

label erlycoke = 'Hard drug use before age 17: 1= R ever used hard drugs before 17';

erly_idx = .;

%let erly_idx = erlycoke, erlypot, erlysmke, erlydrnk;


If nmiss(&erly_idx) le 1 then erly_idx= Round((sum (&erly_idx)*4)/(4-(nmiss(&erly_idx))));


Label erly_idx = "4-Item Early Substance Use Index";

/******Substance variables by age @ interview******/
Array subvars_rnd1(8) smoke1 drink1 pot1 coke1 bingedays1 anybnge97 hvysmk97 subscl2_1;

Array subvars_rnd2(8) smokedli98 drinkdli98 potdli98 cokedli98 bingedays2 anybnge98 hvysmk98 subscl2_2;

Array subvars_rnd3(8) smokedli99 drinkdli99 potdli99 cokedli99 bingedays3 anybnge99 hvysmk99 subscl2_3;

Array subvars_rnd4(8) smokedli00 drinkdli00 potdli00 cokedli00 bingedays4 anybnge00 hvysmk00 subscl2_4;

Array subvars_rnd5(8) smokedli01 drinkdli01 potdli01 cokedli01 bingedays5 anybnge01 hvysmk01 subscl2_5;

Array subvars_rnd6(8) smokedli02 drinkdli02 potdli02 cokedli02 bingedays6 anybnge02 hvysmk02 subscl2_6;

Array subvars_rnd7(8) smokedli03 drinkdli03 potdli03 cokedli03 bingedays7 anybnge03 hvysmk03 subscl2_7;

Array subvars_rnd8(8) smokedli04 drinkdli04 potdli04 cokedli04 bingedays8 anybnge04 hvysmk04 subscl2_8;

Array subvars_12(8) smoke12 drink12 pot12 coke12 bngdrnk12 anybng12 hvysmk12 subscl2_12;

Array subvars_13(8) smoke13 drink13 pot13 coke13 bngdrnk13 anybng13 hvysmk13 subscl2_13;

Array subvars_14(8) smoke14 drink14 pot14 coke14 bngdrnk14 anybng14 hvysmk14 subscl2_14;

Array subvars_15(8) smoke15 drink15 pot15 coke15 bngdrnk15 anybng15 hvysmk15 subscl2_15;

Array subvars_16(8) smoke16 drink16 pot16 coke16 bngdrnk16 anybng16 hvysmk16 subscl2_16;

Array subvars_17(8) smoke17 drink17 pot17 coke17 bngdrnk17 anybng17 hvysmk17 subscl2_17;

Array subvars_18(8) smoke18 drink18 pot18 coke18 bngdrnk18 anybng18 hvysmk18 subscl2_18;

Array subvars_19(8) smoke19 drink19 pot19 coke19 bngdrnk19 anybng19 hvysmk19 subscl2_19;

Array subvars_20(8) smoke20 drink20 pot20 coke20 bngdrnk20 anybng20 hvysmk20 subscl2_20;

Array subvars_21(8) smoke21 drink21 pot21 coke21 bngdrnk21 anybng21 hvysmk21 subscl2_21;

Array subvars_22(8) smoke22 drink22 pot22 coke22 bngdrnk22 anybng22 hvysmk22 subscl2_22;

Array subvars_23(8) smoke23 drink23 pot23 coke23 bngdrnk23 anybng23 hvysmk23 subscl2_23;

Array subvars_24(8) smoke24 drink24 pot24 coke24 bngdrnk24 anybng24 hvysmk24 subscl2_24;

%macro ageyrs (agevar, age, subagearray);


Do i = 1 to 8 until (agenew(i) = &age);



If agenew(i) = &age then &agevar = i;


End;


Do i = 1 to 8;



If &agevar = 1 then &subagearray(i) = subvars_rnd1(i);



If &agevar = 2 then &subagearray(i) = subvars_rnd2(i);



If &agevar = 3 then &subagearray(i) = subvars_rnd3(i);



If &agevar = 4 then &subagearray(i) = subvars_rnd4(i);



If &agevar = 5 then &subagearray(i) = subvars_rnd5(i);



If &agevar = 6 then &subagearray(i) = subvars_rnd6(i);



If &agevar = 7 then &subagearray(i) = subvars_rnd7(i);



If &agevar = 8 then &subagearray(i) = subvars_rnd8(i);


End;

%mend;

%ageyrs (a12, 12, subvars_12);

%ageyrs (a13, 13, subvars_13);

%ageyrs (a14, 14, subvars_14);

%ageyrs (a15, 15, subvars_15);

%ageyrs (a16, 16, subvars_16);

%ageyrs (a17, 17, subvars_17);

%ageyrs (a18, 18, subvars_18);

%ageyrs (a19, 19, subvars_19);

%ageyrs (a20, 20, subvars_20);

%ageyrs (a21, 21, subvars_21);

%ageyrs (a22, 22, subvars_22);

%ageyrs (a23, 23, subvars_23);

%ageyrs (a24, 24, subvars_24);

label hvysmk16 = 'R is heavy/light smoker at age 16';

label hvysmk20 = 'R is heavy/light smoker at age 20';

label bngdrnk16 = "Number of days R has had 5+ drinks at least one day in past 30 days at age 16";

label bngdrnk20 = "Number of days R has had 5+ drinks at least one day in past 30 days at age 20";

Label anybng16 = "R has had 5+ drinks at least one day in past 30 days at age 16";

Label anybng20 = "R has had 5+ drinks at least one day in past 30 days at age 20";

label subscl2_16 = '2-Item Illegal-Substance Use Index (pot & hard drugs - DLI)at age 16';

label subscl2_20 = '2-Item Illegal-Substance Use Index (pot & hard drugs - DLI)at age 20';

label smoke16 = 'R has smoked since DLI at age 16';

label smoke20 = 'R has smoked since DLI at age 20';

label drink16 = 'R has drank alcohol since DLI at age 16';

label drink20 = 'R has drank alcohol since DLI at age 20';

label pot16  = 'R had used marijuana since DLI at age 16';

label pot20  = 'R had used marijuana since DLI at age 20';

label coke16 = "R had used hard drugs since DLI at age 16";

label coke20 = "R had used hard drugs since DLI at age 16";

format hvysmk16 hvysmk20 smoke_b.;

format smoke16 drink16 pot16 coke16 anybng16 

smoke20 drink20 pot20 coke20 anybng20 yes10no.;

Smoking in the last 30 days (three level variable) - age 16:

· Indicates the amount of smoking in the 30 days before the interview during the year the respondent was 16 years old.
· Frequencies:

· 2240 (67.55%) of respondents did not smoke at all in the 30 days prior to the interview.
· 479 (14.45%) of respondents smoked lightly (up to half a pack a day) in the 30 days prior to the interview.

· 154 (4.64%) of respondents smoked heavily (a half a pack or more a day) in the 30 days prior to the interview.

· 443 missing cases 

· SAS Code:  hvysmk16
Smoking in the last 30 days (three level variable) - age 20:

· Indicates the amount of smoking in the 30 days before the interview during the year the respondent was 20 years old.

· Frequencies:

· 1771 (53.41%) of respondents did not smoke at all in the 30 days prior to the interview.

· 578 (17.43%) of respondents smoked lightly (up to half a pack a day) in the 30 days prior to the interview.

· 363 (10.95%) of respondents smoked heavily (a half a pack or more a day) in the 30 days prior to the interview.

· 604 missing cases 

· SAS Code:  hvysmk20
Binge Drinking at Age 16:

· Indicates whether or not respondents engaged in binge drinking (five or more drinks on one occasion) in the 30 days before the interview during the year the respondent was 16 years old.

· Frequencies:

· 2394 (72.20%) of respondents did not engaged in binge drinking in the 30 days prior to the interview.

· 475 (14.32%) of respondents did engage in binge drinking in the 30 days prior to the interview.

· 447 missing cases

· SAS Code:  bngdrnk16
Binge Drinking at Age 20:

· Indicates whether or not respondents engaged in binge drinking (five or more drinks on one occasion) in the 30 days before the interview during the year the respondent was 20 years old.

· Frequencies:

· 1741 (52.50%) of respondents did not engaged in binge drinking in the 30 days prior to the interview.

· 955 (28.80%) of respondents did engage in binge drinking in the 30 days prior to the interview.

· 620 missing cases

· SAS Code:  bngdrnk20
Drug Use (three level variable) at Age 16:

· Indicates whether or not respondents abused hard drugs or marijuana in the 30 days before the interview during the year the respondent was 16 years old.

· Frequencies:

· 2280 (68.76%) of respondents did not engaged in any drug use in the 30 days prior to the interview.

· 473 (14.26%) of respondents used marijuana in the 30 days prior to the interview.

· 125 (3.77%) of respondents used hard drugs in the 30 days prior to the interview.

· 438 missing cases

· SAS Code:  subscl2_16
Drug Use (three level variable) at Age 20:

· Indicates whether or not respondents abused hard drugs or marijuana in the 30 days before the interview during the year the respondent was 20 years old.

· Frequencies:

· 1993 (60.10%) of respondents did not engaged in any drug use in the 30 days prior to the interview.

· 576 (17.37%) of respondents used marijuana in the 30 days prior to the interview.

· 144 (4.34%) of respondents used hard drugs in the 30 days prior to the interview.

· 603 missing cases

· SAS Code:  subscl2_20
Disconnection

Disconnected at Round 6:

· Indicates whether or not respondents are either employed or enrolled in school during the Round 6 interview.

· Frequencies:

· 2867 (86.46%) of respondents were not disconnected at Round 6.

· 449 (13.54%) of respondents were disconnected at Round 6.

· SAS Code: 

proc format library=library;   /*Formats*/ 

value yes10no


1 = '1: yes'

0 = '0: no';

value employ


0 = '0 = No'

1 = '1 = Yes';

value discon


0 = '0 = No'

1 = '1 = Yes';


run;
/******************DISCONNECTED ROUND 6*****************/
/*Currently enrolled in school (college or hs)*/
enrol6 = .;

if S1538000 lt 0 then enrol6 = .;

else enrol6 = S1538000;

if enrol6 in (8,9,10,11) then curenroll6 = 1;

Else if enrol6 in (1,2,3,4,5,6,7) then curenroll6 = 0;

Label curenroll6 = "R is currently enrolled in school (college or HS), round 6";

Format curenroll6 yes10no.;

/*Employment Round 6*/
emp6 = .;

If S1512800 = 1 or S1512900 = 1 or S1513000 = 1 or S1513100 = 1 or S1513200 = 1 or S1513300 = 1
or S1513400 = 1 or S1513500 = 1 or S1513600 = 1 or S1513700 = 1 or S1513800 = 1 then emp6 = 1;

Else if S1512800 le 0 and S1512900 le 0 and S1513000 le 0 and S1513100 le 0 and S1513200 le 0 and S1513300 le 0
and S1513400 le 0 and S1513500 le 0 and S1513600 le 0 and S1513700 le 0 and S1513800 le 0 then emp6 = 0;

Label emp6 = 'R has at least one employer on roster, R6';

format emp6 employ.;

/*Diconnection Round 6*/
If curenroll6 = 1 or emp6 = 1 then disconnected6 = 0;

else if curenroll6=. and emp6 in (0,1) then disconnected6 = 0;

Else if curenroll6 = 0 and emp6 = 0 then disconnected6 = 1;

Label disconnected6 = "R is neither enrolled in school nor working for an employer (round 8)";

format disconnected6 discon.;
Disconnected at Round 7:

· Indicates whether or not respondents are either employed or enrolled in school during the Round 7 interview.

· Frequencies:

· 2858 (86.19%) of respondents were not disconnected at Round 7.

· 458 (13.81%) of respondents were disconnected at Round 7.

· SAS Code: 

proc format library=library;   /*Formats*/ 

value yes10no


1 = '1: yes'

0 = '0: no';
value employ


0 = '0 = No'

1 = '1 = Yes';

value discon


0 = '0 = No'

1 = '1 = Yes';


run;
/******************DISCONNECTED ROUND 7*****************/
/*Currently enrolled in school (college or hs)*/
If S2007700 lt 0 then enrol7 = .;

Else enrol7 = S2007700;

If enrol7 in (8,9,10,11) then curenroll7 = 1;

Else if enrol7 in (1,2,3,4,5,6,7) then curenroll7 = 0;

Label curenroll7 = "R is currently enrolled in school (college or HS), round 7";

Format curenroll7 yes10no.;

/*********EMPLOYMENT***********/
Emp7 = .;

If S3579600 = 1 or S3579700 = 1 or S3579800 = 1 or S3579900 = 1 or S3580000 = 1 or S3580100 = 1 or S3580200 = 1 or S3580300 = 1 or 

S3580400 = 1 or S3580500 = 1 then emp7 = 1; /*Answered yes to one of the employers on roster*/
Else if S3579600 le 0 and S3579700 le 0 and S3579800 le 0 and S3579900 le 0 and S3580000 le 0 and S3580100 le 0 

and S3580200 le 0 and S3580300 le 0 and S3580400 le 0 and S3580500 le 0 then emp7 = 0; /*Answered no (or NA) to all employers on roster*/
Label emp7 = "R has at least one empyer on roster, round7";

Format emp7 yes10no.;

If curenroll7 = 1 or emp7 = 1 then disconnected7 = 0;

else if curenroll7=. and emp7 in (0,1) then disconnected7 = 0;

else If curenroll7 = 0 and emp7 = 0 then disconnected7 = 1;

Label disconnected7 = "R is neither enrolled in school nor working for an employer (round 7)";

format disconnected7 yes10no.;

Disconnected at Round 8:

· Indicates whether or not respondents are either employed or enrolled in school during the Round 8 interview.

· Frequencies:

· 2885 (87.00%) of respondents were not disconnected at Round 8.

· 431 (13.00%) of respondents were disconnected at Round 8.

· SAS Code: 

proc format library=library;   /*Formats*/ 

value yes10no


1 = '1: yes'

0 = '0: no';

value employ


0 = '0 = No'

1 = '1 = Yes';

value discon


0 = '0 = No'

1 = '1 = Yes';


run;
/*********************DISCONNECTED ROUND 8*****************/
/*Currently enrolled in school (college or hs)*/
If S3808500 lt 0 then enrol8 = .;

Else enrol8 = S3808500;

If enrol8 in (8,9,10,11) then curenroll8 = 1;

Else if enrol8 in (1,2,3,4,5,6,7) then curenroll8 = 0;

Label curenroll8 = "R is currently enrolled in school (college or HS), round 8";

Format curenroll8 curenroll.;

/*********EMPLOYMENT*/
Emp8 = .;

If S5097500 = 1 or S5097600 = 1 or S5097700 = 1 or S5097800 = 1 or S5097900 = 1 or S5098000 = 1 or S5098100 = 1 then emp8 = 1; /*Answered yes to one of the employers on roster*/
Else if S5097500 le 0 and S5097600 le 0 and S5097700 le 0 and S5097800 le 0 and S5097900 le 0 and S5098000 le 0 

and S5098100 le 0 then emp8 = 0; /*Answered no (or NA) to all employers on roster*/
Label emp8 = "R has at least one empyer on roster, round8";

Format emp8 employ.;

If curenroll8 = 1 or emp8 = 1 then disconnected8 = 0;

else if curenroll8=. and emp8 in (0,1) then disconnected8 = 0;

Else if curenroll8 = 0 and emp8 = 0 then disconnected8 = 1;

Label disconnected8 = "R is neither enrolled in school nor working for an employer (round 8)";

format disconnected8 discon.;

Educational Attainment at Age 20:

· *** NOTE:  Enrollment.dat file needed for this code.
· Indicates whether or not respondents have received a GED or a high school diploma by age 20.
· Frequencies:

· 2447 (73.79%) of respondents had received either a GED or high school diploma by age 20.
· 345 (10.40%) of respondents had not received either a GED or high school diploma by age 20.

· 524 missing cases

· SAS Code: 

proc format library=library;   /*Formats*/ 

value degree


1 = '1: No diploma, no GED'

2 = '2: No diploma, GED'

3 = '3: High school diploma'

4 = '4: Enrolled in post-secondary education';


run;
data enrollment_base;

infile "G:\Parenting and Family Dynamics\Family Strengths - ASPE\Data\enrollment.dat" lrecl=78 missover DSD DLM=' ';

input
  pubid

  age97

  enroll97

  highestdeg97

  age98

  enroll98

  highestdeg98

  age99

  enroll99

  highestdeg99

  age00

  enroll00

  highestdeg00

  age01

  enroll01

  highestdeg01

  age02

  enroll02

  highestdeg02

  age03

  enroll03

  highestdeg03

  age04

  enroll04

  highestdeg04

label pubid = "PUBID - YTH ID CODE 1997";

label age97 = "CV_AGE_INT_DATE 1997";

label enroll97 = "CV_ENROLLSTAT 1997";

label highestdeg97 = "CV_HIGHEST_DEGREE_EVER 1997";

label age98 = "CV_AGE_INT_DATE 1998";

label enroll98 = "CV_ENROLLSTAT 1998";

label highestdeg98 = "CV_HIGHEST_DEGREE_EVER 1998";

label age99 = "CV_AGE_INT_DATE 1999";

label enroll99 = "CV_ENROLLSTAT 1999";

label highestdeg99 = "CV_HIGHEST_DEGREE_EVER 1999";

label age00 = "CV_AGE_INT_DATE 2000";

label enroll00 = "CV_ENROLLSTAT 2000";

label highestdeg00 = "CV_HIGHEST_DEGREE_EVER 2000";

label age01 = "CV_AGE_INT_DATE 2001";

label enroll01 = "CV_ENROLLSTAT 2001";

label highestdeg01 = "CV_HIGHEST_DEGREE_EVER 2001";

label age02 = "CV_AGE_INT_DATE 2002";

label enroll02 = "CV_ENROLLSTAT 2002";

label highestdeg02 = "CV_HIGHEST_DEGREE_EVER 2002";

label age03 = "CV_AGE_INT_DATE 2003";

label enroll03 = "CV_ENROLLSTAT 2003";

label highestdeg03 = "CV_HIGHEST_DEGREE_EVER 2003";

label age04 = "CV_AGE_INT_DATE 2004";

label enroll04 = "CV_ENROLLSTAT 2004";

label highestdeg04 = "CV_HIGHEST_DEGREE_EVER 2004";

if age97=20 then highestdegever20=highestdeg97;

else if age98=20 then highestdegever20=highestdeg98;

else if age99=20 then highestdegever20=highestdeg99;

else if age00=20 then highestdegever20=highestdeg00;

else if age01=20 then highestdegever20=highestdeg01;

else if age02=20 then highestdegever20=highestdeg02;

else if age03=20 then highestdegever20=highestdeg03;

else if age04=20 or age04=19 then highestdegever20=highestdeg04;

if age97=20 then enrollment20=enroll97;

else if age98=20 then enrollment20=enroll98;

else if age99=20 then enrollment20=enroll99;

else if age00=20 then enrollment20=enroll00;

else if age01=20 then enrollment20=enroll01;

else if age02=20 then enrollment20=enroll02;

else if age03=20 then enrollment20=enroll03;

else if age04=20 or age04=19 then enrollment20=enroll04;

if highestdegever20=0 then degree20=1;

else if highestdegever20=1 then degree20=2;

else if highestdegever20=2 then degree20=3;

else if enrollment20 in (9,10,11) or highestdegever20>2 then degree20=4;

else if highestdegever20 in (-5,-4,.C,.D,.E,.) then degree20=highestdegever20;

label degree20='HIGHEST DEGREE EVER EARNED AT AGE 20';

format degree20 degree.;

Sexual Behaviors

*** NOTE:  The following is the SAS code for all of the delinquency variables.  Under each variable described in the outline, I have noted the applicable outcome variable.

proc format library=library;   /*Formats*/ 

value yes10no


1 = '1: yes'

0 = '0: no';


run;

/******Safe Sex*********************/
%Macro conduse (oldsex, newsex, oldvars, numpart, estnumpart, numsex, estnumsex, numcond, estnumcond, marstat, numparttot, 

numsextot, numcondtot, condrate);

array ar_&oldsex(7) &oldvars;

array ar_&newsex(7) &numpart &estnumpart &numsex &estnumsex &numcond &estnumcond &marstat;


Do i = 1 to 7;



ar_&newsex(i) = ar_&oldsex(i);


End;


If &numpart lt 0 then &numparttot = &estnumpart;


Else &numparttot = &numpart;


If &numsex lt 0 then &numsextot = &estnumsex;


Else &numsextot = &numsex;


If &numcond lt 0 then &numcondtot = &estnumcond;


Else &numcondtot = &numcond;


If (&marstat in (1,3,4,5,7,9)) and (&numparttot in (-4, -3, 0, 1)) then &condrate = .; /*If R married/cohab. & only 1 partner*/

Else if &numparttot = 0 then &condrate = 100; /*0 partners since DLI*/

Else do;



If &numcond lt 0 then do; /*If R said Don't know or refused to # using condom*/



If &numcondtot lt 0 then &condrate = .; /*If all condom info missing*/



Else if (&numsextot le 0) and (&numcondtot ge 0) then &condrate = &numcondtot; /*If no sex info/only condom info*/



Else if &numparttot gt 0 then do; /*Info on % (est) of condom use*/




If &numcondtot = 0 then &condrate = 0;





Else &condrate = &numcondtot;




End;



End;



Else if &numcond ge 0 then do; /*If R gave answer for # of condoms*/



If &numcondtot lt 0 then &condrate = .; /*If all condom info missing*/



/*Else if (&numsextot le 0) and (&numcondtot ge 0) then &condrate = &numcondtot; /*If no sex info/only condom info*/



Else if &numparttot gt 0 then do; /*Info on # of times of condom use is positive*/




If &numcondtot = 0 then &condrate = 0;





Else if (&numsextot = 1) and (&numcondtot = 1) then &condrate = 100;





Else if &numcondtot le &numsextot then do;






&condrate = ((&numcondtot/&numsextot)*100);





End;





/*Else &condrate = &numcondtot;*/



End;



End;


End;

%Mend;

/*Round 2 they ask all respondents who were 14+ as of 12/31/97*/
%conduse (oldsex2, newsex2, R2183900 R2184000 R2184100 R2184300 R2184200 R2184400 R2569300, numpart98, estnumpart98, numsex98, estnumsex98, 

numcond98, estnumcond98, marstat98, numparttot98, numsextot98, numcondtot98, condrate98);

If R2182900 = 0 then safesex98 = 1; /*Never had sex*/
Else if (marstat98 in (1,3,4,5,7,9)) and (numparttot98 in (-4, -3, 0, 1)) then safesex98 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate98 = 100 then safesex98 = 1; /*condom use rate = 100%*/
Else if (condrate98 ge 0) and (condrate98 lt 100) then safesex98 = 0;

Label safesex98 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 1998";

Format safesex98 yes10no.;

/*************************Reverse code so that it can be a "risky behavior"*********************************/
If safesex98 = . then unsafesex98 = .;

Else if safesex98 = 0  then unsafesex98 = 1;

Else if safesex98 = 1 then unsafesex98 = 0;

Label unsafesex98 = "R does not have safe sex, 1998";

Format unsafesex98 yes10no.;

/*Round 3*/
%conduse (oldsex3, newsex3, R3501800 R3501900 R3502000 R3502200 R3502100 R3502300 R3891300, numpart99, estnumpart99, 

numsex99, estnumsex99, numcond99, estnumcond99, marstat99, numparttot99, numsextot99, numcondtot99, condrate99);

If R3500800 = 0 then safesex99 = 1; /*Never had sex*/
Else if (marstat99 in (1,3,4,5,7,9)) and (numparttot99 in (-4, -3, 0, 1)) then safesex99 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate99 = 100 then safesex99 = 1; /*condom use rate = 100%*/
Else if (condrate99 ge 0) and (condrate99 lt 100) then safesex99 = 0;

Label safesex99 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 1999";

Format safesex99 yes10no.;

/*************************Reverse code so that it can be a "risky behavior"*********************************/
If safesex99 = . then unsafesex99 = .;

Else if safesex99 = 0  then unsafesex99 = 1;

Else if safesex99 = 1 then unsafesex99 = 0;

Label unsafesex99 = "R does not have safe sex, 1999";

Format unsafesex99 yes10no.;

/*Round 4*/
%conduse (oldsex4, newsex4, R4898400 R4898500 R4898800 R4899000 R4898900 R4899100 R5473300, numpart00, estnumpart00, 

numsex00, estnumsex00, numcond00, estnumcond00, marstat00, numparttot00, numsextot00, numcondtot00, condrate00);

If R4896400 = 0 then safesex00 = 1; /*Never had sex*/
Else if (marstat00 in (1,3,4,5,7,9)) and (numparttot00 in (-4, -3, 0, 1)) then safesex00 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate00 = 100 then safesex00 = 1; /*condom use rate = 100%*/
Else if (condrate00 ge 0) and (condrate00 lt 100) then safesex00 = 0;

Label safesex00 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 2000";

Format safesex00 yes10no.;

/*********Reverse code so that it can be a "risky behavior"***********/
If safesex00 = . then unsafesex00 = .;

Else if safesex00 = 0  then unsafesex00 = 1;

Else if safesex00 = 1 then unsafesex00 = 0;

Label unsafesex00 = "R does not have safe sex, 2000";

Format unsafesex00 yes10no.;

/*Round 5*/
%conduse (oldsex5, newsex5, R6524500 R6524600 R6524900 R6525100 R6525000 R6525200 R7237000, numpart01, estnumpart01, 

numsex01, estnumsex01, numcond01, estnumcond01, marstat01, numparttot01, numsextot01, numcondtot01, condrate01);

If R6522500 = 0 then safesex01 = 1; /*Never had sex*/
Else if (marstat01 in (1,3,4,5,7,9)) and (numparttot01 in (-4, -3, 0, 1)) then safesex01 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate01 = 100 then safesex01 = 1; /*condom use rate = 100%*/
Else if (condrate01 ge 0) and (condrate01 lt 100) then safesex01 = 0;

Label safesex01 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 2001";

Format safesex01 yes10no.;

/*************************Reverse code so that it can be a "risky behavior"*********************************/
If safesex01 = . then unsafesex01 = .;

Else if safesex01 = 0  then unsafesex01 = 1;

Else if safesex01 = 1 then unsafesex01 = 0;

Label unsafesex01 = "R does not have safe sex, 2001";

Format unsafesex01 yes10no.;

/*Round 6*/
/*Slightly different Macro because we have 2 different variables for married or cohabiting for 2002 & 2003*/
%Macro conduse6 (oldsex, newsex, oldvars, numpart, estnumpart, numsex, estnumsex, numcond, estnumcond, marstat1, 

marstat2, numparttot, numsextot, numcondtot, condrate);

array ar_&oldsex(8) &oldvars;

array ar_&newsex(8) &numpart &estnumpart &numsex &estnumsex &numcond &estnumcond &marstat1 &marstat2;


Do i = 1 to 8;



ar_&newsex(i) = ar_&oldsex(i);


End;


If &numpart lt 0 then &numparttot = &estnumpart;


Else &numparttot = &numpart;


If &numsex lt 0 then &numsextot = &estnumsex;


Else &numsextot = &numsex;


If &numcond lt 0 then &numcondtot = &estnumcond;


Else &numcondtot = &numcond;


If ((&marstat1 = 1) or (&marstat2 = 1)) and (&numparttot in (-4, -3, 0, 1)) then &condrate = .; /*If R married/cohab. & only 1 partner*/

Else if &numparttot = 0 then &condrate = 100; /*0 partners since DLI*/

Else do;



If &numcond lt 0 then do; /*If R said Don't know or refused to # using condom*/



If &numcondtot lt 0 then &condrate = .; /*If all condom info missing*/



Else if (&numsextot le 0) and (&numcondtot ge 0) then &condrate = &numcondtot; /*If no sex info/only condom info*/



Else if &numparttot gt 0 then do; /*Info on % (est) of condom use*/




If &numcondtot = 0 then &condrate = 0;





Else &condrate = &numcondtot;




End;



End;



Else if &numcond ge 0 then do; /*If R gave answer for # of condoms*/



If &numcondtot lt 0 then &condrate = .; /*If all condom info missing*/



/*Else if (&numsextot le 0) and (&numcondtot ge 0) then &condrate = &numcondtot; /*If no sex info/only condom info*/



Else if &numparttot gt 0 then do; /*Info on # of times of condom use is positive*/




If &numcondtot = 0 then &condrate = 0;





Else if (&numsextot = 1) and (&numcondtot = 1) then &condrate = 100;





Else if &numcondtot le &numsextot then do;






&condrate = ((&numcondtot/&numsextot)*100);





End;





/*Else &condrate = &numcondtot;*/



End;



End;


End;

%Mend;

%conduse6 (oldsex6, newsex6, S1204000 S1204100 S1204400 S1204600 S1204500 S1204700 S1200200 S1193400, numpart02, estnumpart02, 

numsex02, estnumsex02, numcond02, estnumcond02, marstat102, marstat202, numparttot02, numsextot02, numcondtot02, condrate02);

If S1201700 = 0 then safesex02 = 1; /*Never had sex*/
Else if ((marstat102 = 1) or (marstat202 = 1)) and (numparttot02 in (-4, -3, 0, 1)) then safesex02 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate02 = 100 then safesex02 = 1; /*condom use rate = 100%*/
Else if (condrate02 ge 0) and (condrate02 lt 100) then safesex02 = 0;

Label safesex02 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 2002";

Format safesex02 yes10no.;

/******Reverse code so that it can be a "risky behavior"*************/
If safesex02 = . then unsafesex02 = .;

Else if safesex02 = 0  then unsafesex02 = 1;

Else if safesex02 = 1 then unsafesex02 = 0;

Label unsafesex02 = "R does not have safe sex, 2002";

Format unsafesex02 yes10no.;

/*Round 7*/
%conduse6 (oldsex7, newsex7, S3286800 S3286900 S3287200 S3287400 S3287300 S3287500 S3283000 S3274800, numpart03, 

estnumpart03, numsex03, estnumsex03, numcond03, estnumcond03, marstat103, marstat203, numparttot03, numsextot03, 

numcondtot03, condrate03);

If S3284500 = 0 then safesex03 = 1; /*Never had sex*/
Else if ((marstat103 = 1) or (marstat203 = 1)) and (numparttot03 in (-4, -3, 0, 1)) then safesex03 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate03 = 100 then safesex03 = 1; /*condom use rate = 100%*/
Else if (condrate03 ge 0) and (condrate03 lt 100) then safesex03 = 0;

Label safesex03 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 2003";

Format safesex03 yes10no.;

/******Reverse code so that it can be a "risky behavior"**************/
If safesex03 = . then unsafesex03 = .;

Else if safesex03 = 0  then unsafesex03 = 1;

Else if safesex03 = 1 then unsafesex03 = 0;

Label unsafesex03 = "R does not have safe sex, 2003";

Format unsafesex03 yes10no.;

/*Round 8*/
%conduse6 (oldsex8, newsex8, S4909700 S4909800 S4910100 S4910300 S4910200 S4910400 S4905900 S4897700, numpart04, 

estnumpart04, numsex04, estnumsex04, numcond04, estnumcond04, marstat104, marstat204, numparttot04, numsextot04, 

numcondtot04, condrate04);

If S4907400 = 0 then safesex04 = 1; /*Never had sex*/
Else if ((marstat104 = 1) or (marstat204 = 1)) and (numparttot04 in (-4, -3, 0, 1)) then safesex04 = 1; /*married or cohabiting & 0 or 1 partner*/
Else if condrate04 = 100 then safesex04 = 1; /*condom use rate = 100%*/
Else if (condrate04 ge 0) and (condrate04 lt 100) then safesex04 = 0;

Label safesex04 = "R has safe sex (either uses a condom 100%, is abstinant, married or cohabiting), 2003";

Format safesex04 yes10no.;

/****Reverse code so that it can be a "risky behavior"**************/
If safesex04 = . then unsafesex04 = .;

Else if safesex04 = 0  then unsafesex04 = 1;

Else if safesex04 = 1 then unsafesex04 = 0;

Label unsafesex04 = "R does not have safe sex, 2004";

Format unsafesex04 yes10no.;

%macro cenmonth (cmdob,yob,mob,label);

&cmdob=.;

&cmdob=(((&yob-1900)*12)+&mob);

label &cmdob = "&label";

%mend cenmonth;

%cenmonth (Rdob, R0536402, R0536401, Century month DOB for R);

/* ROUND 1 */
sxrnd1=.;

if r0349700=1 then sxrnd1=1;
* R0349700=Ever had sex 1997 *;
else if r0349700=0 then sxrnd1=0;

else if r0349700 lt 0 then sxrnd1=r0349700;

label sxrnd1='Did R have sex by Rnd 1 NLSY97?';

agesxrnd1=.;

if sxrnd1=1 then agesxrnd1=r0349800;  * R0349800= Age at 1st sex 1997*;
label agesxrnd1='R^s age @ 1st sex rnd1 answr';

/* ROUND 2 */
sxrnd2=.;

if r2183000=1 or r2182900=1 then sxrnd2=1; *R2182900=R ever had sex 1998*;
else if r2183000=0 or r2182900=0 then sxrnd2=0; *R2183000=R have sex SDLI 1998*;
else if r2182900 lt 0 and r2183000 lt 0 then sxrnd2=max(R2182900, R2183000); 

label sxrnd2='Did R have sex by Rnd 2 NLSY97?';

agesxrnd2=.;

if sxrnd2=1 then agesxrnd2=r2183200;  * R2183200=Age at 1st sex 1998*;
label agesxrnd2='R^s age @ 1st sex rnd2 answr';

/* ROUND 3 */
/* NOTE THAT VARIABLE NAMES WERE CHANGED IN THE RND6 EVENT HISTORY CD & ARE REFLECTED HERE*/
sxrnd3=.;

if r3500800=1 or r3500900=1 then sxrnd3=1; *R3500800=R ever had sex 1999*;
else if r3500800=0 or r3500900=0 then sxrnd3=0; *R3500900=R had sex SDLI 1999*;
else if r3500800 lt 0 and r3500900 lt 0 then sxrnd3=max(r3500800, r3500900);

label sxrnd3='Did R have sex by Rnd 3 NLSY97?';

agesxrnd3=.;

if sxrnd3=1 then agesxrnd3=r3501100;  *R3501100=Age at 1st sex 1999*;
label agesxrnd3='R^s age @ 1st sex rnd3 answr';

/* ROUND 4 */
sxrnd4=.;

if R4896400=1 or R4896500=1 then sxrnd4=1; *R4896400=R ever had sex 2000*;
else if R4896400=0 or R4896500=0 then sxrnd4=0; *R4896500=R had sex SDLI 2000*;
else if R4896400 lt 0 and R4896500 lt 0 then sxrnd4=max(R4896400, R4896500);

label sxrnd4='Did R have sex by Rnd 4 NLSY97?';

agesxrnd4=.;

if sxrnd4=1 then agesxrnd4=r4896800;  *R4896800=Age at 1st sex 2000*;
label agesxrnd4='R^s age @ 1st sex rnd4 answr';

/* ROUND 5 */
/* NOTE THAT VARIABLE NAMES WERE CHANGED IN THE RND6 EVENT HISTORY CD & ARE REFLECTED HERE*/
sxrnd5=.;

if R6522500=1 or R6522600=1 then sxrnd5=1; *R6522500=R EVER HAVE SEX? 2001*;
else if R6522500=0 or R6522600=0 then sxrnd5=0; *R6522600=R HAVE SEX SDLI? 2001*;
else if R6522500 lt 0 and R6522600 lt 0 then sxrnd5=max(R6522500, R6522600);

label sxrnd5='Did R have sex by Rnd 5 NLSY97?';

agesxrnd5=.;

if sxrnd5=1 then agesxrnd5=R6522900;  *R6522900=Age at 1st sex 2001*;
label agesxrnd5='R^s age @ 1st sex Rnd5 answr';

/* ROUND 6 */
/* NEW TO OUR PROGRAMMING FROM THE RND6 EVENT HISTORY CD */
sxrnd6=.;

if S1201700=1 or S1201800=1 then sxrnd6=1; *S1201700=R EVER HAVE SEX? 2002*;
else if  S1201500=1 then sxrnd6=1; * S1201500=R reported sex in dating or marriage section;
else if S1201700=0 or S1201800=0 then sxrnd6=0; *S1201800=R HAVE SEX SDLI? 2002*;
else if S1201700 lt 0 and S1201800 lt 0 then sxrnd6=max(S1201700, S1201800);

label sxrnd6='Did R have sex by Rnd 6 NLSY97?';

/* creating CM of date of first sex with dating partner */
if S1198500 ge 1 and S1198501 ge 1 then do;


year_sxr6=S1198501-1900;


cmrnd6_sx=(year_sxr6*12)+S1198500;

end;

age_r6_cm=floor((cmrnd6_sx-rdob)/12); /*CM date of first sex with dataing partner minus date of birth*/
label age_r6_cm='Age at 1st sex R6 with dating partner';

agesxrnd6=.;

if sxrnd6=1 and S1202000 gt 0 then agesxrnd6=S1202000;  *S1202000=Age at 1st sex 2002*;
else if sxrnd6=1 and age_r6_cm gt 0 then agesxrnd6=age_r6_cm;

label agesxrnd6='R^s age @ 1st sex Rnd6 answr';

/* ROUND 7 */
/* NEW TO OUR PROGRAMMING FROM THE RND 7 download */
sxrnd7=.;

if s3284500=1 or s3284600=1 then sxrnd7=1; 

else if  s3284300=1 then sxrnd7=1; *R reported sex in dating or marriage section;
else if s3284500=0 or s3284600=0 then sxrnd7=0; 

else if s3284500 lt 0 and s3284600=. then sxrnd7=.;

label sxrnd7='Did R have sex by Rnd 7 NLSY97?';

/* creating CM of date of first sex with dating partner for round 7*/
if s1198500 ge 1 and s1198501 ge 1 then do;


year_sxr7=s1198501-1900;


cmrnd7_sx=(year_sxr7*12)+s1198500;

end;

age_r7_cm=floor((cmrnd7_sx-rdob)/12); /*CM date of first sex with dating partner minus date of birth*/
label age_r7_cm='Age at 1st sex R7 with dating partner';

agesxrnd7=.;

if sxrnd7=1 and s3284800 gt 0 then agesxrnd7=s3284800;  *Age at 1st sex 2003*;
else if sxrnd7=1 and age_r7_cm gt 0 then agesxrnd7=age_r7_cm;

label agesxrnd7='R^s age @ 1st sex Rnd7 answr';

/**********ADDING IN ROUND 8 INFORMATION TO UPDATE AGE @ 1ST SEX AND RND 1ST YES***/
/*Creating the round 8 variables need to update the event history information*/
/*Had sex in round 8*/
sxrnd8=.;

if S4907400=1 or S4907500=1 then sxrnd8=1; /*ever had sex, or sex since DLI*/
else if s4907200=1 or s4907300=1 then sxrnd8=1; /*reported sex in a previous section*/
else if S4907400=0 or S4907500=0 then sxrnd8=0; *no sex ever or since DLI*;
else if S4907400 lt 0 and S4907500 lt 0 then sxrnd8=max(S4907400, S4907500);

label sxrnd8='Did R have sex by Rnd 8 NLSY97?';

/* creating CM of date of first sex with dating partner, Rnd 8 */
if S4904100 ge 1 and S4904101 ge 1 then do;


year_sxr8=S4904101-1900;


cmrnd8_sx=(year_sxr8*12)+S4904100;

end;

if R0536401 ge 1 and R0536402 ge 1 then do;


year_r6=R0536402-1900;


cmbirth=(year_r6*12)+R0536401;

end;

age_r8_cm=.;

if cmrnd8_sx le 0 or cmbirth le 0 then age_r8_cm=.;

else age_r8_cm=floor((cmrnd8_sx-rdob)/12);

label age_r8_cm='Age at 1st sex R8 with dating partner';

/*age at sex 1st sex, reported in Rnd 8*/
agesxrnd8=.;

if sxrnd8=1 and S4907700 gt 0 then agesxrnd8=S4907700;  *S4907700=Age at 1st sex 2004*;
else if sxrnd8=1 and age_r8_cm gt 0 then agesxrnd8=age_r8_cm; /*age based on Month & Year*/
label agesxrnd8='R^s age @ 1st sex Rnd8 answr';

/*updating the age at first sex variable with Rnd 8 information*/
if agesxrnd8 ge 0 then age1stsex8=agesxrnd8;

if agesxrnd7 ge 0 then age1stsex8=agesxrnd7;

if agesxrnd6 ge 0 then age1stsex8=agesxrnd6;

if agesxrnd5 ge 0 then age1stsex8=agesxrnd5;

if agesxrnd4 ge 0 then age1stsex8=agesxrnd4;

if agesxrnd3 ge 0 then age1stsex8=agesxrnd3;

if agesxrnd2 ge 0 then age1stsex8=agesxrnd2;

if agesxrnd1 ge 0 then age1stsex8=agesxrnd1;

if age1stsex8=. then do;

  if agesxrnd1 lt 0 and agesxrnd1 gt -4 then age1stsex8=agesxrnd1;

  else if agesxrnd2 lt 0 and agesxrnd2 gt -4 then age1stsex8=agesxrnd2;

  else if agesxrnd3 lt 0 and agesxrnd3 gt -4 then age1stsex8=agesxrnd3;

  else if agesxrnd4 lt 0 and agesxrnd4 gt -4 then age1stsex8=agesxrnd4;

  else if agesxrnd5 lt 0 and agesxrnd5 gt -4 then age1stsex8=agesxrnd5;

  else if agesxrnd6 lt 0 and agesxrnd6 gt -4 then age1stsex8=agesxrnd6;

  else if agesxrnd7 lt 0 and agesxrnd7 gt -4 then age1stsex8=agesxrnd7;

  else if agesxrnd8 lt 0 and agesxrnd8 gt -4 then age1stsex8=agesxrnd8;

end;

label age1stsex8='Age at 1st sex (from R1-R8)';

If age1stsex8 GE 0 and age1stsex8 LT 18 then sexb4_18 = 1; /*had first sex before age 18*/
else if age1stsex8 ge 18 then sexb4_18 = 0;  /*had first sex at age 18 or older*/
If age1stsex8 = . then sexb4_18 = .;

label sexb4_18 = "R had sex before the age of 18 1=yes 0=no";

/******SEX variables by age @ interview******/
Array sexvars_rnd1(2) safesex97 unsafesex97;

Array sexvars_rnd2(2) safesex98 unsafesex98;

Array sexvars_rnd3(2) safesex99 unsafesex99;

Array sexvars_rnd4(2) safesex00 unsafesex00;

Array sexvars_rnd5(2) safesex01 unsafesex01;

Array sexvars_rnd6(2) safesex02 unsafesex02;

Array sexvars_rnd7(2) safesex03 unsafesex03;

Array sexvars_rnd8(2) safesex04 unsafesex04;

Array sexvars_12(2) safesex12 unsafesex12;

Array sexvars_13(2) safesex13 unsafesex13;

Array sexvars_14(2) safesex14 unsafesex14;

Array sexvars_15(2) safesex15 unsafesex15;

Array sexvars_16(2) safesex16 unsafesex16;

Array sexvars_17(2) safesex17 unsafesex17;

Array sexvars_18(2) safesex18 unsafesex18;

Array sexvars_19(2) safesex19 unsafesex19;

Array sexvars_20(2) safesex20 unsafesex20;

Array sexvars_21(2) safesex21 unsafesex21;

Array sexvars_22(2) safesex22 unsafesex22;

Array sexvars_23(2) safesex23 unsafesex23;

Array sexvars_24(2) safesex24 unsafesex24;

%macro ageyrs1 (agevar, age, sexagearray);


Do i = 1 to 8 until (agenew(i) = &age);



If agenew(i) = &age then &agevar = i;


End;


Do i = 1 to 2;



If &agevar = 1 then &sexagearray(i) = sexvars_rnd1(i);



If &agevar = 2 then &sexagearray(i) = sexvars_rnd2(i);



If &agevar = 3 then &sexagearray(i) = sexvars_rnd3(i);



If &agevar = 4 then &sexagearray(i) = sexvars_rnd4(i);



If &agevar = 5 then &sexagearray(i) = sexvars_rnd5(i);



If &agevar = 6 then &sexagearray(i) = sexvars_rnd6(i);



If &agevar = 7 then &sexagearray(i) = sexvars_rnd7(i);



If &agevar = 8 then &sexagearray(i) = sexvars_rnd8(i);


End;

%mend;/**/
%ageyrs1 (a16, 16, sexvars_16);

%ageyrs1 (a20, 20, sexvars_20);

Engagement in Sexual Intercourse before 18 years old:

· Indicates whether or not respondents have engaged in sexual intercourse before the age of 18.

· Frequencies:

· 2032 (61.28%) of respondents had engaged in sexual intercourse before the age of 18.

· 617 (18.61%) of respondents had not engaged in sexual intercourse before the age of 18.

· 667 missing cases

· SAS Code:  sexb4_18
Engagement in Safe Sex:

· Indicates whether or not respondents use condoms 100% of the time, are abstinent, married, or cohabitating.  This was measured at age 20.
· Frequencies:

· 843 (25.42%) of respondents did not use safe sex practices.

· 1485 (44.78%) of respondents did use safe sex practices.

· 988 missing cases

· SAS Code:  safesex20
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